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Higher Secondary “CBSE” On Demand Exam. December-2019 

gk;j lsd.Mjh ijh{kk ^lhch,lbZ* vkWu fMek.M ;kstuk] fnlEcj&2019 ¼f}rh; volj½gk;j lsd.Mjh ijh{kk ^lhch,lbZ* vkWu fMek.M ;kstuk] fnlEcj&2019 ¼f}rh; volj½gk;j lsd.Mjh ijh{kk ^lhch,lbZ* vkWu fMek.M ;kstuk] fnlEcj&2019 ¼f}rh; volj½gk;j lsd.Mjh ijh{kk ^lhch,lbZ* vkWu fMek.M ;kstuk] fnlEcj&2019 ¼f}rh; volj½ 

954 

fo"k; % fo"k; % fo"k; % fo"k; % fgUnh ¼dsfUnzd½fgUnh ¼dsfUnzd½fgUnh ¼dsfUnzd½fgUnh ¼dsfUnzd½        
Subject: HINDI (CORE) 

le; % 03 ?k.Vs                                                                                  iw.kk±d % 80 
Time: 03 Hours                                                                          Maximum Marks: 80 
  

• Ñi;k tk¡p dj ysa fd bl iz’u&i= esa eqfær ì"B 1111 ls 8888    gSaA    

• iz'u&i= esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk= mŸkj&iqfLrdk ds eq[; i`"B ij fy[ksaA    

• Ñi;k tk¡p dj ysa fd bl iz’u&i= esa 14141414 iz’u gSaA     

• Ñi;k iz’u dk mŸkj fy[kuk 'kq: djus ls igys] iz’u dk Øekad vo’; fy[ksaA    

• bl iz’u&i= dks i<+us ds fy, 15 feuV dk le; fn;k x;k gSA     

 

lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k &&&&    
  (i) bl iz’u&i= esa 14 iz’u gSaA iz’u&i= esa rhu [k.M gSa &d] [k] xA  

  (ii) lHkh iz’u vfuok;Z gSaA 

  (iii) fo|kFkhZ mÙkj ;FkklaHko Øe’k% vkSj vius 'kCnksa esa fy[ksaA 
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 [k.M& d[k.M& d[k.M& d[k.M& d  

1. fuEufyf[kr x|ka’k dks i<+dj iwNs x, iz’uksa ds mÙkj fyf[k, &     

 ^^rqe vius thou ds vkxs dkYifud iz’u fpUg D;ksa yxkrs gks\ tks mifLFkr ugha mlls Hk; 

D;k\ vxj rqEgkjh dYiuk esa 'kadkvksa ,oa lansgksa ds vkus dk ekxZ gS] rks bls can dj nks vkSj 

nwljh vksj dh f[kM+dh [kksy yks] ftlesa ls mRlkg] vk’kk o lQyrk dh c;kj vkrh gSA 

fHk[keaxksa ls Mjdj D;k rqeus jksVh idkuk NksM+ fn;k\ e`R;q ds Mjdj ;fn rqe thuk ugha 

NksM+rs rks dfBukbZ;ksa ds Mj ls dk;Z u djuk dkSu&lh cqf)eÙkk gS\ ml ukfod dks ns[kks 

tks leqnz esa uko [ksus pyk gS] mls ekywe gS fd leqnz dh ygjksa ds FkisM+ks ls mldh uko 

pdukpwj gks ldrh gS] vk¡/kh ls iky rkj&rkj gks ldrh gS] eLrwy fxjdj VwV ldrk gS] 

ij bu lcls ?kcjkdj D;k og leqnz esa tkuk NksM+ ns\ leqnz fdruk gh fo’kky D;ksa u gks 

ij mldh fo’kky lkglh Hkqtkvksa dk eqdkcyk djus dh 'kfDr mlesa ugha gS] blfy, rqe 

Hkh lalkj dh deZLFkyh esa mrj tkvks] vU;Fkk fpUrk vkSj fujk’kk ds lkxj esa Mwc tkvksxsA  

    

 iz'u iz'u iz'u iz'u &&&&        

  ¼d½ dkYifud iz’u&fpUg ls D;k rkRi;Z gS\ ¼2¼2¼2¼2½½½½    

 ¼[k½ ys[kd us ukfod ds n`"Vkar }kjk D;k izjs.kk nh gS\   ¼¼¼¼2222½½½½    

 ¼x½ ys[kd us euq"; dks foifÙk;ksa esa grksRlkfgr u gksus ds fy, dkSu&dkSu ls n`"VkUr fn, 

 gSa\   

    

¼2¼2¼2¼2½½½½    

 ¼?k½ bl x|ka’k ds fy, mi;qDr 'kh"kZd fyf[k,A ¼¼¼¼1111½½½½    

 ¼M+½ leqnz euq"; dh 'kfDr dk eqdkcyk djus esa D;ksa v{ke gS\  ¼¼¼¼1111½½½½ 

 ¼p½ mRlkg ,oa vk’kk dk thou esa D;k egRo gS\ ¼2¼2¼2¼2½½½½    

 ¼N½ lalkj ds deZLFkyh esa ugha mrjus dk D;k ifj.kke gksxk\ ¼2¼2¼2¼2½½½½    
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2. fuEufyf[kr dkO;ka’k dks i<+dj iwNs x, iz’uksa ds mÙkj fyf[k, &     

 es?k vk, cM+s cu&Bu ds l¡oj dsA 

vkxs&vkxs ukprh&xkrh c;kj pyh] 

njokts&f[kM+fd;k¡ [kqyus yxh xyh&xyhA 

ikgqu T;ksa vk, gksa xk¡o esa 'kgj dsA 

es?k vk, cM+s cu&Bu ds l¡oj dsAA 

    

 isM+ >qd >k¡dus yxs xjnu mpdk,] 

vk¡/kh pyh] /kwy Hkkxh ?kk?kjk mBk,] 

cw<+s ihiy us vkxs c<+dj tqgkj dhA 

cjl ckn lqf/k yhUgh & 

cksyh vdqykbZ yrk vksV gks fdokj dhAA 

    

 iz'uiz'uiz'uiz'u &     

 ¼d½ ^ikgqu^ fdls dgk x;k gS vkSj D;ksa\ ¼1½¼1½¼1½¼1½    

 ¼[k½ es?k fdl :i esa vkSj dgk¡ vk,\ ¼1½¼1½¼1½¼1½    

 ¼x½ es?kksa ds vkus ij xk¡o esa D;k&D;k ifjorZu fn[kkbZ nsus yxs\ ¼1¼1¼1¼1½½½½    

 ¼?k½ cw<+k ihiy fdlds :i esa gS\ mlus D;k fd;k\ ¼1¼1¼1¼1½½½½    

 vFkokvFkokvFkokvFkok        

 lk¡l pyrh gS rq>s] pyuk iM+sxk gh eqlkfQj 

py jgk gS rkjdksa dk ny] xxu esa xhr xkrk] 

py jgk vkdk’k Hkh gS] 'kwU; esa Hkzerk&HkzekrkA 

ik¡o ds uhps iM+h] vpyk ugha ;g papyk gS] 

,d d.k Hkh] ,d {k.k Hkh ,d Fky ij fVd u ikrkA 

'kfDr;k¡ xfr dh rq>s] lc vksj ls ?ksjs gq, gSa 

LFkku ls vius rq>s Vyuk iM+sxk gh eqlkfQjA 

lk¡l pyrh gS rq>s] pyuk iM+sxk gh eqlkfQjA 

Fks tgk¡ ij xrZ iSjksa dks tekuk gh iM+k Fkk] 

?kkl e[key&lh tgk¡ Fkh 

eu x;k Fkk yksV lglk] 

Fkh ?kuh Nk;k tgk¡ ij ru tqM+kuk gh iM+k Fkk 

    

  ix ijh{kk] ix izyksHku 
 tksj detksjh Hkjk rw 
 bl rjQ MVuk m/kj 
 <yuk iM+sxk gh eqlkfQjA 
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 iz'uiz'uiz'uiz'u &     

 ¼d½ dfo us eqlkfQj fdls dgk gS vkSj D;ksa\ ¼1½¼1½¼1½¼1½    

 ¼[k½ /kjrh dks vpyk ugha papyk D;ksa dgk x;k gS\ ¼1½¼1½¼1½¼1½    

 ¼x½ lk¡l pyus ls dfo dk D;k vk’k; gS\ ¼1¼1¼1¼1½½½½    

 ¼?k½ ?kkl e[key&lh tgk¡ Fkh 

 eu x;k Fkk yksV lglk& 

 iafDr dk Hkko Li"V dhft,A 

¼1¼1¼1¼1½½½½    

 [k.M& [k[k.M& [k[k.M& [k[k.M& [k     

3. fuEufyf[kr esa ls fdlh ,d fo"k; ij vuqPNsn fyf[k, & ¼5½¼5½¼5½¼5½    

 ¼d½ LoPN Hkkjr LoLFk Hkkjr     

 ¼[k½ yM+dk yM+dh ,d leku      

 ¼x½ Hkkjr esa ;ksx     

 ¼?k½ foKkiuksa dh gksM+     

4. fdlh lekpkj i= ds laiknd dks lM+d&nq?kZVukvksa dks jksdus ds fy, lq>ko nsrs gq, ,d 
i= fyf[k,A 

    
¼5½¼5½¼5½¼5½    

 vFkokvFkokvFkokvFkok        

 vki fdlh i;ZVd LFky ij Hkze.k ds fy, x, fdarq ogk¡ dh vLoPNrk ns[kdj f[kUu gq,A 

bl ij vius fopkj O;Dr djrs gq, mDr LFky ds i;ZVu vf/kdkjh dks ,d i= fyf[k, 

vkSj lq/kkj dk vuqjks/k dhft,A 

    

5. fuEufyf[kr esa ls fdUgha pkj iz’uksa ds laf{kIr mÙkj fyf[k, & ¼4¼4¼4¼4××××1111====4½4½4½4½    

 ¼d½ lapkj ek/;e ls vki D;k le>rs gSa\     

 ¼[k½ i=dkfjrk esa ^chV^ fdls dgk tkrk gS\     

 ¼x½ va'kdkfyd laoknnkrk fdls dgk tkrk gS\     

 ¼?k½ tulapkj dh nks fo’ks"krk,¡ fyf[k,A     

 ¼M+½ fizaV ek/;e ls vki D;k le>rs gSa\  

6. ^^c<+rh egaxkbZ dk jlksbZ ij izHkko^^ fo"k; ij vkys[k fyf[k,A ¼3½¼3½¼3½¼3½    

 vFkokvFkokvFkokvFkok        

 gky gh esa i<+h xbZ fdlh ,d iqLrd dh leh{kk fyf[k,A     
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7. ^^vfrfFk % nsork ;k leL;k^^ 

fo"k; ij ,d Qhpj rS;kj dhft,A 

    

¼3½¼3½¼3½¼3½    

 vFkokvFkokvFkokvFkok        

 ^^/kuksiktZu ds ewY;ghu rjhdŝ ^ 

fo"k; ij ,d Qhpj rS;kj dhft,A 

    

 [k.M& x[k.M& x[k.M& x[k.M& x     

8. izLrqr i|ka’k dks i<+dj iwNs x, iz’uksa ds mÙkj nhft, & ¼3¼3¼3¼3××××2222====6½6½6½6½ 

  dfork ,d f[kyuk gS Qwyksa ds cgkus 

 dfork dk f[kyuk Hkyk Qwy D;k tkus 

 ckgj Hkhrj 

 bl ?kj] ml ?kj 

 fcuk eqj>k, egdus ds ekus 

 Qwy D;k tkus\ 

 dfork ,d [ksy gS cPpksa ds cgkus 

 ckgj Hkhrj 

 ;g ?kj] og ?kj 

 lc ?kj ,d dj nsus ds ekus 

 cPpk gh tkusA 

 

 iz'uiz'uiz'uiz'u &  

 ¼d½ dfork Qwy dh rjg f[kydj Hkh mlls Js"Brj D;ksa gS\     

 ¼[k½ ^ckgj Hkhrj bl ?kj] ml ?kj^ & 'kCn&lewg ds iz;ksx&lkSan;Z dks Li"V dhft,A  

 ¼x½ dfork dk [ksy cPpksa ds [ksy dh Hkk¡fr D;ksa gS\      

 vFkokvFkokvFkokvFkok     
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  eSa txthou dk Hkkj fy, fQjrk gw¡] 

 fQj Hkh thou esa I;kj fy, fQjrk gw¡] 

 dj fn;k fdlh us >aÑr ftudks Nwdj] 

 eSa lk¡lksa ds nks rkj fy, fQjrk gw¡! 

 eSa Lusg&lqjk dk iku fd;k djrk gw¡] 

 eSa dHkh u tx dk /;ku fd;k djrk gw¡] 

 tx iwN jgk mudks] tks tx dh xkrs] 

 eSa vius eu dk xku fd;k djrk gw¡A 

    

 iz'uiz'uiz'uiz'u &     

 ¼d½ txthou dk Hkkj fy, fQjus ls dfo dk D;k vk’k; gS\ ,sls esa Hkh og D;k dj ysrk 

 gS\ 

 

 ¼[k½ ^Lusg&lqjk^ ls dfo dk D;k vk’k; gS\     

 ¼x½ vk'k; Li"V dhft, & 

 tx iwN jgk mudks] tks tx dh xkrsA 

    

9. fuEufyf[kr dkO;ka’k dks i<+dj iwNs x, iz’uksa ds mÙkj fyf[k, & ¼2¼2¼2¼2××××2222====4½4½4½4½ 

  izHkqizyki lqfu dku] fcdy Hk, ckuj fudjA 

 vkb x;m guqeku] ftfe d#uk eg¡ chj jlAA 

 

 iz'uiz'uiz'uiz'u &  

 ¼d½ dkO;ka’k ds Nan dk uke vkSj Hkk"kk dh ,d fo’ks"krk fyf[k,A     

 ¼[k½ okujksa dh O;kdqyrk dk dkj.k Li"V dhft,A  

 vFkokvFkokvFkokvFkok  

  dtjkjs cknyksa dh NkbZ uHk Nk;k] 

 rSjrh lk¡> dh lrst 'osr dk;kA 

 gkSys gkSys tkrh eq>s ck¡/k fut ek;k ls] 

 mls dksbZ rfud jksd jD[kksA 

    

 iz'uiz'uiz'uiz'u &     

 ¼d½ ekuohdj.k ds lkSan;Z dks Li"V dhft,A     

 ¼[k½ dkO;ka’k dh Hkk"kk dh nks fo’ks"krk,¡ fyf[k,A     
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10. fuEufyf[kr esa ls fdUgha nks iz’uksa ds mÙkj la{ksi esa nhft, & ¼3¼3¼3¼3××××2222====6½6½6½6½ 

 ¼d½ cPpu dh dfork ^fnu tYnh&tYnh <yrk gS^ ds vk/kkj ij Li"V dhft, fd 'kke 

 gksus ls igys xarO; ds fudV vk igq¡pus ij yksxksa dh ekufldrk dSlh gksrh gS\ 

 

 ¼[k½ ^dfork ds cgkuŝ  dfork ds vk/kkj ij ^lc ?kj ,d dj nsus ds ekuŝ  Li"V dhft,A     

 ¼x½ ^dSejs esa can vikfgt^ dfork esa ^ge leFkZ 'kfDrekuA ge ,d nqcZy dks yk,¡xŝ  & 

 iafDr ds ek/;e ls dfo us D;k dguk pkgk gS\ 

 

 ¼?k½ ^m"kk^ dfork esa Hkksj ds uHk dh rqyuk fdlls dh xbZ gS vkSj D;ksa\  

11. fuEufyf[kr x|ka’k dks i<+dj iwNs x, iz’uksa ds mÙkj fyf[k, & ¼3¼3¼3¼3××××2222====6½6½6½6½ 

  ^^fQj thth cksyha] ^^ns[k rw rks vHkh ls i<+&fy[k x;k gSA eSa us xk¡o ds enjls dk Hkh 

eq¡g ugha ns[kkA ij ,d ckr ns[kh gS fd vxj rhl&pkyhl eu xsgw¡ mxkuk gS rks fdlku 

ik¡p&Ng lsj vPNk xsgw¡ vius ikl ls ysdj tehu esa D;kfj;k¡ cukdj Qsad nsrk gSA mls 

cqokbZ dgrs gSaA ;g tks lw[ks ge vius ?kj dk ikuh Qsadrs gSa og Hkh cqokbZ gSA ;g ikuh 

xyh esa cks,axs rks lkjs 'kgj] dLck] xk¡o ij ikuh okyh Qly vk tk,xhA ge cht cukdj 

ikuh nsrs gSa] fQj dkys es?kk ls ikuh ek¡xrs gSaA lc _f"k&eqfu dg x, gSa fd igys [kqn nks 

rc nsork rqEgas pkSxquk] vkBxquk djds ykSVk,¡xsA Hkb;k] ;g rks gj vkneh dk vkpj.k gS] 

ftlls lcdk vkpj.k curk gSA ;Fkk jktk rFkk iztk] flQZ ;gh lp ugha gSA lp ;g Hkh 

gS fd ;Fkk iztk rFkk jktkA ;gh rks xk¡/khth egkjkt dgrs gSaA 

 

 iz'uiz'uiz'uiz'u &  

 ¼d½ cqokbZ ds fy, fdlku fdl izdkj ls Je djrs gSa\     

 ¼[k½ R;kx dh egÙkk dks fdlus crk;k Fkk\ lekt ds fy, ;g D;ksa t:jh gS\  

 ¼x½ ^;Fkk iztk rFkk jktk^ ls thth D;k dguk pkgrh Fkh\     

 vFkokvFkokvFkokvFkok     

 jkf= dh foHkhf"kdk dks flQZ igyoku dh <ksyd gh yydkj dj pqukSrh nsrh jgrh FkhA 

igyoku la/;k ls lqcg rd pkgs ftl [k;ky ls <ksyd ctkrk gks] fdUrq xk¡o ds v)Ze`r] 

vkS"kf/k&mipkj&iF; foghu izkf.k;ksa esa ;g lathouh 'kfDr gh Hkjrh FkhA cw<+s] cPps] tokuksa 

dh 'kfDrghu vk¡[kksa ds vkxs naxy dk n`’; ukpus yxrk FkkA Lianu 'kfDr 'kwU; Luk;qvksa esa 

Hkh fctyh nkSM+ tkrh FkhA 
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 iz'uiz'uiz'uiz'u &     

 ¼d½ jkf= esa igyoku dh <ksyd fdUgsa yydkj yxkrh Fkh\  

 ¼[k½ lathouh 'kfDr ls ys[kd dk D;k vk’k; gS\     

 ¼x½ <ksyd dk xk¡o ds yksxksa ij D;k izHkko iM+rk Fkk\     

12. fuEufyf[kr iz’uksa ds mÙkj fyf[k, &  

 ¼d½ dkyt;h vo/kwr fdls dgk x;k gS vkSj D;ksa ^f’kjh"k ds Qwy^ ikB ds vk/kkj ij 

 crkb,A 

    

¼3½¼3½¼3½¼3½ 

 ¼[k½ lkfQ;k vkSj mlds HkkbZ ds fopkjksa esa D;k varj Fkk\ ^ued^ ikB ds vk/kkj ij mÙkj 

 nhft,A 

    

¼3½¼3½¼3½¼3½    

 ¼x½ Hkkjrh; turk us pkyhZ ds fdl ^fQuksesuu^ dks Lohdkj fd;k\ mnkgj.k nsrs gq, 

 Li"V dhft,A 

    

¼3½¼3½¼3½¼3½ 

 ¼?k½ ^xxjh QwVh] cSy fi;klk^ ls ys[kd dk D;k vk’k; gS\ ¼1½¼1½¼1½¼1½    

13. fla/kq&lH;rk jktiksf"kr ;k /keZ&iksf"kr u gksdj lekt&iksf"kr FkhA ^vrhr esa ncs ik¡o^ ikB 

dh lgk;rk ls bl okD; ds leFkZu ;k foi{k esa vius fopkj izdV dhft,A 

    

¼4½¼4½¼4½¼4½    

 vFkokvFkokvFkokvFkok        

 ^tw>^ dgkuh esa vkidks fdl ik= us lcls vf/kd izHkkfor fd;k vkSj D;ksa\     

14. fuEufyf[kr esa ls fdUgha nks iz’uksa ds mÙkj nhft, & ¼4¼4¼4¼4××××2222====8½8½8½8½    

 ¼d½ ;’kks/kj ckcw us fd’ku nk ls fdu thou&ewY;ksa dks ik;k Fkk\ D;k vki Hkh mUgsa 

 viukuk pkgsaxs\ D;ksa\ 

    

 ¼[k½ ,u ÝSad us viuh Mk;jh futhZo xqfM;k fdV~Vh ds uke lacksf/kr fpV~Bh ds :i esa D;ksa 

 fy[kh\ 

 

 ¼x½ ^tw>^ ikB ds ys[kd ds firk vius csVs dh i<+kbZ ds fo#) D;ksa Fks\ f’k{kk ds izfr 

 viuk;k x;k mudk joS;k orZeku lanHkks± esa R;kxus ;ksX; D;ksa gS\ 

    

 ¼?k½ D;k fla/kq ?kkVh&lH;rk dks ty laLÑfr dgk tk ldrk gS\ dSls\     

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------    
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Higher Secondary “CBSE” On Demand Exam. December-2019 

gk;j lsd.Mjh ijh{kk ^lhch,lbZ* vkWu fMek.M ;kstuk] fnlEcj&2019 ¼f}rh; volj½gk;j lsd.Mjh ijh{kk ^lhch,lbZ* vkWu fMek.M ;kstuk] fnlEcj&2019 ¼f}rh; volj½gk;j lsd.Mjh ijh{kk ^lhch,lbZ* vkWu fMek.M ;kstuk] fnlEcj&2019 ¼f}rh; volj½gk;j lsd.Mjh ijh{kk ^lhch,lbZ* vkWu fMek.M ;kstuk] fnlEcj&2019 ¼f}rh; volj½ 

962 

fo"k; % fo"k; % fo"k; % fo"k; % vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=            
Subject: ECONOMICS 

le; % 03 ?k.Vs                                                                                 iw.kk±d % 80 
Time: 03 Hours                                                                          Maximum Marks: 80 
  

• Ñi;k tk¡p dj ysa fd bl iz’u&i= esa eqfær ì"B 1111 ls 8888    gSA    

• iz'u&i= esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk= mŸkj&iqfLrdk ds eq[; i`"B ij fy[ksaA    

• Ñi;k tk¡p dj ysa fd bl iz’u&i= esa 22224444 iz’u gSaA     

• Ñi;k iz’u dk mŸkj fy[kuk 'kq: djus ls igys] iz’u dk Øekad vo’; fy[ksaA    

• bl iz’u&i= dks i<+us ds fy, 15 feuV dk le; fn;k x;k gSA     

    

• Please check that this question paper contains 1 to 8 printed pages. 

• Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate. 

• Please check that this question paper contains 24 questions. 

• Please write down the Serial Number of the questions before attempting it. 

• 15 minutes time has been allotted to read this question paper.  
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lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k &&&&    
  (1) izR;sd [k.M ds lHkh iz’u djuk vfuok;Z gSA 

  (2) izR;sd ds lkeus fu/kkZfjr vad fn;s x;s gaSA 

  (3) iz’u Ø- 1&4 ,oa 13&16 vfr y?kq mÙkj okys iz’u gaS] ftuds mÙkj ,d okD; esa nhft,A 

 ftuds fu/kkZfjr vad 1 gaSA  

  (4) iz’u Ø- 5&6 ,oa 17&18 y?kq mÙkj okys iz’u gaS] ftuds fu/kkZfjr vad 3 gaSA ftuds mÙkj 

 lkekU;r% 70 'kCnksa ls vf/kd ugha gksus pkfg,A 

  (5) iz’u Ø- 7&9 ,oa 19&21 y?kq mÙkj okys iz’u gaS] ftuds fu/kkZfjr vad 4 gaSA ftuds mÙkj 

 lkekU;r% 80 'kCnksa ls vf/kd ugha gksus pkfg,A  

  (6) iz’u Ø- 10&12 ,oa 22&24 yacs mÙkj okys iz’u gaS] ftuds fu/kkZfjr vad 6 gSaA ftuds mÙkj 

 lkekU;r% 120 'kCnksa ls vf/kd ugha gksus pkfg,A  

  (7)  mÙkj laf{kIr ,Oka fcanqvksa esa gksuk pkfg, vkSj mijksä 'kCn lhekvksa dk ;FkklaHko 

   ikyu fd;k tkuk pkfg,A 

  (8) la[;kRed iz’u ij 'kCn lhek ykxw ugha gksxhA 

   

General Instructions - 

  (i) All questions in both the sections are compulsory.  

  (ii) Marks for questions are indicated against each question. 

  (iii) Question no. 1-4 and 13-16 are very short answer questions carrying 1 mark 

 and each part are required to be answered in one or two sentences each.   

  (iv) Question no. 5-6 and 17-18 are short answers questions carrying 3 marks and 

 are required to be answered in 70 words each approximately.     

  (v) Question no. 7-9 and 19-21 are also short answer questions carrying 4 marks 

 and are required to be answered in 80 words each approximately.  

  (vi) Question no. 10-12 and 22-24 are long answer questions carrying 6 marks 

 each and are required to be answered in 120 words each approximately.  

  (vii) Answers should be brief and to the point and the above word limits be adhered 

 to as far as possible. 

  (viii) Numerical questions have no word limit. 
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 [k.M[k.M[k.M[k.M    & & & & vvvv    
SECTION – A 

MICRO ECONOMICS 

 

1. lkekU; oLrq,¡ D;k gS\     ¼1½¼1½¼1½¼1½    

 What is normal Goods?     

2. tc lhekUr mi;ksfxrk 'kwU; gksrh gS] rc dqy mi;ksfxrk gksrh gSA 
(v) 'kwU;    (c) U;wure 
(l) vf/kdre   (n) _.kkRed    

¼1½¼1½¼1½¼1½    

 When marginal Utility is zero, T.U. IS- 

(a) Zero    (b) Minimum 

(c) Maximum   (d) Negative 

    

3. tc MUx = 4, MUy =10, Py = 5, gksrk gS rks miHkksDrk ds larqyu ds fy,-------------dk ewY; 
gksxkA 
(v) 1    (c) 2 

(l) 2.5    (n) 4     

    
¼1½¼1½¼1½¼1½    

 When MUx = 4, MUy = 10 & Py = 5, the consumer strikes his equilibrium When 

Px is ……….. 
    

 (a) 1    (b) 2 

(c) 2.5    (d) 4 

    

4. viw.kZ vYikf/kdkj ls D;k vfHkizk; gS\ ¼1½¼1½¼1½¼1½    
 What is Imperfect Oligopoly?     
5. Lke>kb, rduhdh izxfr fdl izdkj ,d QeZ }kjk fdlh oLrq dh iwfrZ dk fu/kkZjd gSA ¼3½¼3½¼3½¼3½    
 Explain how technological progress is a determinate of supply of a good by a 

firm. 
    

 vFkokvFkokvFkokvFkok@@@@OR     

 Rkfydk ,oa js[kkfp= }kjk iwfrZ dk fu;e crkb,A         
 State the law of Supply with table and diagram.     
6. ,d iw.kZ izfr;ksfxrk cktkj esa Øsrkvksa dh vf/kd la[;k ds izHkko dh O;k[;k dhft,A  ¼3½s¼3½s¼3½s¼3½s    

 Explain the implication of large no. of buyers in a perfectly competitive market.     
7. vFkZO;oLFkk dh dsUnzh; leL;k ^D;k mRiknu fd;k tk;ŝ  dks le>kb,A    ¼4½¼4½¼4½¼4½    

 Explain the central problem ‘what to produce’.     

 vFkokvFkokvFkokvFkok@@@@OR     

 vFkZO;oLFkk dh dsUnzh; leL;k ^fdlds fy, mRiknu fd;k tk;ŝ  dks le>kb,A 
Explain the central problem ‘for whom to produce’.     
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8. ,d miHkksDrk 9` izfr bdkbZ ij ,d oLrq dh 18 bdkbZ;k¡ [kjhnrk gSA oLrq dh dher 
ekax yksp (-) 1 gSA miHkksDrk 10/- izfr bdkbZ ij oLrq dh fdruh bdkbZ [kjhnsxk] ifjdyu 
dhft,A     

    
    

¼4½¼4½¼4½¼4½    

 A consumer buys 18 units of a good at a price of `9 per unit. The price 
elasticity of Demand for the good is (-) 1. How many units the consumer will 
buy at a price of `10 per unit? Calculate. 

    

9. dqy ykxr] dqy ifjorhZ ykxr ,oa dqy fLFkj ykxr dks ifjHkkf"kr dhft, vkSj ,d gh 
js[kkfp= esa rhuksa n’kkZb,A     

    

¼4½¼4½¼4½¼4½    

 Define Total cost, Total Variable cost and Total fixed cost and show the same 

in a single diagram. 
    

10. le>kb, D;ksa ,d vf/keku oØ ¼v½ uhps dh vksj <yok¡ ¼c½ mÙky gksrk gSA  ¼6½¼6½¼6½¼6½    

 Explain why is an indifference curve (a) downward sloping and (b) convex.      

 vFkokvFkokvFkokvFkok@@@@OR     

 ,d miHkksDrk dsoy nks oLrqvksa X vkSj Y dk mi;ksx djrk gS vkSj larqyu esa gSA fn[kkb, 
fd tc oLrq X dh dher c<+rh gS rks miHkksDrk X dh de ek=k [kjhnrk gSA mi;ksfxrk 
fo’ys"k.k dk mi;ksx dhft,A 

    

 A consumer consumes only two goods X and Y and is in equilibrium. Show 

that when the price of good X rises, the consumer buys less of good X, use 

utility analysis.    

    

11. ,d QeZ ds ckjs esa fuEufyf[kr lwpuk ls] lhekUr ykxr vkSj lhekUr vkxe ds vk/kkj ij 
QeZ dk larqyu mRiknu Kkr dhft,A dkj.k crkb,A bl mRiknu ij ykHk Hkh Kkr 
dhft,A      

    
    
¼6½¼6½¼6½¼6½    

 bdkbZ mRiknu dqy lEizknh ¼vkxe½ dqy ykxr 
1 7 8 
2 14 15 
3 21 21 
4 28 28 
5 35 36 

 

    

 From the following information about a firm, find the firm equilibrium output in 
terms of Marginal cost and marginal revenue. Give reason. Also find profit at 
this output. 

    

 Output Unit Total Revenue Total cost 
1 7 8 
2 14 15 
3 21 21 
4 28 28 
5 35 36 
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12. ,d oLrq dk cktkj larqyu esa gSA oLrq dh ekax esa ^^o`f)^^ gks tkrh gSA cktkj ds }kjk 

larqyu esa vkus rd bl ifjorZu ds dkj.k gksus okys izHkkokas dh Ja[kyk le>kb,A js[kkfp= 

dk iz;ksx dhft,A    

    
    

    

¼6½¼6½¼6½¼6½    

 Market of a commodity is in equilibrium. Demand for the commodity 

“increases”. Explain the chain of effects of this change till the market-again 

reaches equilibrium. Use diagram. 

    

 [k.M[k.M[k.M[k.M    & & & & cccc    

SECTION – B 

MACRO ECONOMICS 

    

13. lkof/k tekvksa ls D;k vfHkizk; gS\     ¼1½¼1½¼1½¼1½    

 What are time deposits?     

14. O;kolkf;d cSadksa }kjk viuh dqy tekvksa dk ,d vuqikr Hkkjrh; fjtoZ cSad ds ikl j[kk 

tkrk gS] mls dgrs gaS& 

¼v½ oS/kkfud rjyrk vuqikr   ¼c½ tek vuqikr 

¼l½ uxn tek vuqikr    ¼n½ lk[k vuqikr 

    

¼1½¼1½¼1½¼1½    

 The ratio of total deposits that a commercial bank has to keep with reserve 

bank of India is called- 

(a) Statutory liquidity ratio  (b) Reserve ratio 

(c) Cash reserve ratio   (d) Credit ratio 

    

15. ns'kh; eqnzk ds ewY;âkl ls vki D;k le>rs gaS\     ¼1½¼1½¼1½¼1½    

 What is depreciation of domestic currency?     

16. oLrqvksa ds fu;kZr dh oLrqvksa ds vk;kr ij vf/kdrk dks D;k dgrs gSa\    ¼1½¼1½¼1½¼1½    

 What is excess of exports of goods over the import of goods.     

17. fuEufyf[kr dFku dks /;kuiwoZd if<+, rFkk dkj.k lfgr crkb, fd ;g lgh gS ;k xyr& 

,d vFkZO;oLFkk esa fuos’k O;; 600 djksM+ rFkk miHkksx Qyu C =90+.7(Y) gS 2000 djksM+ 

ds vk; Lrj ij vFkZO;oLFkk larqyu esa gSA  

    

    

¼3½¼3½¼3½¼3½    

 Read the following statement carefully and write true or false with a reason. 

In an economy the investment expenditure is 600 and consumption function 

is C=90+.7(Y). The economy is in equilibrium at an income level of 2000. 
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18. LQhfr vURkjky ls vki D;k le>rs gS\ vFkZO;oLFkk essa LQhfr vUrjky dks nwj djus esa 

ljdkj cSad nj dk bLrseky dSls djrh gS\ le>kb,A    

    

¼3½¼3½¼3½¼3½    

 What is inflationary gap? How is bank rate used as policy instrument when 

there is inflationary gap in the economy? 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 U;wu ekax D;k gS\ bldks fu;af=r djus ds fy, ljdkj }kjk [kqys cktkj dh fØ;kvksa dk 

bLrseky dSls gksrk gS\ le>kb,A 

    

 What is deficient demand? How open market operations is used as policy 

instrument in correcting it in an economy? 

    

19. dsUnzh; cSad dk ^ljdkj dk cSadj^ dk;Z le>kb,A     ¼4½¼4½¼4½¼4½    

 Explain “Banker to the government” function of Central Bank.     

 vFkokvFkokvFkokvFkok@@@@OR        

 dsUnzh; cSad dk ^cSadks dk cSad^ dk dk;Z le>kb,A       

 Explain ‘banker’s bank’ function of the Central Bank.     

20. Hkqxrku larqyu ysu nsuksa esa ^Lok;Ùk ¼Lora=½ vkSj lek;kstu gsrq ysunsuksa esa vUrj       

crkb,A  

    

¼4½¼4½¼4½¼4½    

 Distinguish between ‘Autonomous’ and ‘Accommodating’ balance of payment 

transaction. 

    

21. Ckká izHkko dh ifjHkk"kk nhft,A _.kkRed ckgjh izHkko dk ,d mnkgj.k nhft,A bldk 

dY;k.k ij D;k izHkko iM+rk gS\    

    

¼4½¼4½¼4½¼4½ 

 Define externalities. Give an example of negative externality. What is its 

impact on welfare? 

    

22. nks oSdfYid n`f"Vdks.kksa ls jk"Vªh; vk; dk fu/kkZj.k le>kb,A js[kkfp= dk mi;ksx 

dhft,A   

    

¼6½¼6½¼6½¼6½ 

 Explain national income determination through the two alternative 

approaches. Use diagram. 
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 vFkokvFkokvFkokvFkok@@@@OR        

 fn;s x;s miHkksx oØ ls cpr oØ izkgk djus ds fy,] fy, tkus okys pj.k crkb,A js[kkfp= 

dk mi;ksx dhft,A    

    

 Outline the steps required to be taken in deriving the consumption curve from 

the given saving curve. Use diagram. 

    

23. le>kb, fdl izdkj ljdkj ljdkjh ctV ds ek/;e ls lk/kuks ds vkoaVu dks izHkkfor dj 

ldrh gS jktLo O;; o iwathxr O;; esa vUrj Li"V djsaA      

    

¼6½¼6½¼6½¼6½ 

 Explain how government can influence allocation of resources through govt. 

budget. Give difference between revenue expenditure and Capital 

expenditure. 

    

24. fuEu vkadM+ksa ls cktkj ewY; ij jk"Vªh; mRikn dh x.kuk djs  

¼v½ vk; fof/k 

¼c½ O;; fof/k   

¼6½¼6½¼6½¼6½    

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Ø- ensa `djksM+ 

1 Lofu;ksftr dh fefJr vk; 400 

2 deZpkfj;ksa dk eqvkkotk 500 

3 futk vfUre miHkksx O;; 900 

4 fons'kksa ls 'kq) dkjd vk; -20 

5 'kq) vizR;{k dj 100 

6 fLFkj iwath dk miHkksx 100 

7 'kq) ?kjsyw iwath fuekZ.k 280 

8 'kq) fu;kZr -30 

9 ykHk 350 

10 fdjk;k 100 

11 C;kt 150 

12 ljdkjh vfUre miHkksx O;; 450 
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 Calculate National Product at market price by 

(a)  Income method 

(b)  Expenditure method 

    

  
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

S. No. Particulars `Crs. 

1 Mixed income of Sell employed 400 

2 Compensation of employee 500 

3 Private final consumption expenditures 900 

4 Net-factor income from abroad -20 

5 Net indirect tax 100 

6 Consumption of fixed capital 100 

7 Net domestic Capital for motion 280 

8 Net export -30 

9 Profit 350 

10 Rent 100 

11 Interest 150 

12 Govt final Consumption expenditure 450 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 O;; fof/k ls jk"Vªh; vk; dh x.kuk esa iz;qDr gksus okys fofHkUu dneksa dks le>kb,A rFkk 

bl nkSjku cjrh tkus okyh nks lko/kkfu;ksa dks Hkh crkb,A 

    

 What are the steps to Calculate National income by expenditure method? 

Also write two precautions of it. 

    

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------    
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• iz'u&i= esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk= mŸkj&iqfLrdk ds eq[; i`"B ij fy[ksaA    
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lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k &&&&    
  (i) lHkhlHkhlHkhlHkh iz’u vfuok;Z gSaA  

  (ii) bl iz’u i= esa 29292929 iz’u gSa] tks pkj [k.Mksa esa foHkkftr gSa % v] c] l] rFkk nA [k.M v esa 

 4444    iz’u gSa] ftuesa ls izR;sd ,d vad,d vad,d vad,d vad dk gSA [k.M c esa 8888 iz’u gSa ftuesa ls izR;sd nksnksnksnks    vadvadvadvad 

 dk gSA [k.M l esa 11111111 iz’u gSa ftuesa ls izR;sd pkj vad pkj vad pkj vad pkj vad dk gSA [k.M n esa 6666 iz’u gSa ftuesa 

 ls izR;sd N% vadN% vadN% vadN% vad dk gSA  

  (iii) [k.M v esa lHkh iz’uksa ds mÙkj ,d 'kCn] ,d okD; vFkok iz’u dh vko’;drkuqlkj fn, 

 tk ldrs gSaA  

  (iv) iw.kZ iz’u i= esa fodYi ugha gaSA fQj Hkh [k.M v ds 1 iz’u e]sa [k.M c ds 3 iz’uksa esa] [k.M 

 l ds 3 iz’uksa esa rFkk [k.M n ds 3 iz’uksa esa vkUrfjd fodYi gSaA ,sls lHkh iz’uksa esa ls 

 vkidks ,d gh fodYi gy djuk gSA  

  (v) dSydqysVj ds iz;ksx dh vuqefr ugha gSugha gSugha gSugha gSA ;fn vko’;d gks] rks vki y?kqx.kdh; lkjf.k;k¡ 

 ek¡x ldrs gaSA 

   

General Instructions - 

  (i) All questions are compulsory.  

  (ii) The questions paper consists of 29 questions divided into four sections A,B,C 

 and D. Section A comprises of 4 questions of one mark each. Section B 

 comprises of 8 questions of 2 marks each. Section C comprises of 11 

 questions  of four marks each and Section D comprises of 6 questions of six 

 marks each.   

  (iii) All questions in Section A are to be answered in one word, one sentences or 

 as per the exact requirement of the question.   

  (iv) There is no overall choice. However, internal choice has been provided in 1 

 question of Section A, 3 questions of Section B, 3 questions of Section C and 

 3 questions of Section D. You have to attempt only one of the alternatives in 

 all such questions. 

  (v) Use of calculators is not permitted. You may ask for logarithmic tables, if 

 required. 
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 [k.M[k.M[k.M[k.M    & v& v& v& v    

SECTION - A 

 

 iz’u la[;k 1 ls 4 rd izR;sd iz’u 1 vad dk gSA  

Question numbers 1 to 4 carry 1 mark each.  

    

 

1. 
;fn A ,d 3 dksfV dk oxZ vkO;wg bl izdkj gS fd |Adj A| = 225, rks |A| dk eku Kkr 

dhft,A 

If A is a square matrix of order 3 such that |Adj A| = 225, Find |A|. 

¼1½¼1½¼1½¼1½    

2. ;fn y = x |x| gS] rks x < 0 ds fy, 
dy

dx
 Kkr dhft,A 

If y = x |x|, then find 
dy

dx
 for x < 0. 

¼1½¼1½¼1½¼1½    

3. 
fuEu vody lehdj.k dh dksfV o ?kkr Kkr dhft, &  �d

2
y

dx
2�2

- �dy

dx
�3

= y3 

Find the order and degree of the differential equation- 	�d
2
y

dx
2�2

- �dy

dx
�3

= y3 

¼1½¼1½¼1½¼1½    

4. ml js[kk ds fnd~ dksT;k,a Kkr dhft, tks funsZ’kkad v{kksa ls leku dks.k cukrh gSA 

Find the direction cosines of a line which makes equal angles with the 

coordinate axes. 

¼1½¼1½¼1½¼1½    

 vFkokvFkokvFkokvFkok@@@@ OR     

 ,d js[kk fdlh ,d fcUnq ftldh fLFkfr lfn’k 2i�	-	j�	+	4k� gS] ls xqtjrh gS vkSj lfn’k   

i�	+	j�	-	2k� dh fn’kk esa gaSA bl js[kk dk dkrhZ; lehdj.k Kkr dhft,A 

A line passes through the point with position vector 2i�	-	j�	+	4k� and is in the 

direction of the vector i�	+	j�	-	2k�. Find the equation of the line in Cartesian form. 
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 [k.M & c[k.M & c[k.M & c[k.M & c    

SECTION - B 

    

 iz’u la[;k 5 ls 12 rd izR;sd iz’u ds 2 vad gSaA  

Question numbers 5 to 12 carry 2 marks each.  

    

 

 

5. 
fl) dhft, fd okLrfod la[;kvksa ds leqPp; R esa R = {(a,b) : a ≤ b2}, }kjk ifjHkkf"kr 

laca/k R u rks LorqY; gS] u lefer gSA 

Show that the relation R in the set R of real numbers, defined as            

R =  {(a,b) : a ≤ b2} is neither reflexive nor symmetric. 

¼2½¼2½¼2½¼2½    

 

6. fuEufyf[kr lehdj.k ls x – y + z dk eku Kkr dhft, &  		x	+	y	+	zx	+	z
y	+	z 
  = 	95

7


 
Find the value of x – y + z from the following equation-   	x	+	y	+	zx	+	z

y	+	z 
  = 	95
7


 

¼2½¼2½¼2½¼2½    

 

7. Kkr dhft, &								� 3x2

x6+1  dx   

Find –  																		� 3x
2

x6+1  dx   

¼2½¼2½¼2½¼2½ 

 vFkokvFkokvFkokvFkok@@@@ OR     

 Kkr dhft, &												� x.sin	x dx 

Find –  																							� x.sin	x dx 

    

8. 
Kkr dhft, &      � dx

x	logx

e2

e
   

Find –																									� dx

x	logx

e2

e
    

¼2½¼2½¼2½¼2½    
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9. oØksa ds dqy y = a sin(x + b) tgk¡ a vkSj b LosPN vpj gSa] dks fu#fir djus okys vody 

lehdj.k dks Kkr dhft,A 

Form the differential equation representing the family of curves y = a sin(x +b), 

where a and b are arbitrary constants. 

¼2½¼2½¼2½¼2½    

10. ;fn lfn’k a	����=i�	+	3j �+	k,�		b�� =	2i	�-	j�	-	k�  vkSj c	���=	λj	+	3k� leryh; gSa] rks λ dk eku Kkr 

dhft,A 

Find λ if the vectors a	����=i�	+	3j�	+	k�,	 b��	=	2i�	-	j�	-	k� and c	���=	λj	+	3k� are coplanar. 

¼2½¼2½¼2½¼2½    

 vFkokvFkokvFkokvFkok@@@@ OR     

 ml lekarj prqHkqZt dk {ks=Qy Kkr dhft, ftldh layXu Hkqtk,¡ a	����=3i�	+	j�	+	4k� vkSj 
b�� = i�	-	j�	+	k�			}kjk nh xbZ gSA 
Find the area of a parallelogram whose adjacent sides are given by the 

vectors a	����=3i�	+	j�	+	4k�		and b�� = i�	-	j�	+	k�	. 

    

11. ;fn A vkSj B bl izdkj dh Lora= ?kVuk,¡ gSa fd P(A)=0.4, P(B)=k, P(A∪B) =0.6, 

rks k dk eku Kkr dhft,A 

If P(A) =0.4, P(B)=k, P(A∪B) =0.6 and A and B are given to be independent 

events, find the value of ‘k’. 

¼2½¼2½¼2½¼2½    

 vFkokvFkokvFkokvFkok@@@@ OR     
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 nks xsan ,d ckWDl ls çfrLFkkiu ds lkFk ;k–fPNd :i ls fudkyh tkrh gaSA ckWDl esa 10 

dkyh vkSj 8 yky xsans gS] rks izkf;drk Kkr dhft,&  

(i) nksuksa xsans yky gksaA 

(ii) izFke dkyh ,oa nwljh yky gksA 

Two balls are drawn at random with replacement from a box containing 10 

black and 8 red balls, then find the probability that – 

(i) both balls are red 

(ii) First ball is black and second is red 

    

 

12. nks flDdksa dks ,d ckj ,d lkFk mNkyus ij fpÙkksa dh la[;k] x dk izkf;drk caVu Kkr 

dhft,A 

Find the probability distribution of x, the number of heads in a simultaneous 

toss of two coins. 

¼2½¼2½¼2½¼2½    

 [k.M & l[k.M & l[k.M & l[k.M & l    

SECTION - C 

    

 iz’u la[;k 13 ls 23 rd izR;sd iz’u ds 4 vad gSaA  

Question numbers 13 to 23 carry 4 marks each. 

    

 

13. n'kkZb;s fd 	f	:R- �- 4

3
�→R- �4

3
� ,f(x) =

4x+3

3x+4
  }kjk ifjHkkf"kr Qyu ,dSdh ,oa vkPNknd gSA 

Consider 	f	:	R- �- 4

3
�→R- �4

3
� given by f(x) =

4x+3

3x+4
 .Show that f is one-one and  

onto. 

¼4½¼4½¼4½¼4½    

 vFkokvFkokvFkokvFkok@@@@ OR        
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 ekuk lafØ; ∗ tks A = N×N ij (a,b) ∗ (c,d) = (a+c, b+d) }kjk ifjHkkf"kr gS fn[kkb;s 

fd ;g lafØ;k ∗  & 

(i) Øe fofues; gSA 

(ii) lkgp;Z gSA 

Let A = N×N and ∗ be a binary operation on A defined by (a,b) ∗ (c,d) =         

(a+c, b+d) . Show that ∗ is- 

(i) Commutative 

(ii) Associative 

 

14. fl) dhft, fd &  2tan
-1 �1

2
� 	+	tan

-1 �1

7
�=	tan

-1 �31

17
�   

Prove that –				2tan
-1 �1

2
�+	tan

-1 �1

7
� 	=	tan

-1 �31

17
�   

¼4½¼4½¼4½¼4½    

 

15. lkjf.kdksa ds xq.k/keks± dk iz;ksx djds] fl) dhft, fd & 

� x x+y x+2y

x+2y x x+y

x+y x+2y x

 �=	9y
2�x+y� 

Using properties of determinates, prove that – 

                � x x+y x+2y

x+2y x x+y

x+y x+2y x

 �=	9y
2�x+y�  

¼4½¼4½¼4½¼4½    

 

16. ;fn y = Peax + Qebx, rks n’kkZb;s fd &  
d

2
y

dx
2 -	�a+b� dy

dx
+	aby	=	0   

If y = Peax + Qebx, show that –    
d

2
y

dx
2 -	�a+b� dy

dx
+	aby	=	0   

¼4½¼4½¼4½¼4½    

 

17. ;fn x	=	a sin t and y	=	a(cos	t	+ log tan
t

2
) gS] rks 

d
2
y

dx
2			Kkr dhft,A 

If x	=	a sin t and y	=	a(cos	t	+	 log tan
t

2
) , then find 

d
2
y

dx
2	.		 

¼4½¼4½¼4½¼4½    
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 vFkokvFkokvFkokvFkok@@@@ OR        

 ;fn y	=	�cos	x�x+�sin	x�1x 			gS] rks dy

dx
  Kkr dhft,A 

Find  
dy

dx
 , If y	=	�cos	x�x+�sin	x�1x 			 

    

18. os vUrjky Kkr dhft, ftuesa f(x)	=	 3

2
x4-	4x

3
-	45x

2
+	51 }kjk iznÙk Qyu & 

(i) lrr o/kZeku gSA  

(ii) lrr âkleku gSA 

Find the intervals in which the function f(x)	=	 3

2
x4-	4x

3
-	45x

2
+	51 is - 

(i) Strictly increasing 

(ii) Strictly decreasing 

¼4½¼4½¼4½¼4½    

 

19. Kkr dhft, &			� �3	sin	x	-	2� cos	x
13	-	cos2x	-	7 sin	x 	dx 

Find –										� �3	sin	x	-	2� cos	x
13	-	cos2x	-	7 sin	x 	dx 

¼4½¼4½¼4½¼4½    

20. 
eku Kkr dhft, &  			� log�1	+	tan	x�	dx

π

4

0
   

Evaluate -   						� log�1	+	tan	x�	dx
π

4
0

   

¼4½¼4½¼4½¼4½    

21. 
vody lehdj.k 

dy

dx
	=	 x2	+	y2

2xy
	dk gy Kkr dhft,A 

Solve the differential equation - 

	dy	
dx

	= x2+y2

2xy
  

¼4½¼4½¼4½¼4½    

 vFkokvFkokvFkokvFkok@@@@ OR        
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 vody lehdj.k y	dx - �x	+	2y
2 	dy	=	0, dks gy dhft,A 

Solve the differential equation y	dx - �x	+	2y
2 	dy	=	0 

    

22. lfn’kksa b	����=2i�	+	4j�	-	5k�  vkSj c ����=λi�	+	2j�	+	3k�	ds fy,] lfn’k b��	+	c��  ds vuqfn’k ek=d 

lfn’k o lfn’k a	����=	i�	+	j�	+	k� dk vfn’k xq.kuQy 1 gSA λ dk eku Kkr dhft, vkSj b	����+	c��� 
ds vuqfn’k ek=d lfn’k Hkh Kkr dhft,A 

The scalar product of the vector a	����=	i�	+	j�	+	k� with a unit vector along the sum 

of the vectors b	����=2i�	+	4j�	-	5k� and c ����=λi�	+	2j�	+	3k�  is equal to 1. Find the value 

of λ and hence find the unit vector along b	����+	c�� . 

¼4½¼4½¼4½¼4½    

 

23. fcUnq (-1,-5,-10) vkSj js[kk 
x	-	2

3
=

y	+	1
4

=
z	-	2
12

  rFkk lery x – y + z = 5 ds izfrPNsn fcUnq 

ds chp dh nwjh Kkr dhft,A 

Find the distance between the point (-1,-5,-10) and the point of intersection of 

the line 
x	-	2

3
=

y	+	1
4

=
z	-	2
12

  and the plane x – y + z = 5. 

¼4½¼4½¼4½¼4½    
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 [k.M & n[k.M & n[k.M & n[k.M & n    

SECTION - D 

 

 iz’u la[;k 24 ls 29 rd izR;sd iz’u ds 6 vad gSaA 

Question numbers 24 to 29 carry 6 marks each.  

 

24. fuEufyf[kr lehdj.k fudk; dks vkO;wg fof/k ls gy dhft,& 

4x	+	3y	+	3z	=	60

x	+	2y	+	3z	=	45

6x	+	2y	+	3z	=	70

  

Using matrices solve the following system of equations – 

4x	+	3y	+	3z	=	60

x	+	2y	+	3z	=	45

6x	+	2y	+	3z	=	70

  

¼6½¼6½¼6½¼6½    

 vFkokvFkokvFkokvFkok@@@@ OR        

 
izkjfEHkd lafØ;kvksa dk iz;ksx djds vkO;wg A= 	1 2 -2

-1 3 0
0 -2 1


 dk O;qRØe Kkr dhft,A 

Find the inverse of the matrix A= 	 1 2 -2
-1 3 0
0 -2 1


 using elementary operation. 

    

25. lekdyu fof/k ls o`Ùk x2 = 4y vkSj js[kk x = 4y - 2 ds chp f?kjs {ks= dk {ks=Qy Kkr 

dhft,A 

Using integration, find the area bounded by the curve x2 = 4y and the line   

x = 4y - 2. 

¼6½¼6½¼6½¼6½    

 vFkokvFkokvFkokvFkok@@@@ OR        

 lekdyu fof/k ls ml f=Hkqt dk {ks=Qy Kkr dhft,] ftlds 'kh"kZ (1,0) (2,2)  vkSj (3,1) 

gSaA  

Using method of integration, find the area of the triangle whose vertices are 

(1,0) (2,2) and (3,1). 
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26. eku yhft, fd dksbZ yM+dh ,d iklk mNkyrh gSA ;fn mls 5 ;k 6 dh la[;k izkIr gksrh 

gS] rks og ,d flDds dks rhu ckj mNkyrh gS vkSj ^fpÙkksa* dh la[;k uksV djrh gSA ;fn 

mls 1] 2] 3 ;k 4 dh la[;k izkIr gksrh gS] rks og ,d flDds dks ,d ckj mNkyrh gS vkSj 

;g uksV djrh gS fd ml ij ^fpÙk* ;k ^iV* izkIr gqvk ;fn mls Bhd ,d fpÙk izkIr gksrk 

gS] rks mlds }kjk mNkys x;s ikls ij 1] 2] 3 ;k 4 izkIr gksus dh izkf;drk D;k gS\  

Suppose a girl throws a die. If she gets 5 or 6. She tossed a coin three times 

and notes the number of heads. If she gets 1, 2, 3 or 4 she tosses a coin once 

and notes whether a head or tail is obtained. If she obtained exactly one head 

what is the probability that she threw 1, 2, 3 or 4 with the die? 

¼6½¼6½¼6½¼6½    

27. ,d daiuh nks izdkj dk lkeku A vkSj B cukrh gS] ftlesa lksus o pk¡nh dk mi;ksx gksrk 

gSA izdkj A dh izR;sd bdkbZ esa 3g pk¡nh o 1g lksuk] rFkk izdkj B dh izR;sd bdkbZ esa 

1g pk¡nh o 2g lksuk iz;ksx esa vkrk gSA daiuh T;knk ls T;knk 9g pk¡nh o 8g lksus dk 

gh iz;ksx dj ldrh gSA ;fn izdkj A dh ,d bdkbZ ls 40` dk ykHk o izdkj B dh ,d 

bdkbZ ls 50` dk ykHk dek;k tkrk gS] rks vf/kdre ykHk vftZr djus gsrq daiuh dks nksuksa 

izdkjksa dh fdruh&fdruh bdkb;k¡ cukuh pkfg,\ mi;qZDr leL;k dks jSf[kd izksxzkeu 

leL;k esa ifjofrZr djds vkys[k fof/k ls gy dhft, rFkk vf/kdre ykHk Hkh Kkr dhft,A 

¼6½¼6½¼6½¼6½    

 A company produces two types of goods, A and B that require gold and silver. 

Each unit of type A requires 3g silver and 1g of gold while that of type B 

requires 1g of silver and 2g of gold. The company can use at the most 9g of 

silver and 8g of gold. If each unit of type A brings a profit of `40 and that of 

type B `50, then find the number of units of each type that the company 

should produce to maximize profit. Formulate the above LPP and solve it 

graphically and also find the maximum profit. 
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28. fl) dhft, fd U;wure i`"B dk fn;s vk;ru ds yac o`Ùkh; 'kadq dh Å¡pkbZ] vk/kkj dh 

f=T;k dh √2		xquh gksrh gSA 
Show that the right circular cone of least curved surface and given volume 

has an altitude equal to √2 times the radius of the base. 

¼6½¼6½¼6½¼6½    

29. foUnqvksa ftuds fLFkfr lfn’k  i�	+	j�	-	2k�, 2i�	-	j�	+	k	� ,		rFkk i�	+	2j�	+	k� gSa] ls xqtjus okys lery 

dk lfn’k o dkrhZ; lehdj.k Kkr dhft,A mi;qZDr lery ds lekarj lery tks fcUnq 

(2, 3, 7) ls xqtjrk gS] dk lehdj.k Hkh fyf[k,A vr% nksuksa lekarj leryksa ds chp dh 

nwjh Kkr dhft,A 

Find the vector and cartesian equation of the plane passing through the points 

having position vector i�	+	j�	-	2k�, 2i�	-	j�	+	k	� ,	and i�	+	2j�	+	k�	.	Write the equation of a 

plane passing through a point (2, 3, 7) and parallel to the plane obtained 

above. Hence find the distance between the two parallel planes. 

¼6½¼6½¼6½¼6½    

 vFkokvFkokvFkokvFkok@@@@ OR     

 fcUnqvksa (2, -1, 2) rFkk (5, 3, 4)  ls xqtjus okyh js[kk dk lehdj.k Kkr dhft, rFkk 

fcUnqvksa (2, 0, 3), (1, 1, 5) rFkk (3, 2, 4) ls xqtjus okys lery dk lehdj.k Hkh Kkr 

dhft,A js[kk o lery dk izfrPNsnu fcUnq Hkh Kkr dhft,A 

Find the equation of line passing through (2, -1, 2) and (5, 3, 4) and of the 

plane passing through (2, 0, 3), (1, 1, 5) and (3, 2, 4). Also find their point of 

intersection. 

    

-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------- 
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fo"k; % fo"k; % fo"k; % fo"k; % HkkSfrd foKku HkkSfrd foKku HkkSfrd foKku HkkSfrd foKku ¼lS)kfUrd½¼lS)kfUrd½¼lS)kfUrd½¼lS)kfUrd½    
Subject: PHYSICS  (Theory) 

le; % 03 ?k.Vs                                                                                  iw.kk±d % 70 
Time: 03 Hours                                                                          Maximum Marks: 70 
  

• Ñi;k tk¡p dj ysa fd bl iz’u&i= esa eqfær ì"B 1111 ls 16161616    gSaA    

• iz'u&i= esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk= mŸkj&iqfLrdk ds eq[; i`"B ij fy[ksaA    

• Ñi;k tk¡p dj ysa fd bl iz’u&i= esa 22227777 iz’u gSaA     

• Ñi;k iz’u dk mŸkj fy[kuk 'kq: djus ls igys] iz’u dk Øekad vo’; fy[ksaA    

• bl iz’u&i= dks i<+us ds fy, 15 feuV dk le; fn;k x;k gSA     

• Please check that this question paper contains 1 to 16 printed pages. 

• Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate. 

• Please check that this question paper contains 27 questions. 

• Please write down the Serial Number of the question before attempting it. 

• 15 minutes time has been allotted to read this question paper.  
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lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k &&&&    
  (i) lHkh iz’u vfuok;Z gSaA  
  (ii) bl iz’u&i= ds pkj Hkkx gSa &[k.M&v] [k.M&c] [k.M&l vkSj [k.M&nA 
  (iii) [k.M&v esa  ,d&,d vad ds 5 iz’u gaS] [k.M&c esa nks vadksa ds 7 iz’u gSa]  

 [k.M&l esa rhu vadksa ds 12 iz’u gSa] [k.M&n esa ikap vadksa ds 3 iz’u gSa] 
  (iv) dksbZ lexz fodYi ugha gS gkykafd ,d vad ds nks iz’uksa esa] nks vadksa ds nks iz’uksa esa] rhu 

 vadksa ds pkj iz’uksa esa vkSj ik¡p vadksa ds rhu iz’uksa esa vkUrfjd fodYi iznku fd;s x;s gSaA 
 vkidks ,sls iz’uksa esa ls dsoy ,d fodYi dk iz;kl djuk gSA 

  (v) tgk¡ vko’;d gks] vki HkkSfrd fLFkjkad ds fuEufyf[kr ewY;ksa dk mi;ksx dj ldrs gSaA 
   c = 3 × 108 m/s 

   h = 6.63 × 10-34 Js 

   e = 1.6 × 10-19 C 

   µ0 = 4π × 10-7 T m A-1 

   ε0 = 8.854 × 10-12 C2 N-1 m-2 

   
�

4�ε�
 = 9 × 109 Nm2 C-2 

   me = 9.1 × 10-31 kg 

   Mass of neutron = 1.675 × 10-27 kg 
   Mass of proton  = 1.673 × 10-27 kg 
   Avogadro’s number = 6.023 × 1023 per gram mole 
    Boltzmann constant = 1.38 × 10-23 JK-1    
General Instructions - 

  (i) All questions are compulsory.  
  (ii) This question paper has four sections: Section A, Section B, Section C and 

 Section D.  
  (iii) Section A contains five questions of one mark each, Section B contains seven 

 questions of two marks each, Section C contain twelve questions of three 
 marks each, and Section D contains three questions of five marks each. 

  (iv) There is no overall choice. However an internal choices has been provided in two 
 questions of one mark, two questions of two marks, four questions of three 
 marks and three questions of five marks weightage. You have to attempt only one 
 of the choices in such questions. 

  (v) You may use the following values of physical constants wherever necessary: 

   c = 3 × 108 m/s 

   h = 6.63 × 10-34 Js 

   e = 1.6 × 10-19 C 

   µ0 = 4π × 10-7 T m A-1 

   ε0 = 8.854 × 10-12 C2 N-1 m-2 

   
�

4�ε�
 = 9 × 109 N m2 C-2 

   me = 9.1 × 10-31 kg  
    Mass of neutron = 1.675 × 10-27 kg 
    Mass of proton = 1.673 × 10-27 kg 
    Avogadro’s number = 6.023 × 1023 per gram mole 
    Boltzmann constant = 1.38 × 10-23 JK-1  
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 [k.M[k.M[k.M[k.M    & & & & vvvv    

SECTION – A 

 

1. fcanq ‘q’ ds dkj.k nwjh ‘r’ ds lkFk fo|qr {ks= (E) dh fHkUurk fn[kkus okyk ,d oØ ¼xzkQ½ 

cuk,aA 

    

 Draw a plot showing variation of electric field (E) with distance ‘r’ due to a point 

charge ‘q’. 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 ,d fo|qr {ks= ds f}/kzqo vk?kw.kZ dks ifjHkkf"kr djsaA D;k ;g ,d vfn’k jkf’k ;k ,d lfn’k 

jkf’k gS\ 

    

 Define dipole moment of an electric field. Is it a scalar quantity or a vector 

quantity?    
    

2. f}/kzqo vk?kw.kZ 'p’ ds f}/kzqo ds leckgq ry esa f}/kqzo ds Åij ,d fcanq A ls f}/kzqo ds uhps 

,d fcanq B rd ,d vkos'k dks Roj.k ds fcuk ys tk;k tkrk gSA bl çfØ;k esa fd, x, 

dk;Z dh x.kuk djsaA 

    

 A charge ‘q’ is moved from a point A above a dipole of dipole moment ‘p’ to a 

point B below the dipole in equatorial plane without acceleration. Find the work 

done in this process. 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 ,d fo|qr pkyd dh ,d lefoHko lrg ds fdlh fcanq ij fo|qr {ks= dh js[kk,a yacor 

D;ksa gksrh gSa\ 

    

 Why are electric field lines perpendicular at a point on an equipotential surface 

of a conductor? 

    

3. ,d fo|qr /kkjkokgh oÙ̀kkdkj ik’k ¼djaV ywi½ ds dkj.k paqcdh; {ks= dh js[kk,a [khafp,A     

 Draw the magnetic field lines due to a current carrying loop.     

4. i`Foh dh lrg ij ueu dks.k dk eku 90ÿ dgk¡ ij gS\     

 Where on the surface of earth is the angle of dip 90ÿ?     

5. ^dyk& lac) L=ksr^ 'kCn dks ifjHkkf"kr djsa] tks ;ax ds f} f>jh ¼fLyV½ iz;ksx esa O;frdj.k 

iSVuZ dk mRiknu djus ds fy, vko’;d gSA  

    

 Define the term ‘coherent sources’ which are required to produce interference 

pattern in Young’s double slit experiment. 
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 [k.M[k.M[k.M[k.M    & & & & cccc    

SECTION - B 

    

6. leku Qksdl nwjh ijUrq O;kl ¼,ipZj½ A1 vkSj A2 (A2<A1) ds nks mÙky ysalksa dk mi;ksx 

vfHkn`’;d ¼vkWCtsfDVo ysal½ ds :i esa nks [kxksyh; VsyhLdksi ftudh leku usf=dk 

¼vkbZihl½ gS] esa fd;k x;k gSA mudh foHksnu {kerk dk vuqikr D;k gS\ vki fdl VsyhLdksi 

dks ilan djsaxs vkSj D;ksa\ dkj.k nsaA 

    

 Two convex lenses of same focal length but aperture A1 and A2 (A2<A1) are 

used as objective lens in two astronomical telescope having identical 

eyepieces. What is the ratio of their resolving power? Which telescope will 

you prefer and why? Give reason. 

    

7. (i) vko`fÙk 6.0 × 1014  gV~Zt dh ,do.khZ izdk’kk ¼eksuksØksesfVd ykbV½ ystj }kjk fufeZr 

 gksrh gSA mRlftZr 2.0 × 10-3 W 'kfDr gSA L=ksr ds }kjk vkSlru izfr lsdaM 

 mRlftZr QksVkWuksa dh la[;k Kkr djsaA 

    

 (ii) fdlh izdk’k laosnh lrg ij vkifrr fofdj.k ds fy;s izdk’k fo|qr /kkjk cuke 

 fofdj.k dh rhozrk dks n’kkZrs gq, ,d xzkQ [khafp,A 

    

 (i) Monochromatic light of frequency 6.0 × 1014 Hz is produced by laser. 

 The power emitted is 2.0 × 10-3 W. Estimate the number of photons 

 emitted per second on an average by the source?  

    

 (ii) Draw a plot showing the variation of photoelectric current versus the 

 intensity of incident radiation on a given photosensitive surface. 

    

8. gkbMªkstu ijek.kq esa igyh mÙksftr voLFkk esa ifjØek djrs gq, bysDVªkWu dh rjaxnS/;Z Kkr 

dhft,A 

    

 Find out the wavelength of electron orbiting in the first excited state in 

hydrogen atom. 

    

 vFkokvFkokvFkokvFkok@@@@OR     
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 ,d 12.5 eV ÅtkZ ds bysDVªkWu iqat dk mi;ksx dejs ds rkieku ij ,d xSlh; gkbMªkstu 

ijek.kq dks mÙksftr djus ds fy, fd;k tkrk gSA mÙksftr voLFkk esa ijek.kq }kjk mRlftZr 

ykbuksa dh rjaxnS/;Z vkSj bl izdkj mRlftZr ykbuksa dh Jà[kyk dks fu/kkZfjr djsaA 

    

 A 12.5 eV electron beam is used to excite a gaseous Hydrogen atom at room 

temperature. Determine the wavelength and corresponding series of lines 

emitted. 

    

9. 12Ω ds ckgjh izfrjks/k esa tksM+us ij fo|qr okgd cy emf (E) dh cSVjh] ftldk vkarfjd 

izfrjks/k ‘r’ gS] 0.5 A dh ,d /kkjk mRiUu djrh gSA 25Ω ds izfrjks/k ls tqM+s gksu ij ;g 

0.25 A dh /kkjk mRiUu djrh gSA fu/kkZfjr djsa& 

    

 (i) fo|qr okgd cy  (emf)     

 (ii) cSVjh dk vkarfjd izfrjks/k     

 A battery of emf E and an internal resistance ‘r’ when connected across an 

external resistance of 12Ω, produces a current of 0.5 A. When connected 

across a resistance of 25Ω, produces a current of 0.25 A.  Determine- 

    

 (i) The emf     

 (ii) Internal resistance of the cell     

10. æO;eku ‘m’ vkSj pktZ ‘q’ ds vkosf’kr d.k dh xfr ij fopkj djsa tks pqacdh; {ks= ‘B’ esa 

osx ‘v’ ds lkFk xfreku gSA ;fn osx ‘v’ pqacdh; {ks= ‘B’ ds yacor gS] rks fn[kk,a fd ;g 

,d o`Ùkkdkj iFk dk vuqlj.k djrk gS ftldh dks.kh; vko`fÙk ω = qB /m gSA 

    

 Consider the motion of a charged particle of mass ‘m’ and charge ‘q’ moving 

with velocity ‘v’ in a magnetic field ‘B’. If ‘v’ is perpendicular to ‘B’, then show 

that it describes a circular path having angular frequency ω = qB /m.  

    

11. 'kCn ^ekWMqys’ku^ dks ifjHkkf"kr djsaA vk;ke ekWMqfyr (AM) flXuy izkIr djus ds fy, ,d 

lk/kkj.k ekWM~;wysVj ds CykWd vkjs[k dks [khpsaA ¼Mªk djsa½ 

    

 Define the term modulation. Draw a block diagram of a simple modulator for 

obtaining AM signal. 
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12. ,d VªkalM~;wlj vkSj ,d iqujkorZd ds chp Hksn djsaA     

 Distinguish between a transducer and a repeater.     

 vFkokvFkokvFkokvFkok@@@@OR     

 vkdk'k rjax lapkj D;k gS\ izlkj dk ;g rjhdk dsoy dqN esxkgV~Zl rd dh vko`fÙk;ksa 

rd gh lhfer D;ksa gS\ 

    

 What is sky wave communication? Why is this mode of propagation restricted 

to the frequencies only upto few MHz? 

    

 [k.M[k.M[k.M[k.M    & & & & llll    

SECTION - C 

    

13. pqacdh; vk?kw.kZ M dh ,d NksVh pqacdh; lqbZ ,d /kqjh esa ?kqeus ds fy, Lora= gS tks leku 

pqacdh; {ks= B dh fn’kk ds yacor gSA v{k ij lqbZ dk tM+Ro vk?kw.k I gSA lqbZ dks lokZf/kd 

LFkk;h fLFkfr ls FkksM+k foLFkkfir djds NksM+ fn;k tkrk gSA fl) djsa fd ;g ljy vkorZ 

xfr dks fu"ikfnr djrk gSA bldh le;kof/k ds fy, O;atd O;qRiUu djsaA 

    

 A small compass needle of magnetic moment M is free to turn about an axis 

perpendicular to the direction of uniform magnetic field B. The moment of 

inertia of the needle about the axis is I. The needle is slightly disturbed from 

its stable position and then released. Prove that it executes simple harmonic 

motion. Hence, deduce the expression for its time period. 

    

14. ,d Js.khc) LCR lfdZV ftlesa L = 10H, C = 40µF, R = 60Ω  ,d ifjorhZ vko`fÙk 

240 V ds L=ksr ls tqM+k gSA x.kuk djsa % 

    

 (i) ifjiFk dks vuqukn esa izpkfyr djus okyh L=ksr vko`fÙk fu/kkZfjr dhft;sA     

 (ii) vuqukn vko`fÙk esa ifjiFk dh /kkjk dk vk;ke ifjdfyr dhft;sA     

 (iii) vuqukn ij izsjd ds ikj rms foHko ikr     

 A series LCR circuit with L = 10H, C = 40µF, R = 60Ω are connected to a 

variable frequency 240 V source. Calculate- 

    

 (i) The angular frequency of source which drives the circuit at resonance.     

 (ii) The current at the resonating frequency.     

 (iii) rms potential drop across inductor at resonance     
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15. ,d ysal dh {kerk dks ifjHkkf"kr djsaA bldh bdkbZ fyf[k,A laidZ esa j[ks nks irys yslksa 

ds fy, laca/k �
�
=	

�

��
+	

�

�

  O;qRiUu djsaA 

    

 Define power of a lens. Write its unit. Deduce the relation 
�

�
=	

�

��
+	

�

�

 for two 

thin lenses kept in contact coaxially. 

    

16. viofrZr VsyhLdksi dk ,d ;kstukc) vkjs[k cuk,aA bldh nks egRoiw.kZ lhek,a fy[ksaA ,d 

fo’kky viorZu VsyhLdksi esa Qksdl nwjh 15 ehVj dk ,d vfHkn`’;d ysal gSA ;fn Qksdl 

nwjh 1 lseh- dh usf=dk dk mi;ksx fd;k tkrk gS] rks nwjchu dk dks.kh; vko/kZu D;k gS\ 

 

 Draw a schematic diagram of refracting telescope. Write its two important 

limitations. A giant refracting telescope has an objective lens of focal length 

15 m. If an eye piece of focal length 1 cm is used, what it the angular 

magnification of the telescope? 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 ysal fuekZrkvksa ds lw= dks vfHkO;fDr  �

�
−	

��

�
=	

�
���

�
 dk mi;ksx djds izkIr djsaa] tgka 

viorZu lwpdkad µ1 ds ,d fojy ek/;e ls viorZd lwpdkad µ2 ds ,d l?ku ek/;e esa 

izdk’k fdj.k dk vkiru oØrk R dh f=T;k ds xksykdkj viorZd lrg ds mÙky ij gksrk 

gSA    

    

 Obtain lens makers formula using the expression
�


�
−	

��

�
=	

�
���

�
. Where the 

ray of light propagating from a rarer medium of refractive index µ1 to a denser 

medium of refractive index µ2 is incident on the convex side of spherical 

refracting surface of radius of curvature R. 
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17. (i) jsfM;ks/kehZ {k; ds fu;e crkb,A 

(ii) α {k; ds nkSj ls xqtj jgs 238
92 U dk v/kZ & vk;q 4.5 × 109 o"kZ gSA 238

92 U ds 

 10g uewus dh xfrfof/k fu/kkZfjr djsaA ;g ns[krs gq, fd 238
92 U ds 1g esa 25.3  × 

 1020 ijek.kq gksrs gSaA 

    

 (i) State the law of radioactive decay. 

(ii) The half – life of 238
92 U undergoing α decay is 4.5 × 109 years. Determine 

 the activity of 10g sample of 238
92 U, given that 1g of 238

92 U contains 

 25.3 × 1020 atoms. 

    

18. p – n taD’ku Mk;ksM dk mi;ksx djds iw.kZ rjax fn"Vdkjh ds lfdZV dk vkjs[k [khafp,A 

bldh dk;Z iz.kkyh dh O;k[;k djsa vkSj vkmViqV ,oa buiqV rjaxksa dks fn[kk,aA 

 

 Draw the circuit diagram of full wave rectifier using p – n junction diode. 

Explain its working and show the output and input waveforms.  

    

19. xkWl ds fu;e dk mi;ksx djds] [kksy ds ckgj ,d fcanq ij f=T;k R ds leku :i ls 

pktZ xksykdkj [kksy ds dkj.k fo|qr {ks= ds fy, O;atd O;qRiUu djsaA r > R vkSj r < R 

ds fy,] r ds lkFk fo|qr {ks= dh fHkUurk dks n’kkZus okyk ,d xzkQ cuk,aA 

    

 Using Gauss’ law, obtain the expression for electric field due to uniformly 

charged spherical shell of radius R at a point outside the shell. Draw a graph 

showing the variation of the electric field, with r, for r > R and r < R.  

    

 vFkokvFkokvFkokvFkok@@@@OR     

 xzkWl fu;e dk iz;ksx djds ,d leku :i ls vkosf’kr nks lekukarj pknjksa] ftuds vkos’k 

?kuRo Øe’k% + σ ,oa - σ  gSa] ds chp fo|qr {ks= ds fy, O;atd O;qRiUu djsaA 

    

 Use Gauss’ Law to derive the expression for the electric field between two 

uniformly charged parallel sheets with surface charge densities + σ and - σ 

respectively. 
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20. ,d lefoHko lrg dks ifjHkkf"kr djsaA lefoHko lrg dks mÙkj iqfLrdk ij n’kkZb;sA      

 (i) ,d fcanq vkos’k ds ekeys esaA     

 (ii) Z fn’kk esa ,d leku fo|qr {ks= esaA     

 (iii) D;k fo|qr {ks= ,d lefoHko lrg esa i`"B ds vuqfn’k ekStwn gks ldrk gS\ dkj.k 

 crkb;sA 

    

 Define an equipotential surface. Draw equipotential surfaces-     

 (i) In case of single point charge.     

 (ii) In a constant electric field in Z direction.     

 (iii) Can electric field exist tangentially to an equipotential surface? Give 

 reason. 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 (i) viuh v{kh; js[kk ds ,d fcanq ij ,d oS|qr f}/kzqo ds dkj.k fo|qr foHko ds fy, 

 O;atd O;qRiUu djsaA 

    

 (ii) ,d oS|qr f}/kzqo ds fy, lefoHko lrg dks fpf=r djsaA     

 (i) Derive the expression for electric potential due to an electric dipole at a 

 point on its axial line. 

    

 (ii) Depict the equipotential surfaces due to an electric dipole.     

21. lkbDyksVªkWu dk ,d ;kstukc) Ldsp Mªk djsaA blds dk;Z fl)kar dks crk,aA fn[kk,a fd 

lkbDyksVªkWu vko`fÙk vkosf’kr d.k ds osx ls Lora= gSA  

    

 Draw a schematic sketch of cyclotron. State its working principle. Show that 

the cyclotron frequency is independent of velocity of charged particle. 
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22. (i) Lo & izsjRo dks ifjHkkf"kr djsaA bldh S.I. bdkbZ fyf[k,A     

 (ii) 15 Qsjs izfr lseh- ds ,d yacs lksysukWbM ¼ifjukfydk½ ds vanj ,d NksVk ywi gS 

 ftldk {ks=Qy 2-0 lseh2 gS] tks fd vius v{k ds yacor lksysukWbM ds vanj j[kk 

 tkrk gSA ;fn lksysukWbM esa /kkjk dk eku 0-1 lsdsaM esa 2-0 A ls 4-0 A rd fLFkj 

 :i ls cnyrk gS] rks ifjorZu djrs le; ywi esa izsfjr fo|qr okgd cy ifjdfyr 

 dhft;sA 

    

 (i) Define self- inductance. Write its S.I. unit.     

 (ii) A long solenoid with 15 turns per cm has a small loop of area 2.0 cm2 

 placed inside the solenoid normal to its axis. If the current carried by the 

 solenoid changes steadily from 2.0 to 4.0 in 0.1 sec, then what is the 

 induced emf in the loop while the current is changing? 

    

 vFkokvFkokvFkokvFkok@@@@OR 
    

 vius ewy rRoksa dk o.kZu djus okys ,lh tujsVj dk ,d ;kstukc) Ldsp cuk,aA la{ksi esa 

blds dk;Z fl)kar dks crk,aA xzkQ }kjk fuEu esa fopj.k fn[kk,a& 

    

 (i) pqacdh; ¶yDl 

(ii) pqacdh; {ks= esa ?kwers gq, rkj ds ,d ywi }kjk izR;korhZ fo|qr okgd cy cuke le;A 

    

 Draw a schematic sketch of AC generator describing its basic elements. State 

briefly its working principle. Show a plot of variation of- 

    

 (i) Magnetic flux 

(ii) Alternating emf vs time generated by a loop of wire rotating in a magnetic 

 field.    
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23. fuEufyf[kr iz’uksa ds mÙkj nks&     

 (i) fo|qr & pqEcdh; rjaxksa dk uke crkb, tks fd foeku usfoxs’ku esa bLrseky gksuss 

 okys jkMkj flLVe ds fy, mi;qDr gSA bu rjaxksa dh vko`fÙk dh lhek fyf[k,A 

    

 (ii) ;fn i``Foh esa ok;qeaMy ugha gS] rks D;k bldh vkSlr lrg dk rkieku vHkh dh rqyuk 

 esa vf/kd ;k de gksxkA crk,aA 

    

 (iii) ,d fo|qr & pqcadh; rjax ml lrg ij ncko Mkyrh gS ftl ij og vkifrr gksrh 

 gSA dkj.k fy[ksA 

    

 Answer the following question – 

(i) Name the EM waves which are suitable for RADAR systems used in 

 aircraft navigation. Write the range of frequency of these waves. 

    

 (ii) If the earth did not have atmosphere, would its average surface 

 temperature be higher or lower than what it is now? Explain. 

    

 (iii) An Em wave exerts pressure on the surface on which it is incident. 

 Justify. 

    

24. (i) QksVkWu ds egRoiw.kZ xq.kksa dks fy[ksa tks vkbaLVhu ds QksVksbysfDVªd lehdj.k dks 

 LFkkfir djus ds fy, mi;ksx fd, tkrs gSaA 

    

 (ii) fuEu vo/kkj.kk dks le>kus ds fy, bl lehdj.k dk mi;ksx djsa& 

 ¼d½ nsgyh vko`fÙk 

 ¼[k½ fujks/kh foHko 

    

 (i) Write the important properties of photon which are used to establish 

 Einstein’s photoelectric equation. 

    

 (ii) Use this equation to explain the concept of- 

 (a) Threshold frequency 

 (b) Stopping Potential 
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 [k.M[k.M[k.M[k.M    & & & & nnnn    

SECTION - D 

    

25. ,d 4-5 lseh- lqbZ dks Qksdl nwjh 15 lseh- ds mÙky niZ.k ls 12 lseh- nwj j[kk x;k gSA 

izfrfcEc dh fLFkfr vkSj vko/kZu dks izkIr djasA o.kZu djsa fd D;k gksrk gS tc lqbZ niZ.k ls 

cgqr nwj pyh tkrh gSA  

    

 A 4.5 cm needle is placed 12 cm away from the convex mirror of focal length 

15cm. Give the location of the image and the magnification. Describe what 

happens as the needle is moved farther from the mirror. 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 fuEufyf[kr fofunZs’kksa ds lkFk pkj Mcy mÙky ysal miyC/k gSa & 

ysal ysal Qksdy yackbZ vipZj 

¼O;kl½ 

A 100 cm 10 cm 

B 100 cm 5 cm 

C 10 cm 2 cm 

D 5 cm 2 cm 

 

    

 
 

(i) ,d [kxksyh; nwjchu ds fuekZ.k ds fy, fn, x, pkj ysalksa esa ls fdldks vfHkn`’;d 

 vkSj usf=dk :i esa pquk tkuk pkfg, vkSj D;ksa\ vko/kZu 'kfDr vkSj nwjchu dh V~;wc 

 dh yackbZ D;k gksxh\ 

    

 (ii) lk/kkj.k lw{en’khZ dh lgk;rk ls fdlh oLrq dks igys yky izdk’k esa vkSj fQj uhyh 

 jks’kuh esa ns[kk tkrk gSA D;k nksukas ekeyksa esa vko/kZu leku gksxk\ D;ksa\ 
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 Four double convex lens with the following specifications are available- 

Lens Lens Focal Length Aperture 

A 100 cm 10 cm 

B 100 cm 5 cm 

C 10 cm 2 cm 

D 5 cm 2 cm 

 

    

 
 

(i) Which of the given four lenses should be selected as objective and eye 

 piece to construct an astronomical telescope and why? What will be the 

 magnifying power and the length of the tube of the telescope?  

    

 (ii) An object is seen with the help of the simple microscope, firstly in red 

 light and then in blue light. Will the magnification be same in both the 

 cases? Why? 

    

26. (i) Ng ysM ,flM izdkj dh f}rh;d lsy] ftudk fo|qr okgd cy 2-0 V vkSj vkarfjd 

 izfrjks/k 0-015Ω gS dks Js.khc) la;kstu esa tksM+k x;k gSA ;g 8-5Ω ds izfrjks/k dks 

 vkiwfrZ iznku djrs gSaA L=ksr ls yh xbZ /kkjk vkSj L=ksr dk VfeZuy oksYVst ¼foHkokarj½ 

 D;k gS\ 

    

 (ii) yacs mi;ksx ds ckn ,d f}rh;d lsy esa 1-9 V dk fo|qr okgd cy vkSj 380Ω dk 

 ,d cM+k vkarfjd izfrjks/k gksrk gSA lsy ls vf/kdre fdruh /kkjk yh tk ldrk gS\ 

 D;k lsy dkj dh LVkfVZax eksVj pyk ldrk gS\ 
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 (i) Six lead acid type of secondary cells, each of emf 2.0V and internal 

 resistance 0.015Ω are joined in series to provide a supply to a resistance 

 of 8.5Ω. What is the current drawn from the supply and its terminal 

 voltage? 

    

 (ii) A secondary cell after long use has an emf of 1.9 V and large internal 

 resistance of 380Ω. What maximum current can be drawn from the cell? 

 Could the cell drive the starting motor of a car? 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 (i) fdjpkWQ ds fu;e crk,aA     

 (ii) ,d 10V vkSj ux.; vkarfjd izfrjks/k dh cSVjh ,d D;wfcdy usVodZ ds frjNs 

 foijhr dksuksa ls tqM+k gS ftlesa 1Ω izfrjks/k ds 12 izfrjks/k yxs gaSA fuEu fu/kkZfjr 

 djus ds fy, fdjpkWQ ds fu;eksa dk mi;ksx djsaA 

 ¼d½ usVodZ dk dqy izfrjks/k 

 ¼[k½ usVodZ esa dqy fo|qr /kkjkA 

    

 (i) State Kirchhoff’s rules.     

 (ii) A battery of 10V and negligible internal resistance if connected across 

 the diagonally opposite corners of a cubical network consisting of 12 

 resistors each of 1Ω resistance. Use Kirchhoff’s rules to determine- 

 (a) The equivalent resistance of network. 

 (b) The total current in the network. 
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27. (i) p-n-p VªkaftLVj ds lfdZV vkjs[k dks ,feVj & csl taD’ku QkWjoMZ ck;LM vkSj 

 dysDVj & csl taD’ku fjolZ ck;LM ds lkFk Mªk djsaA la{ksi esa crk,a fd VªkaftLVj 

 esa vkos’k okgdksa dh xfr mRltZd fo|qr /kkjk IE vk/kkj djaV IB vkSj laxzkgd djaV 

 IC dks dSls mRiUu djrh gS\ blfy, laca/k dks O;qRiUu djsa] IE = IB + IC.  

    

 (ii) lfdZV vkjs[k dh lgk;rk ls le>k,a fd ,d VªkaftLVj ,d ,EiyhQk;j ds :i esa 

 dSls dke djrk gSS\ 

    

 (i) Draw the circuit diagram of a p-n-p transistor with an emitter – base 

 junction forward biased and collector – base junction reverse biased. 

 Describe briefly how the motion of charge carriers in the transistor 

 constitutes the emitter current IE, the base current IB and the collector IC. 

 Hence deduce the relation IE = IB + IC. 

    

 (ii) Explain with the help of a circuit diagram, how a transistor works as an 

 amplifier. 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 (i) ,d CE dkWfUQxjs’ku ds buiqV vkSj vkmViqV fo’ks"krkvksa dk v/;;u djus ds fy, 

 lfdZV [khapsA fn[kk,a fd vkmViqV fo’ks"krkvksa ls /kkjk izo/kZu dkjd (βAC) ds ckjs esa 

 tkudkjh dSls izkIr dh tk ldrh gSA  

    

 (ii) CE dkWfUQxjs’ku esa vk/kkj ck;LM VªkaftLVj ds fy, LFkkukarj.k fo’ks"krkvksa          

 (Vo vs Vi) dk ,d xzkQ Mªk djsaA 

    

 (i) Draw the circuit for studying the input and output characteristics of a CE 

 configuration. Show how from the output characteristics the information 

 about the current amplification factor (βAC) can be obtained. 

    

 (ii) Draw a plot of transfer characteristics (Vo vs Vi) for a base biased 

 transistor in CE configuration. 

    

-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------- 
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lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k &&&&    
  (i) lHkh iz’u vfuok;Z gSaA 
  (ii) Hkkx v % iz’u&la[;k 1 ls 5 rd vfr y?kq&mÙkjh; iz’u gSa vkSj izR;sd iz’u ds fy, 1 

 vad  gaSA  
  (iii) Hkkx c % iz’u&la[;k 6 ls 12 rd y?kq&mÙkjh; iz’u gSa vkSj izR;sd iz’u ds fy, 2 vad gaSA  
  (iv) Hkkx l % iz’u&la[;k 13 ls 24 rd Hkh vfr y?kq&mÙkjh; iz’u gSa vkSj izR;sd iz’u ds fy, 

 3 vad gSaA 
  (v) Hkkx n % iz’u&la[;k 25 ls 27 rd nh?kZ&mÙkjh; iz’u gSa vkSj izR;ssd iz’u ds fy, 5 vad 

 gaSA 
  (vi) iz’u&i= esa lexz fodYi ugha fn;k x;k gSA fQj Hkh ,d vad okys nks iz’uksa eas] nks vadksa 

 okys nks iz’uksa esa] rhu vadksa okys pkj iz’ukas esa rFkk ik¡p vadksa okys rhuksa iz’uksa esa fodYi 
 fn;k x;k gSA ,sls lHkh iz’uksa esa ls vkidks ,d gh fodYi dk mÙkj nsuk gSA 

  (vii) ;fn vko’;d gks] rks vki y?kqx.kdh; lkjf.k;k¡ ek¡x ldrs gSaA dSYdqysVj ds iz;ksx dh 
 vuqefr ugha gSA  

General Instructions - 

  (i) All questions are compulsory.  

  (ii) Section A: Question number 1 to 5 are very short-answer questions and carry 

 1 mark each.  

  (iii) Section B: Question number 6 to 12 are short-answer questions and carry 

 2 mark each.  

  (iv) Section C: Questions number 13 to 24 are also short-answer questions and 

 carry 3 mark each.  

  (v) Section D: Questions number 25 to 27 are long answer questions and carry 

 5 mark each.  

  (vi) There is no overall choice. However, an internal choice has been provided in 

 two questions of one mark, two questions of two marks, four questions of three 

 marks and all the three questions of five marks weightage. You have to attempt 

 only one of the choices in such questions.  

  (vii) Use log tables, if necessary. Use of calculators is not allowed. 
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 HkkxHkkxHkkxHkkx    & v& v& v& v    

SECTION - A 

 

1. nks vehuks vEyksa dks tksM+us okys fyadst dk uke fy[ksaA 

Write the name of the linkage joining two amino acids. 

                ¼1½¼1½¼1½¼1½    

 vFkokvFkokvFkokvFkok@@@@OR     

 LVkpZ ds nks ?kVdksa ds uke fyf[k,A 

Name two components of starch. 

    

2. Ikk;l fdls dgrs gSa\ ,d mnkgj.k nhft;sA 

What are emulsions? Give an example. 

                ¼1½¼1½¼1½¼1½    

3. vk;ksMhu dh fVapj D;k gS vkSj bldk mi;ksx fdl fy, fd;k tkrk gS\ 

What is tincture of Iodine and what is it used for? 

                ¼1½¼1½¼1½¼1½    

4. milag;kstd ;kSfxd �Pt(en)�Cl���� vkbZ-;w-ih-,-lh uke D;k gS\ 

What is IUPAC name of the complex	�Pt(en)�Cl��
��. 

                ¼1½¼1½¼1½¼1½    

 vFkokvFkokvFkokvFkok@@@@OR     

 �Co(NH�)�(NO�)�� ds T;kferh; leko;o cukb;sA 

Draw the geometrical isomers of �Co(NH�)�(NO�)��    

    

5. 3&vkWDlksisaVSuy dh lajpuk fyf[k,A 

Write the structure of 3-oxopentanal. 

                ¼1½¼1½¼1½¼1½    

 HkkxHkkxHkkxHkkx    &c &c &c &c     

SECTION - B 

    

6. vfHkfØ;k dh dksfV rFkk vfHkfØ;k dh vkaf.odrk esa nks Áeq[k varj crkb;sA 

List two main differences between order of reaction and Molecularity of 

reaction. 

¼2½¼2½¼2½¼2½    

7. fdlh bysDVªksykbV ds foy;u dh pkydrk vkSj eksyj pkydrk dks ifjHkkf"kr dhft;sA 

lkanzrk ds lkFk mudh fHkUurk ij ppkZ djsaA 

Define conductivity and molar conductivity for the solution of an electrolyte. 

Discuss their variation with concentrations. 

    

¼2½¼2½¼2½¼2½ 
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 vFkokvFkokvFkokvFkok@@@@OR     

 ysM LVksjst cSVjh fdl Ádkj dh cSVjh gS\ ysM LVksjst cSVjh esa ,uksM rFkk dsFkksM ij gksus 

okyh] vkSj iw.kZ jklk;fud fØ;kvksa dks fyf[k,] tcfd /kkjk Áokfgr gks jgh gksA 

What type of battery is the lead storage battery? Write the anode and cathode 

reaction and the overall reaction in the lead storage battery when current is 

drawn from it. 

    

8. 'kksV~Ldh vkSj Ýsady nks"k ds chp varj crkb;sA ml ;kSfxd dk uke crkb, tks 'kksV~Ldh 

vkSj Ýsady nksuksa nks"kksa dks n’kkZrk gSA 

Difference between Schottky and Frenkel defect. Name the compound which 

shows both Schottky and Frenkel defect. 

    
¼2½¼2½¼2½¼2½    

 vFkokvFkokvFkokvFkok@@@@OR     

 fuEufyf[kr 'kCn dks mi;qDr mnkgj.k ds lkFk le>kb,&  

(i) F-dsanz    

(ii) QsjkseSXusfVT+e 

Explain the following terms with suitable example- 

(i) F-Centre   

(ii) Ferromagnetism 

    

9. fuEufyf[kr fØ;kvksa dks iw.kZ dhft;s& 

(i) Cu + H2SO4 ¼lkUnz½ → 

(ii) XeF4 + H2O → 

Complete the following reactions- 

(i) Cu + H2SO4 (Conc.) → 

(ii) XeF4 + H2O → 

¼2½¼2½¼2½¼2½    

10. ySaFksukWbM ladqpu D;k gS\ bldk dkj.k D;k dkj.k gS\ blds nks ifj.kke fyf[k,A 

What is Lanthanoid contraction? What is its cause? Write its two 

consequences. 

¼2½¼2½¼2½¼2½    

11. flYoj fcc fØLVy ds :i esa ifjoÆrr gksrk gS\ ;fn blds fdukjs dh yackbZ 4-077×10&8 

lseh- gS vkSj ?kuRo 10-5 xzke-lseh&3 gS] rks flYoj ds ijek.kq nzO;eku dh x.kuk djsaA 

Silver crystallises in fcc lattice. If edge length of the cell is 4.077×10-8 cm and 

density is 10.5 g cm-3, calculate the atomic mass of silver. 

    
¼2½¼2½¼2½¼2½    

12. vYdksgy cukus ds fy, ,Ydhu ds ,flM mRÁsfjr ty;kstu dh fØ;kfof/k dks le>kb,A 

Explain the mechanism of acid catalysed hydration of an alkene to form 

corresponding alcohol. 

¼2½¼2½¼2½¼2½    
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 HkkxHkkxHkkxHkkx    &l &l &l &l     
SECTION – C       

    

13. 14C ds jsfM;ks/kehZ {k; ds fy, v/kZ thou dky 5730 o"kZ gSA ydM+h ls cuh ,d iqjkrkfRod 
dykÑfr esa ,d thfor o`{k dk   dsoy 80% 14C ik;k x;kA uewus dh vk;q dk vuqeku 
yxk,aA 
The half-life for radioactive decay of 14C is 5730 years. An archaeological 

artifact containing wood had only 80% of the 14C found in a living tree. 

Estimate the age of the sample. 

    
    

¼3½¼3½¼3½¼3½    

 vFkokvFkokvFkokvFkok@@@@OR     

 fl) dhft;s fd fdlh ÁFke dksfV dh vfHkfØ;k ds 99-9% Hkkx ds iw.kZ gksus esa yxk le;] 

mldh v/kZ vk;q dk nl xquk gksrk gSA 

Prove that in a first order reaction, time required for completion of 99.9% is 10 

times of half-life (t1/2) of the reaction. 

    

14. vki fuEufyf[kr ds fy, dSls O;k[;k djsaxs& 

(i) laØe.k /kkrq,¡ ifjorZuh; vkWDlhdj.k voLFkk ÁnÆ’kr djrh gaSA 

(ii) laØe.k /kkrq,¡ feJ /kkrq cukrh gaSA 

(iii)  Mn2+/Mn  dk E0 eku _.kkRed tcfd Cu2+/Cu dk /kukRed gksrk gaSA 

How would you account for the following: 

(i) Transitional metals show variable oxidation states. 

(ii) Transitional metals form alloys. 

(iii) E0 value for Mn2+/Mn is negative whereas for Cu2+/Cu is positive. 

¼3½¼3½¼3½¼3½    

15. ¼v½ fuEu esa SN2 vfHkfØ;k fdlesa rsth ls gksxh vkSj D;ksa\ 

                    

¼c½ fuEufyf[kr ds fy, dkj.k nsa% 
 (i) Dyksjkscsathu esa C-Cl ckWUM dh yackbZ] CH3-Cl esa mifLFkr C-Cl ckWUM dh 

yackbZ ls de gksrh gSA 
 (ii) fxzXukMZ vfHkdeZd futZy fLFkfr esa rS;kj fd;k tkuk pkfg,A 
(a) Which would undergo SN2 reaction faster and why? 

                

(b) Give reason for the following: 

 (i) C-C l  bond length in chlorobenzene is shorter than C-C l  bond 

length in CH3-Cl. 

 (ii) Grignard reagent should be prepared under anhydrous condition. 

¼3½¼3½¼3½¼3½    

I and Cl

I and Cl
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16. fuEufyf[kr ’kCnksa dks le>kb,%& 

(i) fVaMy ÁHkko 

(ii) oS|qrd.klapyu  

(iii) isfIVdj.k 

Explain the following terms: 

(i) Tyndall Effect  

(ii) Electrophoresis   

(iii) Peptization 

¼3½¼3½¼3½¼3½    

17. fuEufyf[kr lsy ds fy, lsy vfHkfØ;k fyf[k, vkSj 298 K ij fo|qr okgd cy emf 

ifjdfyr dhft;sA 

Sn(s) | Sn2+ (0.050M) || H+(0.020 M) | H2(g) (1 bar) | Pt(s) 

(Given : E0 Sn2+/Sn = - 0.14V) 

Write the cell reaction and calculate the e.m.f  of the following cell at 298K: 

Sn (s) | Sn2+ (0.050M) || H+(0.020 M) | H2(g) (1 bar) | Pt(s) 

(Given : E0 Sn2+/Sn = - 0.14V) 

    

¼3½¼3½¼3½¼3½    

 vFkokvFkokvFkokvFkok@@@@OR     

 0-00241 M ,flfVd ,flM dh pkydrk 7-896×10&5 S cm-1 gSA bldh eksyj pkydrk dh 

x.kuk djsaA ;fn ,flfVd ,flM ds fy, λ0 m 390-5 S cm2 mol-1 gS] rks bldk i`FkDdj.k 

fLFkjkad D;k gS\ 

Conductivity of 0.00241 M acetic acid is 7.896 × 10-5 S cm-1. Calculate its 

molar conductivity. If λ0 m for acetic acid is 390.5 S cm2 mol-1, what is its 

dissociation constant? 

    

18. ¼v½ fuEufyf[kr esa lEefyr jklk;fud fØ;k fy[ksa% 

 (i) jhej VheSu fØ;k    

 (ii) dksYcs dh fØ;k 

¼c½ bFksukWy vkSj fQuksy ds chp varj djus ds fy, ljy jklk;fud ijh{k.k nsaA 

(a) Write the reaction involved in the following: 

 (i) Reimer Tiemann Reaction 

 (ii) Kolbe’s Reaction 

(b) Give simple chemical test to distinguish between ethanol and phenol. 

¼3½¼3½¼3½¼3½ 
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19. fuEufyf[kr cgqydksa ds ,dyd dk uke vkSj lajpuk fy[ksaA 

(i) cSdsykbV 

(ii) Vs¶ykWu  

(iii) ÁkÑfrd jcj 

Write the name and structure of the monomers of following polymers. 

(i) Bakelite  

(ii) Teflon  

(iii) Natural rubber 

¼3½¼3½¼3½¼3½    

20. fuEufyf[kr dh Hkwfedk fy[ksa% 

(i) fudy dh 'kqf) esa CO dk 

(ii) dkWij ds fu"d"kZ.k esa flfydk dk 

(iii) ,Y;wehfu;e ds fu"d"kZ.k esa Øk;ksykbV dk 

Write the role of the following: 

(i) CO in the purification of Nickel 

(ii) Silica in the extraction of Copper 

(iii) Cryolite in the extraction of Aluminium 

¼3½¼3½¼3½¼3½ 

21. mi;qDr mnkgj.k ds lkFk fuEufyf[kr dks ifjHkkf"kr djsa& 

(i) ,aVhlsfIVd 

(ii) O;kid LisDVªe ,aVhck;ksfVd  

(iii) [kk| laj{kd 

Define the following with suitable example: 

(i) Antiseptic 

(ii) Broad spectrum Antibiotic 

(iii) Food Preservatives 

¼3½¼3½¼3½¼3½ 

 vFkokvFkokvFkokvFkok@@@@OR     
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 fuEufyf[kr Á’uksa ds mÙkj nks & 

(i) ,LikVsZe dk mi;ksx BaMs Hkkstu vkSj is; rd lhfer D;ksa gS\ 

(ii) dBksj ikuh esa lkcqu D;ksa ugha dke djrk gS\ 

(iii) MsVkWy ds eq[; ?kVd D;k gaS\ 

Answer the following questions: 

(i) Why is the use of aspartame limited to cold food and drinks? 

(ii) Why do soap not work with hard water? 

(iii) What are the main constituents of Dettol? 

    

22. ¼v½ fØLVy {ks= fl)kar ds vk/kkj ij d4 vk;u ds fy, bysDVªkWfud foU;kl fy[kks ;fn  

 ¿
) > P gksA 

¼c½ lg;kstdrk ca/k fl)kar ds vk/kkj ij Li"V djsa fd			�Ni(CN)���� vk;u oxZ 

 leryh; lajpuk ds lkFk Áfrpqacdh; gS vkSj �NiCl���� vk;u prq"Qydh; T;kfefr 

 ds lkFk vuqpqacdh; gSA 

(a) On the basis of crystal field theory write the electronic configuration for 

 d4 ion if  ¿
) > P  

(b) Explain on the basis of valence bond theory that �Ni(CN)��
��ion with 

 square planar structure is diamagnetic and the  �NiCl��
��  ion with 

 tetrahedral geometry is paramagnetic. 

    

¼3½¼3½¼3½¼3½ 

23. fuEu ds fy, dkj.k nhft;s% 

(i) ÁkFkfed ,ehu esa r`rh; ,ehu dh rqyuk ls vf/kd DoFkukad D;ksa gksrk gS\ 

(ii) ,fyQSfVd ,ehu ,sjksesfVd ,ehu dh rqyuk esa vf/kd {kkjdh; D;ksa gksrs gSa\ 

(iii) ,uhyhu ÝhMy & Øk¶V ÁfrfØ;k ugha djrk gSA D;ksa\ 

Give reasons for the following: 

(i) Why do primary amines have higher boiling point than tertiary amines? 

(ii) Why are aliphatic amines stronger bases than aromatic amines?  

(iii) Aniline does not undergo Friedel-Crafts reaction. Why? 

¼3½¼3½¼3½¼3½ 
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 vFkokvFkokvFkokvFkok@@@@OR     

 ¼v½ laf{kIr ys[k fyf[k,& 

 (i) dkÆcy ,ehu vfHkfØ;k  

 (ii) gkWQeku czksekekbZM fo?kVu 

¼c½ veksfu;k vkSj ,fFky ,ehu esa dkSu vf/kd {kkjh; gS vkSj D;ksaa\ 

(a) Write short notes on : 

 (i) Carbyl Amine reaction  

 (ii) Hoffmann Bromamide degradation 

(b) In ammonia and ethyl amine which is more basic and why?  

    

24. ¼v½ vko’;d vkSj xSj&vko’;d vehuks ,flM D;k gSa\ ÁR;sd dk ,d mnkgj.k nhft,A  

¼c½ Mh,u, ds nks LVSaªM leku ugha gSa] cfYd iwjd gSaA le>kb,A 

(a) What are the essential and Non-essential amino acids? Give one 

 example of each. 

(b) The two strands of DNA are not identical but complementary. Explain. 

¼3½¼3½¼3½¼3½    

 HkkxHkkxHkkxHkkx    &n &n &n &n     

SECTION - D 

    

25. (a) gsujh dk fu;e crk,¡A blds nks egRoiw.kZ vuqÁ;ksxksa dk mYys[k djsaA 

(b) ikuh esa xUus dh phuh ds 5 % ?kksy ¼nzO;eku }kjk½ dk fgekad 271K ij gksrk gSA 

 ikuh esa 5% Xywdkst ds fgekad dh x.kuk djsa ;fn 'kq) ty dk fgekad 273.15 K 

 gSA 

(a) State Henry’s law. Mention its two important applications. 

(b) A 5% solution (by mass) of cane sugar in water has freezing point of 

 271K. Calculate the freezing point of 5% glucose in water if freezing point 

 of pure water is 273.15 K. 

¼5½¼5½¼5½¼5½    

 vFkokvFkokvFkokvFkok@@@@OR        
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 ¼v½ fuEufyf[kr 'kCnksa dks ifjHkkf"kr djsa% 

 (i) eksyyrk  

 (ii) ijklj.kh; nkc 

¼c½ ,d xSj&ok"Ik’khy foys; ¼eksyj nzO;eku 40 xzke eksy &1 ½ ds nzO;eku dh x.kuk djsa] 

 ftls 114 g vksDVsu esa foys; fd;k tkrk gS] rkfd blds ok"i nkc dks 80% rd de  

 fd;k tk ldsA 

(a) Define the following terms: 

 (i) Molality  

 (ii) Osmotic Pressure 

(b) Calculate the mass of a non-volatile solute (molar mass 40g mol-1) 

 which should be dissolved in 114g octane to reduce its vapour pressure 

 to 80%.  

    

26. ¼v½ fuEufyf[kr ds dkj.k crk,a% 

 (i) F2 esa Cl2 dh rqyuk esa de ca/ku fo?kVu ,aFksYih gksrh gSA 

 (ii) H2S dk DoFkukad H2O dh rqyuk esa de gksrk gSA 

¼c½ fuEufyf[kr dh lajpuk cuk,a% 

 (i) XeF4    

 (ii) BrF3 

¼l½ vEyh; 'kfDr ds c<+rs Øe esa fuEufyf[kr dks O;ofLFkr djsaA 

 HBr, Hl, HCl, HF 

(a) Account for the following: 

 (i) F2 has lower bond dissociation enthalpy than Cl2 

 (ii) H2S has lower boiling point than H2O. 

(b) Draw the structures of the following: 

 (i) XeF4    

 (ii) BrF3 

(c) Arrange the following in the increasing order of acidic strength: 

 HBr, HI, HCl, HF 

¼5½¼5½¼5½¼5½    

 vFkokvFkokvFkokvFkok@@@@OR        
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 ¼v½ fuEufyf[kr ds fy, dkj.k nsa% 

 (i) vkstksu v.kq esa nks O-O ca/ku dh yackbZ cjkcj gSA 

 (ii) F2 lcls etcwr vkWDlhdkjd ¼mipk;d½ gSA 

¼c½ fuEufyf[kr dh lajpuk cuk,a% 

 (i) H3PO3  

 (ii) XeF6  

¼l½ fuEu dks ca/k i`FkDdj.k ,aFksYih ds c<+rs Øe esa O;ofLFkr djsa& 

 NH3, BiH3, AsH3, PH3 

(a) Give reasons for the following: 

 (i) The two O-O bond length in Ozone molecule are equal. 

 (ii) F2 is the strongest oxidizing agent. 

(b) Draw the structures of the following: 

 (i) H3PO3  

 (ii) XeF6 

(c) Arrange the following in the increasing bond dissociation enthalpy: 

 NH3, BiH3, AsH3, PH3 

    

27. ¼v½ fuEufyf[kr dks dSls ifjoÆrr djsaxs& 

  (i) ,fFky DyksjkbM ls ,Fkuky 

 (ii) VkywbZu ls csatsYMhgk,M  

 (iii) ,Fkuksbd vEy ls esFkkukekbu 

¼c½ fuEufyf[kr esas dSls Hksn djsaxs&       

  (i) Áksisuy vkSj Áksisuksu 

 (ii) ,Fksuksbd vEy vkSj ,fFky ,Fkuks,V 

(a) How are the following conversions carried out? 

 (i) Ethyl chloride to Ethanal 

 (ii) Toluene to Benzaldehyde 

 (iii) Ethanoic acid to Methanamine 

(b) How will you distinguish the following: 

 (i) Propanal and Propanone 

 (ii) Ethanoic acid and Ethyl Ethanoate. 

¼5½¼5½¼5½¼5½    
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 vFkokvFkokvFkokvFkok@@@@OR     

 ¼v½ fuEufyf[kr vfHkfØ;k dks iwjk djsa& 

         

   

  

¼c½ fuEu dk dkj.k nsa % 

 (i) ¶yksjks,lsfVd ,flM dk pKa Dyksjks,lsfVd ,flM dh rqyuk esa de D;ksa gSa\ 

 (ii) dkcksZfDlfyd vEy fQuksy dh rqyuk esa vf/kd vEyh; gSA 

    

 (a) Complete the following reactions- 

  

  

    

(b) Give reasons: 

 (i) Why pKa of Fluoroacetic acid is lower than that of Chloroacetic 

acid. 

 (ii) Carboxylic acid is stronger acid than phenol. 

    

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------    

 

CH  ≡C-CH3

+2 Hg

42SOH
)iii(

32CHCH

4KMnO

heat ,OHK
)ii(

NaOH Conc.+ CHO(i)

CH  ≡C-CH3

+2 Hg

42SOH
)iii(

32CHCH

4KMnO

heat ,OHK
)ii(

NaOH Conc.+ CHO(i)
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• Ñi;k tk¡p dj ysa fd bl iz’u&i= esa eqfær ì"B 1111 ls 12121212    gSaA    

• iz'u&i= esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk= mŸkj&iqfLrdk ds eq[; i`"B ij fy[ksaA    

• Ñi;k tk¡p dj ysa fd bl iz’u&i= esa 22227777 iz’u gSaA     

• Ñi;k iz’u dk mŸkj fy[kuk 'kq: djus ls igys] iz’u dk Øekad vo’; fy[ksaA    

• bl iz’u&i= dks i<+us ds fy, 15 feuV dk le; fn;k x;k gSA     

• Please check that this question paper contains 1 to 12 printed pages. 
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• Please check that this question paper contains 27 questions. 
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lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k &&&&    

  (i) iz’u i= esa pkj [k.Mksa esa 27 iz’u fn, x, gSaA lHkh iz’u vfuok;Z gaSA 

  (ii) [k.M&v esa iz’u la[;k 1 ls 5 vfr y?kq& mÙkjh; iz’u gSa] izR;sd iz’u 1 vad dk gSA 

  (iii) [k.M&c esa iz’u la[;k 6 ls 12 y?kq&mÙkjh; iz’u izdkj I ds gSa] izR;sd iz’u 2 vadksa 

 dk gSA 

  (iv) [k.M&l esa iz’u la[;k 13 ls 24 y?kq&mÙkjh; iz’u izdkj II ds gaS] izR;sd iz’u 3 vadksa dk 

 gSA 

  (v) [k.M &n esa iz’u la[;k 25 ls 27 nh?kZ&mÙkjh; iz’u gSa] izR;sd iz’u 5 vadksa dk gSA 

  (vi) iz’u i= esa lexz ij dksbZ fodYi ugha gS] fQj Hkh 1 vad okys nks iz’uksa esa] 2 vadksa okys 

 nks iz’uksa esa] 3 vadksa okys pkj iz’uksa esa vkSj ikap vadksa okys lHkh rhu iz’uksa esa Hkhrjh p;u 

 fodYi fn, x, gaSA izR;sd ijh{kkFkhZ dks ,sls iz’uksa ds nks fodYiksa esa ls dksbZ ,d iz’u gy 

 djuk gSA 

  (vii) vko’;drkuqlkj] fp=ksa dk js[ku lkQ&lqFkjk ,oa ;Fkksfpr yscy gksuk pkfg,A  

General Instructions - 

  (i) There are total 27 questions and four sections in the question paper. All 

 questions are compulsory. 

  (ii) Section A contains question numbers 1 to 5, very short answer type questions 

 of one mark each. 

  (iii) Section B contains question numbers 6 to 12, short answer type-I questions of 

 two marks each. 

  (iv) Section C contains question numbers 13 to 24, short answer type-II questions 

 of three marks each. 

  (v) Section D contains question numbers 25 to 27, long answer type questions of 

 five marks each. 

  (vi) There is no overall choices in the question paper, however, an internal choice 

 is provided in two questions of one mark, two questions of two marks, four 

 question of three marks and all the three questions of five marks. In these 

 questions, an examinee is to attempt any one of the two given alternatives. 

  (vii) Wherever necessary, the diagram drawn should be neat and properly labelled. 
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 [k.M[k.M[k.M[k.M    & & & & vvvv    
SECTION - A 

 

1. VuZj flaMªkse dk Øksekslkseh; fodkj D;k gS\ crk,aA ¼1½¼1½¼1½¼1½    

  State the chromosomal defect in individuals with Turner’s syndrome.     

2. lqdsfUnzd esa ml ,at+kbe dk uke crkb, tks hnRNA dk vuqys[ku ¼VªkUlfØIlu½ djrk gSA ¼1½¼1½¼1½¼1½    

 Name the enzyme that transcribes hnRNA in eukaryotes.     

3. eksVj xkfM+;ks ds bZa/ku esa Mht+y ds LFkku ij CNG dks ojh;rk fn, tkus ds nks ykHk crkb,A ¼1½¼1½¼1½¼1½    

 Mention two advantages for preferring CNG over diesel as an automobile fuel.     

4. ,sfil bafMdk ds vkfFkZd egRo dh ppkZ dhft,A ¼1½¼1½¼1½¼1½    
 Mention the economic value of Apis indica.     
 vFkokvFkokvFkokvFkok@@@@OR     

 nks jksxksa ds uke fyf[k, ftudk izlkj ,Mht+ ePNjksa ds mUewyu ds }kjk fu;af=r fd;k tk 
ldrk gSA 

    

 Name two diseases whose spread can be controlled by the eradication of 

Aedes mosquitoes. 
    

5. 
 

 
 

¼1½¼1½¼1½¼1½    

 ;gka fn, x, fp= dks igpkfu, rFkk ml dkf;d Hkkx dh ppkZ dhft, tks mls tuu esa 
enn djrk gSA 

    

 
 

                         
 

    

 Identify the picture and mention the vegetative part that helps it to propagate.     
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 [k.M[k.M[k.M[k.M    & & & & cccc    

SECTION - B 

    

6. vkids jlksbZ&m?kku esa eVj ds ,d ,dy ikS/ks esa thou{ke chtksa dh Q+fy;k¡ mxrh gSa] fdarq 
iihrs ds ,dy ikS/ksa esa ,slk ugha gksrkA O;k[;k dhft,A 

    
¼2½¼2½¼2½¼2½    

 A single pea plant in your kitchen garden produces pods with viable seeds, but 

the individual papaya plant does not. Explain. 
    

7. 'kdjdan vkSj vkyw ¼V~;wcj½ leo`fÙk vax gSa vFkok letkr vax\ vius mÙkj dh iqf"V ds fy, 
dkj.k crkb,A 

¼2½¼2½¼2½¼2½    

 Is sweet potato analogous or homologous to potato tuber? Give reasons to 

support your answer. 
    

8. fuEufyf[kr esa ls izR;sd dk ,d&,d vuqiz;ksx crkb,% ¼2½¼2½¼2½¼2½    
 ¼v½ fuf"Ø; izfrj{khdj.k  ¼c½ izfrfgLVkfeu     
 ¼l½ uonqX/k    ¼n½ lkbVksdkbu & jksd     
 Mention one application for each of the following:     
 (a) Passive immunization (b) Antihistamine     
 (c) Colostrum    (d) Cytokine-barrier     
 vFkokvFkokvFkokvFkok@@@@OR     

 fcuk&Qyhnkj LFkyh; Q+ly dks mxkus ds fy, feÍh esa ukbVªkstu dh ek=k esa lq/kkj gsrq 
vkidh lykg ek¡xh xbZ gSA 

    

 ¼v½ ,sls nks lw{ethoksa dh vuq’kalk dhft, tks feÍh esa ukbVªkstu dk lao/kZu dj ldsaA     
 ¼c½ Qyhnkj Q+lyksa dks feÍh ds bl izdkj ds lao/kZu dh vko’;drk D;ksa ugha gksrh\     
 Your advice is sought to improve the nitrogen content of the soil to be used for 

cultivation of a non-leguminous terrestrial crop. 
    

 (a) Recommend two microbes that can enrich the soil with nitrogen.     
 (b) Why do leguminous crops not require such enrichment of the soil?     
9. cSD;wyksok;jl ds thul dk uke crkb,A bUgsa mÙke tSofu;a=d dkjd D;ksa ekuk tkrk gS\ ¼2½¼2½¼2½¼2½    
 Name a genus of baculovirus. Why are they considered good bio control 

agents? 
    

10. PCR esa Taq ikWyhejst+ dks D;ksa ojh;rk nh tkrh gS\ ¼2½¼2½¼2½¼2½    
 Why is Taq polymerase preferred in PCR?     
11. tSo izkS|ksfxdh ds iz;ksxksa esa dksf’kdk dks ^^l{ke^^ cuk;k tkrk gSA ,slk djus esa dSfYl;e 

vk;u fdl izdkj lgk;rk djrk gS\ 
¼2½¼2½¼2½¼2½    

 Why must a cell be made ‘competent’ in biotechnology experiments? How does 

calcium ion help in doing so? 
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12. 
 

 
 

    

 ¼v½ CFC dk iwjk uke fyf[k,A ¼2½¼2½¼2½¼2½    
 ¼c½ ;g vkstksu dks fdl izdkj vkWDlhtu esa fuEuhÑr dj nsrk gS\     
 

 

 
 

    

 (a) Expand CFC.     
 (b) How does it reduce ozone to oxygen?      
 vFkokvFkokvFkokvFkok@@@@OR     

 la-jk- vesfjdk ds vdkZVk] dSfyQksfuZ;k] ds ^vdkZVk dPN ds fe=^ uked ukxfjd lewg us 
,dhÑr vif’k"V ty mipkj }kjk dPN Hkwfe ds ty dh xq.koÙkk lq/kkjus esa fdl izdkj 
dh lgk;rk dh\ pkj pj.kksa esa bldh O;k[;k dhft,A    

    

 How did a citizen group called Friends of Arcata Marsh, Arcata, California, 

USA, and help to improve water quality of the marshland using Integrated 

Waste Water Treatment? Explain in four steps. 

    

 [k.M[k.M[k.M[k.M    & & & & llll    
SECTION - C 

    

13. ¼v½ ml dkcZfud inkFkZ dk uke crkb, tks ijkx&d.k ds ckg`;pksy dk fuekZ.k djrk 
 gSA ;g inkFkZ ijkx&d.k ds fy, fdl izdkj mi;ksxh gSa\ 

¼3½¼3½¼3½¼3½    

 ¼c½   gkykafd ;g ns[kk tkrk gS fd ;g inkFkZ ijkx&d.k ds pkjksa rjQ ,d lrr ijr  
     ugha cukrkA dkj.k crkb,A 

    

 ¼l½ ^ijkx cSad^ fdl izdkj mi;ksxh gksrh gS\     
 (a) Name the organic material exine of the pollen grain is made up of. How is 

 this material advantageous to pollen grain? 
    

 (b) Still it is observed that it does not form a continuous layer around the 

 pollen grain. Give reason. 
    

 (c) How are ‘pollen banks’ useful?     
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14. 
 

 

¼3½¼3½¼3½¼3½    

 mijksDr vkjs[k esa L=h ds tuu&ra= dk ,d Hkkx n’kkZ;k x;k gSA     

 ¼v½ mu ;qXed dksf’kdkvksa dk uke crkb, ftUgsa gky gh tUeh cPph esa ls fudky fy, 

 x, Hkkx ‘X’ ls izkIr fd;k x;k gksxkA 

    

 ¼c½ ‘Y' Hkkx dk uke crkb, rFkk mldk dk;Z Hkh crkb,A      

 ¼l½ ‘Z' Hkkx dk uke crkb, rFkk ;gk¡ gksus okyh ?kVukvksa dh ppkZ dhft,A     

 
 

 

    

 This diagram above shows a part of the human female reproductive system.     

 (a) Name the gamete cells that would be present in ‘X’ if taken from a new-

 born baby. 

    

 (b) Name ‘Y’ and write its function.     

 (c) Name ‘Z’ and write the events that place here.     
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 vFkokvFkokvFkokvFkok@@@@OR     

 ¼v½ mu leL;kvksa dh ppkZ dhft, ftudk lek/kku tuu ,oa f’k’kq&LokLF; dY;k.k 

 dk;ZØe ds }kjk fd;k tkrk gSA 

    

 ¼c½ mYoos/ku D;k gksrk gS\ bl ij oS/kkfud izfrca/k D;ksa yxk;k x;k gS\     

 (a) Mention the problems that are taken care of by Reproduction and Child 

 Health Care programme. 

    

 (b) What is amniocentesis and why there is a statutory ban on it?     

15. ijh{kkFkZ ØkWl D;k gksrk gS\ blls ikS/ks dh fo"ke;qXetrk dk irk fu’p; :Ik ls fdl izdkj 

yxk;k tk ldrk gS\ 

¼3½¼3½¼3½¼3½    

 What is a test cross? How can it decipher the heterozygosity of a plant?     

 vFkokvFkokvFkokvFkok@@@@OR     

 ¼v½ ekuo thukse ifj;kstuk esa fufgr nks iz.kkfy;ksa dh lwph cukb,A crkb, fd mUgsa 

 fdl izdkj iz;qDr fd;k x;k FkkA    

    

 ¼c½ ‘YAC’ dk iwjk uke crkb, vkSj mYys[k dhft, fd mls fdlds fy, bLrseky fd;k 

 x;k FkkA 

    

 (a)  List the two methodologies which were involved in human genome 

 project. Mention how they were used. 

    

 (b) Expand ‘YAC’ and mention what it used for.     

16. ¼v½ DNA ds VsEiysV jTtqd vkSj dksfMax jTtqd esa varj crkb,A ¼3½¼3½¼3½¼3½    

 ¼c½ DNA ds izfrÑrh;u ds fy, ÅtkZ ds L=ksr dk uke crkb,A     

 (a) Differentiate between a template strand and coding strand of DNA.     

 (b) Name the source of energy for the replication of DNA.     

 vFkokvFkokvFkokvFkok@@@@OR        

 vkj-,u-,- v.kq dh vis{kk Mh-,u-,- v.kq dks ,d vPNk vkuqokaf’kd inkFkZ D;ksa ekuk x;k gS\     

 Why is DNA molecule considered as a better hereditary material than RNA 

molecule? 
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17. baXyS.M esa 'osr vkSj dkys jax ds 'kyHkksa ds izkÑfr oj.k esa vkS|ksxhdj.k dh D;k Hkwfedk jgh\ ¼3½¼3½¼3½¼3½ 

 How did industrialization play a role in Natural Selection of light and dark 

coloured moth in England? 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 fodkl ds lanHkZ esa mM+u fxygjh vkSj mM+u QSysUtj ds chp lekurk dk D;k vFkZ le>rs 

gaS\ 

    

 What do you infer from the resemblance between flying squirrel and flying 

phalanger with reference to their evolution? 

    

18. ¼v½ ;g lkekU; :Ik ls ns[kk tkrk gS fd ftu cPpksa dks muds cpiu esa NksVh ekrk dk 

 laØe.k gks tkrk gS] gks ldrk gS fd mudh o;LdkoLFkk esa ;g jksx ugha gksA fdlh 

 O;fDr esa ,slh izfrj{kk ds vk/kkj dk dkj.k crkrs gq, O;k[;k dhft,A bl izdkj ds 

 izfrj{kk dk uke crkb,A 

¼3½¼3½¼3½¼3½ 

 ¼c½ baVjQsjkWu D;k gksrs gSa\ mudh Hkwfedk crkb,A     

 (a) It is generally observed that the children who had suffered from chicken-

 pox in their childhood may not contract the same disease in their 

 adulthood. Explain giving reasons the basis of such an immunity in an 

 individual. Name this kind of immunity. 

    

 (b) What are interferons? Mention their role.     

19. ¼v½ dksbZ fdlku viuh xés dh Q+ly esa dkSu&ls okafNr y{k.k ns[kuk pkgrk gS\ ¼3½¼3½¼3½¼3½ 

 ¼c½ okafNr y{k.kksa okyk xék mxkus esa ikni iztuu rduhdksa us mÙkjh Hkkjr ds fdlkuksa 

 dh fdl izdkj enn dh\ 

    

 (a) Write the desirable characters a farmer looks for in his sugarcane crop.     

 (b) How did the plant breeding techniques help north Indian farmers to 

 develop cane with desired characters? 
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20. Okkfgr ey ds f}rh;d mipkj dks tSfod mipkj Hkh dgrs gSaA bl dFku dh iqf"V dhft, 

rFkk izfØ;k dh O;k[;k dhft,A 

¼3½¼3½¼3½¼3½    

 Secondary treatment of the sewage is also called Biological treatment. Justify 

this statement and explain the process. 

    

21. ¼v½ ck;ksfj,sDVj dk fodkl tSo&izkS|ksfxdh esa fdl izdkj lgk;d gqvk\ ¼3½¼3½¼3½¼3½    

 ¼c½ lokZf/kd mi;ksx esa vkus okys ck;ksfj,sDVj dk uke fy[kdj mldh dk;Zfof/k dk o.kZu 

 dhft,A 

    

 (a) How has the development of bioreactor helped in biotechnology?     

 (b) Name the most commonly used bioreactor and describe its working.     

 vFkokvFkokvFkokvFkok@@@@OR     

 iqu;ksZxt Mh-,u-,- izkS|ksfxdh esa fuEufyf[kr dh Hkwfedk dh O;k[;k izR;sd ds ,d&,d 

mnkgj.k dh lgk;rk ls dhft,% 

    

 ¼v½ izfrca/ku ,atkbe     

 ¼c½ IykfTeM     

 Explain the roles of the following with the help of an example each in 

recombinant DNA technology: 

    

 (a) Restriction Enzymes     

 (b) Plasmids     

22. ¼v½ ijthoh rarq D;k gS\ ¼3½¼3½¼3½¼3½    

 ¼c½ orZeku esa ik, tkus okys lHkh ijthoh tarqvksa esa ls lokZf/kd la[;k esa ik, tkus okys 

 ijthoh tarq dk uke fyf[k,A 

    

 ¼l½ mu rhu mís’;ksa dk mYys[k dhft, ftuds fy, bu ijthoh tarqvksa dk mRiknu fd;k 

 tkrk gSA 

    

 (a) What are transgenic animals?     

 (b) Name the transgenic animal having the largest number amongst all the 

 existing transgenic animals. 

    

 (c) Mention any three purposes for which these animals are produced.     
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23. tSo&fofo/krk ds cká LFkkus laj{k.k dh O;k[;k dhft,A LoLFkkus ¼buflVw½ laj{k.k blls fdl 

izdkj fHké gS\ 

¼3½¼3½¼3½¼3½    

 Explain the ‘Ex-situ conservation’ of Biodiversity. How is the in-situ 

conservation different from it? 

    

24. mPp raxqrk okys fgeky;h {ks= esa jgus okys vkfnokfl;ksa dks lk¡l ysus esa D;ksa fnDdr gksrh 

gS\ ,slh fLFkfr esa thfor cuss jgus ds fy, fdl izdkj vuqdwfyr gks tkrs gaS\ 

¼3½¼3½¼3½¼3½    

 Why do tribes who live in high altitude of Himalayas experience discomfort in 

respiration? How do they get adapted survive in such a situation? 

    

 [k.M[k.M[k.M[k.M    & & & & nnnn    
SECTION - D 

    

25. ¼v½ ,saft;ksLieksZa esa ekbØksLiksjkstsusfll dh izfØ;k dk Øekxr o.kZu dhft,A ¼5½¼5½¼5½¼5½    

 ¼c½ nks dksf’kdk okyh vafre lajpuk dk ,d ukekafdr vkjs[k cukb,A     

 (a) Describe in sequence the process of microsporogenesis in angiosperms.     

 (b) Draw a labelled diagram of a two celled final structure formed.     

 vFkokvFkokvFkokvFkok@@@@OR     

 ¼v½ ekuo dh 'kqØtud ufydk dk dkVh; n`̀’; cukb,A bl vkjs[k esa fuEufyf[kr 

 lajpukvksa dk ukekadu dhft, rFkk muds dk;Z crkb,A 

 lVksZyh dksf’kdk] 'kqØk.kqtuuh rFkk ysfMx dksf’kdkA 

    

 ¼c½ 'kqØk.kqtuu dh izfØ;k esa fiV~;wVjh vkSj fyax gkWeksZuksa dh Hkwfedk dh O;k[;k dhft,A     

 (a) Draw a sectional view of a seminiferous tubule of human. Label sertoli 

 cell, spermatagonia and leydig cell on it and write their functions. 

    

 (b) Explain the role of pituitary and sex hormones in the process of 

 spermatogenesis. 

    

26. izfrÑfr f}’kk[k dh lgk;rk ls DNA izfrÑfr;u dh izfØ;k dh O;k[;k dhft,A ¼5½¼5½¼5½¼5½    

 Explain the process of DNA replication with the help of replicating fork.     
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 vFkokvFkokvFkokvFkok@@@@OR     

 ¼v½ ,d le;qXeth yacs vkSj xksy chtksa okys rFkk ,d ckSus vkSj >qjhZnkj chtksa okys m|ku 

 eVj ds ikS/kksa ds cht f}ladj ladj.k djk;k x;kA 

 (i) bl ladj.k ls izkIr F1 larfr ds QhuksVkbi vkSj thuksVkbi ds ckjs esa fyf[k,A 

 (ii) F1 larfr }kjk cuus okys fofHkUu izdkj ds ;qXed crkb,A 

 (iii) bl ladj.k ls izkIr F2 ih<+h ds Q+huksVkbiksa vkSj mlds vuqikrksa dh ppkZ dhft, 

vkSj lkFk gh es.My }kjk nh x;h O;k[;k Hkh fyf[k,A 

    

 ¼c½ ekWxZu }kjk MªkslksfQ+yk esa fd, x, rFkk esaMy }kjk eVj ds ikS/kksa esa fd, x, f}ladj 

 ladj.kksa ds F2 larfr ds izs{k.kksa esa D;k varj Fks\ dkj.k crkrs gq, O;k[;k dhft,A 

    

 (a) Dihybrid cross between two garden pea plant one homozygous tall with 

 round seeds and the other dwarf with wrinkled seeds was carried. 

 (i) Write the genotype and phenotype of the F1 progeny obtained from 

  this cross. 

 (ii) Give the different types of gametes of the F1 progeny. 

 (iii) Write the phenotypes and its ratios of the F2 generation obtained in 

  this cross along with the explanation provided by Mendel. 

    

 (b) How were the observations of F2 progeny of dihybrid crosses in 

 Drosophila by Morgan different from that of Mendel carried in Pea plants? 

 Explain giving reasons. 
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27. ¼v½ mu nks o`f) ekWMyksa ds uke crkb, tks lef"V òf) dk fu:i.k djrs gS] rFkk bu 

 ekWMyksa }kjk Øe’k% fu:fir o`f) oØksa dk vkjs[k cukb,A 

¼5½¼5½¼5½¼5½    

 ¼c½ bu oØksa dh vkÑfr esa vkus okys varj dk vk/kkj crkb,A     

 ¼l½ vkt ekuo tula[;k o`f) dk fu:i.k mijksDr nks oØksa esa ls dkSu&ls oØ }kjk gksrk 

 gS\ vki D;k lksprs gSa fd D;k ;g oØ yach vof/k rd cuk jg ldrk gS\ vius mÙkj 

 ds leFkZu esa dkj.k crkb,A 

    

 (a) Name the two growth models that represent population growth and draw 

 the respective growth curves they represent. 

    

 (b) State the basis for the difference in the shape of these curves.     

 (c) Which one of the curves represent the human population growth at 

 present? Do you think such a curve is sustainable? Give reason in support 

 of your answer. 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 ¼v½ NksVs&ls rkykc ds mnkgj.k dh lgk;rk ls O;k[;k dhft, fd ifjra= ds pkj ?kVd 

 ,d bdkbZ dh Hkkafr dSls dk;Z djrs gSa\ 

    

 ¼c½ rkykc esa ik;h tkus okyh [kk|&Jà[kyk dh fdLe dk uke fyf[k,A     

 (a)   Taking an example of a small pond, explain how the four components of 

        an ecosystem function as a unit. 

    

 (b) Name the type of food chain that exists in a pond.     

-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------- 
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lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k &&&&    

  (i) ;g iz’u & i= nks [k.Mksa esa foHkDr gS & d vkSj [kA 

  (ii) [k.M d ,oa [k nksuksa gh lHkh ds fy, vfuok;Z gSA   

  (iii) fdlh iz’u ds lHkh [k.Mksa ds mŸkj ,d gh LFkku ij fy[ksa tkus pkfg,A 

General Instructions - 

  (i) This question paper contains two parts – A and B. 

  (ii) All parts are compulsory for all.  

  (iii) All parts of the question should be attempted at one place. 
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 [k.M[k.M[k.M[k.M    & & & & d@d@d@d@ PART - A    

vykHkdkjh laxBuksa] lk>snkjh Qeks± rFkk dEifu;ksa ds fy, ys[kkaduvykHkdkjh laxBuksa] lk>snkjh Qeks± rFkk dEifu;ksa ds fy, ys[kkaduvykHkdkjh laxBuksa] lk>snkjh Qeks± rFkk dEifu;ksa ds fy, ys[kkaduvykHkdkjh laxBuksa] lk>snkjh Qeks± rFkk dEifu;ksa ds fy, ys[kkadu    

Accounting for Not-for-Profit Organisations,  

Partnership Firms & Companies  

 

 

1. uhps nh xbZ enksa dks ,d xSj ykHkdkjh laLFkk ds foÙkh; fooj.kksa esa fdl rjg iznf’kZr fd;k 

tk,xk % 

¼v½ VwukZesUV fuf/k  &  80]000 `  

¼c½ VwukZesUV O;;   &  14]000 ` 

How are the following items presented in financial statements of a Not – for – 

Profit Organisation:  

(a) Tournament Fund `80,000   

(b) Tournament Expenses `14,000 

    

¼1½¼1½¼1½¼1½    

 vFkokvFkokvFkokvFkok@@@@OR     

 ^thou lnL;rk 'kqYd^ dk D;k vFkZ gS\  

What do you mean by ‘Life Membership Fee’?  

    

2. ,’o;kZ us izR;sd eghus ds izFke fnol 5000`@&  QeZ ls vius futh mi;ksx gsrq fudkysA 

vkgj.k ij 12 izfr’kr okf"kZd C;kt yxkuk gSA ,’o;kZ ds vkgj.k ij C;kt dh x.kuk dhft,A  

Aishwarya withdrawn `5,000/- per month from the firm for her personal use on 

the first day of each month. Interest on drawing is calculated @12% p.a. 

Calculate amount of interest on drawings.   

    

¼1½¼1½¼1½¼1½    
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3. X vkSj Y us fnukad 01-04-2016 dks ,d lk>snkjh O;olk; dh LFkkiuk dhA fnukad 01-01-2017 

dks mUgksaus Z uked u;s O;fDr dks 1@6 Hkkx ds fy, lk>snkjh esa izfo"V fd;k ftls og X 

vkSj Y ls cjkcj xzg.k djrk gSA X ,Y vkSj  Z ds u;s ykHk foHkktu vuqikr 3 % 2 % 1 gSaaA 

lk>snkjh cukus dh LFkkiuk ds le; X vkSj Y ds ykHk foHkktu vuqikr dh x.kuk djsaA 

X and Y entered into partnership on 01.04.2016. On 01.01.2017 they admitted Z 

as a new partner for 1/6th share in the profits which he acquired equally from X 

and Y. The new profit sharing ratio of X, Y and Z was 3 : 2 : 1. Calculate the profit 

sharing ratio of X and Y at the time of forming the partnership.  

    

    

    

    

¼1½¼1½¼1½¼1½    

4. lk>snkjh fo?kVu ds le; lEifÙk;ksa ds foØ; ls izkIr /kujkf’k dk mi;ksx loZizFke fdls 

Hkqxrku djus ds fy, fd;k tk,xk\  

On dissolution of a firm, out of the proceeds received from the sale of assets who 

will be paid first of all?  

    

¼1½¼1½¼1½¼1½    

 vFkokvFkokvFkokvFkok@@@@OR     

 iquewZY;kadu [kkrs dh izÑfr crkb;sA  

State the nature of Revaluation Account.  

 

5. ;fn 5]00]000 ` ds 7% _.ki=ksa dks fuxZeu udn ds vfrfjDr vU; izfrQy gsrq 6]00]000` 

ds 8% _.ki=ksa dks fuxZeu laikf’Zod izfrHkwfr ds :i esa o 7]00]000` ds 9% _.ki=ksa dk 

fuxZeu udn gsrq fd;k x;k gks] rks Ng ekg ds fy, vkadfyr _.ki=ksa ds C;kt dh x.kuk 

dhft,A   

If `5,00,000, 7% debentures are issued for consideration other than Cash; 

`6,00,000, 8% debentures are issued as collateral security and `7,00,000, 9% 

debentures are issued for Cash.  What will be interest on debenture for half year?  

    

    
¼1½¼1½¼1½¼1½    
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 vFkokvFkokvFkokvFkok@@@@OR     

 1 vizSy 2017 dks lujkbt fyfeVsM us 5]000] 100` okys 8%, _.ki= 5%, cV~Vs ij tkjh 

fd;sA 31 ekpZ 2015 dks lekIr gksus okys o"kZ gsrq Hkqxrku fd;s tkus okys _.ki=ksa ij C;kt 

dh dqy jkf'k D;k gksxh\ 

On 1st April 2017, Sunrise Limited issued 5,000, 8% debentures of `100 each at 

a discount of 5%. What will be the total amount of interest on the debentures to 

be paid for the year ending 31st March 2003?  

    

    

    

¼1½¼1½¼1½¼1½    

6. ,sls fdUgha nks vk/kkjksa dks mYys[k dhft, ftuds vuqlkj U;k;ky; lk>snkjh QeZ ds fo?kVu ds 

vkns’k ns ldrk gS\  

State any two grounds on the basis of which court may order for the dissolution 

of the partnership firm?  

    

    

¼1½¼1½¼1½¼1½    

7. ,d dEiuh us 20]000] 10 ` okys lerk va’k le ewY; ij fuxZfer fd;s ftu ij jkf’k fuEu 

izdkj ns; gS%    

vkonsu izkIr 3 `] vkoaVu ij 4 `] izFke ;kpuk ij 2 ` o vfUre ;kpuk ij 1` izfr va’kA 

50]000 va’kksa ds fy, vkosnu izkIr gq, ftudk vkoaVu dEiuh us ;Fkkuqikr ij fd;kA dEiuh 

dks vkoaVu ij izkIr jkf’k dh x.kuk dhft,A   

    

    

    

    

    

    

    
¼¼¼¼3333½½½½    
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 A company issued 20,000 equity shares of `10 each at par payable as under: 

On application ̀ 3; On allotment ̀ 4; On first call ̀ 2 and on final call ̀ 1 per share. 

Applications were received for 50,000 shares. Allotment was made pro-rata. 

How much amount will be received in cash on allotment?   

    

8. 1 vizSy 2018 dks ,d QeZ ds ikl dqy lEifÙk;k¡ ¼udnh 5]000 ` dks feykdj½ 3]00]000` 

dh FkhA lk>snkjksa ds iw¡th [kkrksa esa 2]00]000` dh 'ks"k jkf’k Fkh ,oa 'ks"k lap; FkkA ;fn lkekU; 

izR;k; nj 10 izfr’kr gS rFkk fiNys 4 o"kksZa ds vf/kykHk ds vk/kkj ij QeZ dh [;kfr dk 

ewY;kadu 2]00]000` fd;k x;k rks QeZ ds vkSlr ykHk dh x.kuk dhft;sA  

    

    

    

    

    
¼3½¼3½¼3½¼3½    

 On 1st April, 2018, a firm had assets of `3,00,000 including cash of `5,000. The 

Partner’s Capital Account showed a balance of `2,00,000 and the Reserve 

constituted the rest. If the normal rate of return is 10% and the goodwill of the 

firm is valued at `2,00,000 at four years’ purchase of super profit, find the 

average profit of the firm.   

    

9. uhps fn;s x;s fooj.k ds vk/kkj ij ,d xSj O;kikfjd laLFkk ds vk; ,oa O;; [kkrsa esa ukes gksus 

okyh [ksy lkexzh dh jkf’k dh x.kuk dhft;s % 

        1 vizSy 2016     31 ekpZ 2017 

[ksy lkexzh dk LVkWd     35]000    26]000 

[ksy lkexzh ds ysunkj    20]000    32]000 

31-3-2017 dks lekIr gksus okys o"kZ ds nkSjku dqy 2]00]000` dh [ksy lkexzh Ø; dh xbZA  

    

    

    

    

    

    

    

    

    

¼3½¼3½¼3½¼3½    
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 On the basis of the information given below calculate the amount of sports 

materials to be debited to the ‘Income and Expenditure Account’ for the year 

ended 31.3.2017: 

          April 1, 2016   March 31, 2017 

Stock of Sports Materials    35,000        26,000 

Creditors for Sports Materials   20,000        32,000 

Sports Materials purchased during the year ended 31.3.2017 were `2,00,000. 

    

10. 50` izR;sd ds 7]500] 9% _.ki=ksa dks 6% ds cV~Vs ij fuxZfr djus] ftudk 'kks/ku 10% ds 

izhfe;e ij djuk gS] dh vko’;d jkstukepk izfof"V;k¡ dhft;s rFkk 9% _.ki= [kkrk rS;kj 

dhft,A  

Pass necessary journal entries and prepare 9% Debenture Account for the issue 

of 7,500, 9% Debenture of `50 each at a discount of 6% redeemable at a 

premium of 10%.  

    

    

    

¼3½¼3½¼3½¼3½    

11. pk:] fnO;k vkSj bZ’kk ,d QeZ esa lk>snkj FksA QeZ ds fo?kVu ds le; gksus okys fuEukafdr 

O;ogkjksa dh jkstukepk izfof"V;k¡ ;g ekudj nhft;s fd lHkh lEifÙk;ksa o ckgjh nkf;Roksa dks 

olwyh [kkrs esa gLrkUrfjr dj fn;k x;k gS %  

(i) ,d vfyf[kr lEifÙk ftldk ewY; 40]000 ` Fkk ,d ysunkj 60]000 dks mlds 45]000` 

 ds nkos ds Hkqxrku esa fn;k x;k ,oa 'ks"k jkf’k dk Hkqxrku udn fd;k x;kA  

(ii) ,d eksVj ckbd ftls iqLrdksa esa ugha fy[kk x;k Fkk mls pk: us 10]000 ` esa fy;k 

 tcfd vuqekfud ewY; 15]000 ` ik;k x;kA  

(iii) ,d ysunkj ftls 50]000 ` Hkqxrku fd;s tkuk Fks] us 30]000 ` dk LdU/k 20 izfr’kr 

 ds cV~Vs ij fy;k o 'ks"k jkf’k dk Hkqxrku udn fd;k x;kA   

(iv) ,Dl uked ,d iqjkuk xzkgd ftldk [kkrk 20]000 ` ls fiNys o"kZ vifyf[kr dj 

 fn;k x;k Fkk mlus bl o"kZ mDr jkf’k dk 40 izfr’kr Hkqxrku fd;kA 

    

    

    

    

    

    

    

    

    

    

¼4½¼4½¼4½¼4½    
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 Charu, Divya and Esha were partners in a firm. Pass journal entries for the 

following transactions on dissolution of the firm after various assets and external 

liabilities have been transferred to Realisation A/c:   

(i) An unrecorded asset of `40,000 was given to an unrecorded creditor of 

 `60,000 in settlement of his claim of `45,000 and the balance was paid to 

 him in cash.  

(ii) A Motorbike which was not recorded in the books was taken over by Charu 

 at `10,000 whereas its expected value was `15,000. 

(iii) Creditors, to whom the firm owed `50,000, accepted stock of `30,000 at a 

 discount of 20% and the balance in cash.  

(iv) X, an old customer, whose account for `20,000 was written off as bad in 

 the previous year, paid 40% of the amount written off.  

    

12. vfnfr vkSj Jqfr ykHk gkfu dk foHkktu 2%3 ds vuqikr esa djrs FksA O;kikj dk lapkyu vfnfr 

ds ekfydkuk gd okys ?kj ls fd;k tkrk Fkk ftldk =Sekfld fdjk;k 15]000` FkkA vfnfr 

dks izfrekg 20]000 ` osru dk izko/kku Fkk rFkk Jqfr dks fcØh ij 5 izfr’kr deh’ku izkIr 

gksrk gS Ok"kZ ds nkSjku dqy 60]00]000 ` dh fcØh gqbZA fnukad 31 ekpZ 2017 dks lekIr gksus 

okys o"kZ dk ykHk fdjk;k Hkqxrku iwoZ 8]00]000 ` FkkA 31 ekpZ 2017 dks lekIr gksus okys o"kZ 

ds fy, ykHk gkfu foHkktu [kkrk rS;kj dhft,A   

    

    

    

    

    
¼4½¼4½¼4½¼4½    

 Aditi and Shruti are partners sharing profits and losses in 2:3. Business is being 

carried from the premises owned by Aditi on a quarterly rent of `15,000. Aditi is 

entitled to salary of `20,000 per month and Shruti is to get commission @ 5% of 

net sales, which during the year was `60,00,000. Net Profit for the year ended 

31st March, 2017 before providing for rent was `8,00,000. 

You are required to draw Profit and Loss Appropriation Account for the ended 

31st March, 2017.    
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13. A,B,C,D ,d QeZ esa lk>snkj Fks ftudk ykHk gkfu foHkktu dk vuqikr 3%2%3%2 FkkA               

01-04-2016 dks mudh fLFkfr fuEu izdkj Fkh %  

nkf;Ronkf;Ronkf;Ronkf;Ro    `̀̀̀    lEifÙk;k¡lEifÙk;k¡lEifÙk;k¡lEifÙk;k¡    `̀̀̀    

iw¡th  

A   2,00,000 

B   2,50,000 

C   2,50,000 

D   3,10,000 

ysunkj  

deZpkjh {kfriwfrZ lap;  

 

 

 

 

10,10,000 

90,000 

25,000 

LFkk;h lEifÙk;k¡ 

pkyw lEifÙk;k¡ 

8,25,000 

3,00,000 

 11,25,000  11,25,000 

 

    
    

¼6½¼6½¼6½¼6½    

 
 

lk>snkjksa us Hkfo"; esa gksus okys ykHk gkfu dks forj.k djus dk vuqikr cnydj 4%3%2%1 djus 

dk fu.kZ; fy;kA bl gsrq QeZ dh [;kfr dk ewY;kadu 2]70]000 ` fd;k x;k lkFk gh mDr 

fu.kZ; ds le; fuEu dk Hkh /;ku j[kk x;k %    

    

 ¼1½ deZpkfj;ksa dh {kfriwfrZ ds nkos dh jkf’k dk vuqeku 30]000 ` yxk;k x;k rFkk LFkk;h 

 lEifÙk;ka dk âkl 25]000 `ekuk x;kA  

¼2½ lHkh lk>snkjh viuh & viuh iw¡th dks vius u;s ykHk gkfu vuqikr esa pkyw [kkrs ds 

 ek/;e ls lek;ksftr djus ds fy, lger gq,A  

 iquewZY;kadu [kkrk] lk>snkjksa ds iw¡th [kkrs o iquZxfBr QeZ dk fpV~Bk rS;kj dhft,A  
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 A, B, C, D were partners in a firm sharing profits in the ratio of 3:2:3:2. On 

1.4.2016. Their balance sheet were as follows: 

Liabilities Amounts (`) Assets Amounts (`) 

Capitals: 

A   2,00,000 

B   2,50,000 

C   2,50,000 

D   3,10,000 

Creditors   

Workmen Compensation 

Reserve    

 

 

 

 

 

10,10,000 

 

90,000 

25,000 

Fixed assets  

Current Assets  

8,25,000 

3,00,000 

 11,25,000  11,25,000 

 

    

 Partners are decided to share future profits in the ratio of 4:3:2:1. For this 

purpose the goodwill of the firm was valued at `2,70,000. It was also considered 

that:   

    

 (i) The claim against workmen compansation reserve has been estimated at 

 `30,000 and fixed assets will be depreciated by `25,000.  

    

 (ii) Adjust the capital of the partners according to new profit sharing ratio by 

 opening Current account of partners.    

    

 Prepare Revaluation a/c, Partners capital A/c and the Balance Sheet of 

reconstituted Firm.   
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 vFkokvFkokvFkokvFkok@@@@OR     

 X vkSj Y tks fd vius ykHk gkfu dks 4%1 esa ckaVrs gS dk fnukad 31-03-15 dk fpV~Bk fuEukuqlkj 

gS %  

    

¼6½¼6½¼6½¼6½    

 

 

nkf;Ronkf;Ronkf;Ronkf;Ro    `̀̀̀    lEifÙk;k¡lEifÙk;k¡lEifÙk;k¡lEifÙk;k¡    `̀̀̀    

fofo/k ysunkj  8,000 cSad  20,000 

cSad vf/kfod"kZ  6,000 nsunkj   17]000  

X ds HkkbZ dk _.k  8,000 & izko/kku    2]000 15,000 

Y dk _.k  3,000 LdU/k  15,000 

fofu;ksx mPpkopu dks"k  5,000 fofu;ksx  25,000 

iw¡th 

 ,Dl  50]000 

 ok;  40]000 

 

 

90,000 

Hkou  

[;kfr  

ykHk gkfu [kkrk  

25,000 

10,000 

10,000 

 1,20,000  1,20,000 

    

 mDr frfFk dks QeZ dk fo?kVu djus dk fu.kZ; fy;k x;k rFkk lkFk gh fuEukafdr fcUnqvksa dh 

Hkh O;oLFkk dh xbZ %   

    

 (i) X vius HkkbZ ds _.k dk Hkqxrku djus ds fy, rS;kj gqvkA  

(ii) 5]000 ` ds nsunkj Mwcr _.k gks x;sA 

(iii) vU; lEifÙk;ksa ls olwyh fuEu izdkj gqbZ % fofu;ksx 20 izfr’kr de ,oa [;kfr ls dsoy 

 60 izfr’kr jkf’k olwy gks ikbZA 

(iv) Hkou uhykeh ls 30]000 ` izkIr gq,A  

(v) Y us LdU/k dk ,d Hkkx 4000 ` esa fy;k ¼tks fd mlds iqLr ewY; ls 20 izfr- de 

 Fkk½ ,oa cps gq, LdU/k ls 50 izfr’kr dh olwyh gqbZA 

(vi) olwyh ds [kpsZ 3000 ` gq,A  

 olwyh [kkrk ,oa lk>snkjh ds iw¡th [kkrs mDr frfFk dks rS;kj dhft,A  
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 Following is the Balance Sheet of X and Y, who share profits and losses in the 

ratio of 4:1, as at 31st March, 2015: 

    

 Balance Sheet 

Liabilities Amount Assets Amount 

Sundry Creditors   8,000 Bank  20,000 

Bank Overdraft  6,000 Debtors    17,000  

X’s Brother’s Loan  8,000 Less: Provision   2,000 15,000 

Y’s Loan  3,000 Stock   15,000 

Investment Fluctuation 

Fund  

5,000 Investments   25,000 

Capital : 

 X  50,000 

 Y  40,000 

 

 

90,000 

Buildings  

Goodwill  

Profit & Loss A/c   

25,000 
 

10,000 
 

10,000 

 1,20,000  1,20,000 

    

 The firm was dissolved on the above date and the following arrangements were 

decided upon:  

(i) X agreed to pay off his brother’s loan.  

(ii) Debtors of `5,000 proved bad.  

(iii) Other assets realized:- Investment 20% less; and goodwill at 60%. 

(iv) One of the creditors for `5,000 was paid only `3,000. 

(v) Building were auctioned for `30,000. 

(vi) Y took a part of stock at `4,000 (being 20% less than the book value) and 

 balance stock was realized 50%.  

(vii) Realisation expenses amounted to `3,000. 

 Prepare Realisation Account and Partners Capital Account.  
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14. ykW;Ul Dyc }kjk fnukad 31-3-2017 dks iznk; dh xbZ fuEu lwpukvksa ds vk/kkj ij laLFkk dk 

vk; O;; [kkrk o fpV~Bk rS;kj dhft,&  

    

¼6½¼6½¼6½¼6½    

  

 

izkfIr ,oa Hkqxrku [kkrk 

31-03-2017 dks lekIr gksus okys o"kZ ds fy, 

izkfIr;ka ` Hkqxrku ` 

'ks"k yk;k x;k  10,000 8% izfrHkwfr;ksa esa fofu;ksx 01-01-16 dks 10,000 

pUnk   QuhZpj  5,400 

2016&17 18,000 osru  4,500 

2017&18 500 LVs’kujh  1,200 

izos’k 'kqYd  350 fctyh O;;  2,400 

euksjatu ls vk;  3,400 'ks"k ys tk;k x;k  8,900 

lekpkj i=ksa dh fcØh  150   

 32,400  32,400 

    

 vfrfjDr lwpuk;sa & vfrfjDr lwpuk;sa & vfrfjDr lwpuk;sa & vfrfjDr lwpuk;sa &     

(i) Dyc ds dqy 400 lnL; Fks ,oa gj lnL; Dyc dks 50 `pUns ds nsrk FkkA o"kZ    

 2015 & 16 dk vHkh Hkh cdk;k pUnk 200 ` FkkA  

(ii) LVs’kujh dk LdU/k fnukad 31-03-2016 dks 780 ` os 31-03-2017 dks 860 ` FkkA  

(iii) 01-04-2016 dks Hkou 16]000 ` FkkA Hkou o QuhZpj ij ewY; âkl dh nj Øe’k% 

 5 o 10 izfr’kr gSA  
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 From the following information supplied by the accountant of Lions Club for the 

year ended 31st March 2017, Prepare Income and Expenditure Account and 

Balance sheet -   

    

 Receipt And Payment Account 

for the ending 31.3.2017 

Receipt ` Payment ` 

To Balance b/d 10,000 By Investment @ 8% in 

securities on 1.10.2016 

10,000 

To subscription   By furniture  5,400 

2016-17 18,000 By Salaries  4,500 

2017-18 500 By Stationary  1,200 

To Entrance fees  350 By Electric Charges  2,400 

To income from entertainment  3,400 By Balance c/d 8,900 

To sale of old newspaper  150   

 32,400  32,400 

 

    

 Additional information :  

(a) The Club has 400 members each paying an annual subscription of `50. 

 Subscription still outstanding for 2015 – 16 are `200. 

    

  (b) Stock of stationary on 31.3.2016 `780 and 31.3.2017 `860.  

 On 1st April 2016 premises were `16,000. Depreciation on premises and 

 furniture to be charges @ 5% and 10% respectively.  

    



[968] C-12          Page 15 of 32 

15. dfork] ehuk{kh ,oa xkSjh lk>snkjh esa yqf/k;kuk esa dkxt dk O;kikj djrs gaSA 31-03-2013 o 

31-03-2014 dks lekIr o"kZ ds fy, lk>snkjh ds [kkrs rS;kj djus ds i’pkr~ ;g irk pyk fd 

lk>snkjh dks mudh iw¡th ij 6 izfr’kr izfro"kZ dh nj ls C;kt fn;k x;k tks fd lk>snkjh 

lays[k ds izko/kkuksa esa 'kkfey ugha FkkA lk>snkjh ds LFkk;h iw¡th Øe’k% 2]00]000] 1]60]000 ,oa 

1]20]000 gSaA fiNys nks o"kksaZ esa ykHk & gkfu dk cVokjk fuEu vuqikr esa fd;k x;k%  

    

    

    

    

 o"kZ        vuqikr  

31 ekpZ 2013     3 % 2 % 1 

31 ekpZ 2014     5 % 3 % 2 

fnukad 01-04-2014 dks ,d jkstukepk izfof"V djds mDr =qfV dk lq/kkj dhft, o vius dk;Z 

dks Li"V :i ls iznf’kZr dhft,A 

    

    

    

    

    
    

¼6¼6¼6¼6½½½½    

 Kavita, Meenakshi and Gauri are partners doing a paper business in Ludhiana. 

After the accounts of partnership have been drawn up and closed, it was 

discovered that for the years ending 31st March 2013 and 2014, Interest on 

capital has been allowed to partners @ 6% p.a. although there is no provision 

for interest on capital in the partnership deed. Their fixed capitals were 2,00,000, 

1,60,000 and 1,20,000 respectively. During the last two years they had shared  

the profits as under:  

    

 Year        Ratio  

31 March 2013      3 : 2 : 1 

31 March 2014      5 : 3 : 2  

You are required to give necessary adjusting entry on April 1, 2014. 
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16. ;qxk fyfeVsM ds ikl izR;sd 100 ` ds bfDoVh 'ks;jksa esa foHkkftr 50]00]000 ` dh vf/kÑr 

iw¡th gSA daiuh us turk dks 42]000 ` 'ks;jksa dh is’kd’k dhA ns; jkf’k bl izdkj Fkh % vkosnu 

ij & 30`izfr 'ks;j] vkoaVu ij & 40` izfr 'ks;j ¼izhfe;e lfgr½] igyh vkSj vafre dkWy 

ij & 50` izfr 'ks;j 40]000] 'ks;jksa ds fy, vkosnu izkIr gq, FksA fuEufyf[kr dks NksM+dj 

lHkh jdeksa dks fof/kor izkIr fd;k x;k Fkk % 100 'ks;jksa ds /kkjd vuq us vkoaVu vkSj dkWy 

euh dk Hkqxrku ugha fd;kA 200 'ks;jksa ds /kkjd euq us dkWy euh dk Hkqxrku ugha fd;kA 

daiuh us vuw vkSj euq ds 'ks;jksa dks tCr dj fy;k vkSj ckn esa tCr fd, x, 'ks;jksa dks iwjh 

rjg ls Hkqxrku ds :i esa 70` izfr 'ks;j ds fy, fQj ls tkjh fd;k x;kA daiuh ds dS’kcqd 

vkSj tuZy esa mijksDr ysunsu ds fy, izfof"V;ka fn[kk,aA    

    

    

    

    

    

    

    

    

    

    

    

¼8½¼8½¼8½¼8½    

 Yuga Ltd. is having an authorized capital of `50,00,000 divided into equity 

shares of `100 each. The company offered 42,000 shares to the public. The 

amount payable was a follows: 

On Application – `30 per share  

On Allotment – `40 per share ( including premium)  

On First and Final Call – `50 per share  

    

 Applications were received for 40,000 shares. 

All sums were duly received except the following: 

Anu, a holder of 100 share did not pay allotment and call money.  

    

 Manu, a holder of 200 shares did not pay call money. 

The company forfeited the shares of Anu and Manu Subsequently the forfeited 

shares were reissued for `70 per shares as fully paid – up. Show the entries for 

the above transactions in the cash book and journal of the company.     
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 vFkokvFkokvFkokvFkok@@@@OR        

 vkezikyh fyfeVsM us izfr 'ks;j 10` ds 1]50]000 bfDoVh 'ks;j tkjh djus ds fy, vkosnu 

vkeaf=r fd,A  

jkf’k bl izdkj ns; Fkh %  

vkosnu ij 2`  izfr 'ks;j  

vkoaVu ij 3`  izfr 'ks;j 

igys vkSj vafre dkWy ij 'ks"kA 

    

 3]00]000 'ks;jksa ds fy, vkosnu izkIr gq, FksA  

50]000 'ks;jksa ds fy, vkosnu [kkfjt dj fn, x, vkSj bu vkosndkssa ds vkosnu iSls okil dj 

fn, x,A 'ks"k vkosndksa dks izks & jkVk ds vk/kkj ij 'ks;j vkoafVr fd, x, FksA bu vkosndksa 

ds lkFk izkIr vfrfjDr /ku vkoaVu esa lkek;ksftr fd;k x;k FkkA usgk ftUgksaus 2]500 'ks;jksa 

fy, vkosnu fd;k Fkk] vkoaVu vkSj igyh vkSj vafre dkWy ds iSls dk Hkqxrku djus esa foQy 

jghA gsear us vius 2000 'ks;jksa ij igyh vkSj vafre dkWy ds iSls dk Hkqxrku ugha fd;k FkkA 

bu 'ks;jksa dks tCr dj fy;k x;k Fkk vkSj ckn esa buesa ls 2000 'ks;jksa dks iwjh rjg ls Hkqxrku 

ij izfr 'ks;j 7` ij fQj ls tkjh fd;k x;k FkkA jh’kw ds 'ks;jksa esa usgk ds lHkh 'ks;j 'kkfey 

FksA , fy- dh iqLrdksa esa mijksDr ysunsu ds fy, vko’;d tuZy izfof"V;k¡ ikl djsaA o jksdM+ 

cgh Hkh cuk;saA  
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 Amrapali Ltd. invited applications for issuing 1,50,000 equity shares of `10 each 

at par. The amount was payable as follows:  

On application `2 per share 

On allotment `3 per share  

On first and final call balance 

    

  Applications for `3,00,000 shares were received. 

Applications for 50,000 shares were rejected and application money of these 

applicants was refunded. Shares were allotted on pro-rata basis to the remaining 

applicants Excess money received with these applicants was adjusted towards 

sun due on allotment. Neha who had applied for 2,500 shares, failed to pay the 

allotment and first and final call money. Hemant did not pay the first and final call 

money on his 2,000 shares. All these shares were forfeited and later on 2,000 of 

these shares were reissued at `17 per share fully paid up. The reissue shares 

included all the shares of Neha.  

Pass the necessary journal entries in the books of A ltd. For the above 

transactions.  
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17. , vkSj ch ds 31 ekpZ] 2018 dks cSysal 'khV fuEufyf[kr gS] tks 3%2 ds vuqikr esa ykHk vkSj 

gkfu lk>k djrs gSa& 

    

¼8½¼8½¼8½¼8½    

 ns;rk,a ` lEifÙk;k¡ ` 

iw¡th [kkrs %  A 10]000 la;a= e’khujh  10]000 

  B  10]000 Hkwfe Hkou  8]000 

lkekU; fjtoZ  15]000 nsunkj    12]000  

Jfed {kfriwfrZ fuf/k  5]000 & izko/kku    ¼1]000½ 11]000 

ysunkj  10]000 HkaMkj  12]000 

  udn  9]000 

 50]000  50]000 

 

    

 1 vizSy 2018 dks os fuEufyf[kr 'krksaZ ij C esa lk>snkjh djus ds fy, lger gq,%  

¼1½ [kjkc _.kksa ds izko/kku esa o`f) gksxh 2]000`@& 

¼2½ Hkwfe vkSj Hkou dk ewY; c<+dj 18]000`@& gks tk;sxhA  

¼3½ LVkWd ds ewY; esa 4]000` dh o`n~f/k gksxhA   

¼4½ Jfedksa ds {kfriwfrZ fuf/k ds fy, ns;rk 2]000` ij fu/kkZfjr gSA 

¼5½ C 10]000` udn esa [;kfr ds vius fgLls ds :Ik esa yk;kA   

    

 ¼6½ C vkxs udnh yk,xk D;ksafd mijksDr lek;kstu ds ckn mldh iw¡th ubZ QeZ dh dqy 

 iw¡th ds 1@5 osa ds cjkcj gks tk,xhA 

lh ds izos’k ds ckn iqueZwY;kau [kkrk] iw¡th [kkrk vkSj QeZ dh cSysal 'khV rS;kj djsaA   
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 The following is the Balance Sheet as on 31st March, 2018 of A and B, who share 

profits and losses in the ratio of 3:2. 

    

 Liabilities  ` Assets  ` 

Capital Accounts:  A  10,000 Plant Machinery  10,000 

    B 10,000 Land Building  8,000 

General Reserve  15,000 Debtors          12,000  

Workmen’s Compensation 

fund  

5,000 Less: Prov. For b/d   (1,000) 11,000 

Creditors  10,000 Stock  12,000 

  Cash  9,000 

 50,000  50,000 

 

    

 On 1st April 2018 they agreed to admit C into partnership on the following terms:  

(1) Provision of bad debts would be increased by `2,000. 

(2) The value of land & building would be increased to `18,000. 

(3) The value of stock would be increased by `4,000. 

(4) The liability against Workmen’s compensation fund is fixed at `2,000.   

(5) C brought in as his share of goodwill `10,000 in cash.   

    

 (6) C would bring further cash as would make his capital equal to 1/5th of the 

 total capital of the new firm after the above adjustments.  

    

 Prepare Revaluation Account, Partner’s Capital Account and Balance Sheet of 

the firm after C’s admission.   

    

 vFkokvFkokvFkokvFkok@@@@OR     
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 A, B vkSj C 3:2:1 ds vuqikr esa ykHk vkSj gkfu lk>k djus okyh QeZ esa Hkkxhnkj gSaA         

31 ekpZ] 2018 dks mudh cSyasl 'khV fuEukuqlkj gS&  

    

 ns;rk,a ` lEifÙk;k¡ ` 

ysunkj   30]000 gLrLFk jksdM+  18]000 

ns; fcy  16]000 nsunkj  22]000 

iw¡th  12]000 LVkWd  18]000 

A    40,000  Q+uhZpj  30]000 

B   40,000  e’khujh  70]000 

C   30,000 1]10]000 [;kfr  10]000 

 1]68]000 Nutrients  1]68]000 

 

    

 
 

B 1 vizSy 2018 dks fuEufyf[kr 'krksZa ij lsokfuoÙ̀k gqvk%  

¼1½ lafnX/k _.k ds fy, izko/kku `1]000A 

¼2½ LVkWd esa 10% vkSj QuhZpj esa 5% dh deh gksxhA  

¼3½ uqdlku ds fy, ,d nkok 1]100` ds fy, iznku fd;k tkuk gSA 

¼4½ ysunkjksa dks 6]000` }kjk okil fy[kk tk,xkA  

¼5½ QeZ dh [;kfr dk ewY; 22]000` gSA  

¼6½ B ds A vkSj C }kjk udn dk Hkqxrku bl rjg ls fd;k tkrk gS fd mudh iw¡th;k¡ 

muds u, ykHk gkfu ds caVokjs ds vuqikr ds vuqikr esa gSa] tks 3 % 2 gSA  

B dh lsokfuo`fr ds ckn] iquewZY;akdu] Hkkxhnkj ds iw¡thxr [kkrksa vkSj QeZ dh cSysal 'khV rS;kj 

djsaA   
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 A, B and C are partners in a firm sharing profits and losses in the ratio of 3:2:1. 

Their balance sheet as at 31st March, 2018 is as under:  

    

 Liabilities ` Assets ` 

Creditors  30,000 Cash in Hand 18,000 

Bills Payable  16,000 Debtors  22,000 

General Reserves  12,000 Stock  18,000 

Capital A/c:   Furniture  30,000 

A   40,000  Machinery  70,000 

B   40,000  Goodwill  10,000 

C   30,000 1,10,000   

 1,68,000 Nutrients  1,68,000 

 

    

 B retired on 1st April 2018 on the following terms:  

(1) Provision for doubtful debts `1,000. 

(2) Stock will be depreciated by 10% and furniture by 5%. 

(3) An outstanding claim for damages of `1,100 is to be provided for. 

(4) Creditors will be written back by `6,000. 

(5) Goodwill of the firm is valued at `22,000. 

(6) B is paid in full the cash brought in by A and C in such a manner that their 

 capitals are in proportion to their new profit sharing ration that is 3:2. 

Prepare revaluation a/c, Partner’s capital accounts and balance sheet of the firm 

after B’s retirement.  
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 [k.M[k.M[k.M[k.M    & & & & [k@[k@[k@[k@ PART – B 

fodYi & 1@fodYi & 1@fodYi & 1@fodYi & 1@ OPTION - 1    

foŸkh; fooj.kksa dk fo’ys"k.kfoŸkh; fooj.kksa dk fo’ys"k.kfoŸkh; fooj.kksa dk fo’ys"k.kfoŸkh; fooj.kksa dk fo’ys"k.k    

Financial Analysis and Cash Flow Statement 

 

    

18. ,d E;wpqvy QaM daiuh ds ykHkka’k fdlh vU; daiuh ds fgLls eas blds fuos’k ij 20 yk[k 

izkIr gksrk gSA ;g dS’k ¶yks LVsVesaV esa dgka fn[kkbZ nsxk\ dkj.k crkb;sA  

A Mutual Fund Company receives dividend of `20 lakhs on its investment in 

another company’s share. Where will it appear in a Cash Flow Statement? Give 

reason.   

¼1½¼1½¼1½¼1½ 

19. ^jksdM+ izokg fooj.k^ ls D;k vfHkizk; gS\  

What is meant by ‘Cash Flow Statement’? 

¼1½¼1½¼1½¼1½    

20. uhps fn;s x;s enksa dks ,d dEiuh ds foÙkh; fooj.kksa esa fdl izdkj iznf’kZr fd;k tk;sxk & 

(i)  vof’k"V ;kpuk 

(ii)  vfxze ;kpuk 

(iii) fpfdRlk O;;  

(iv)  baVjusV O;; 

(v) O;kikj esa LdU/k dk Ø;  

(vi) _.k izlaLdj.k 'kqYd 

(vii) izfrHkwfr izhfe;e fjtoZ  

(viii) _.ki=ksa ds fuxZeu ij cV~Vk  

¼4½¼4½¼4½¼4½ 
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 Under which head will you show the following items in the Financial Statements 

of a Company:  

(i) Calls in Arrears  

(ii) Calls in Advance  

(iii) Medical Expenses  

(iv) Internet Expenses  

(v) Purchase of Stock in Trade  

(vi) Loan Processing Charges  

(vii) Securities Premium Reserve 

(viii) Discount on issue of debenture  

    

 vFkokvFkokvFkokvFkok@@@@OR     

 uhps fn;s x;s enksa dks ,d dEiuh ds foÙkh; fooj.kksa esa fdl izdkj iznf’kZr fd;k tk;sxk &      

 (i) [;kfr dk viys[ku  

(ii) ykHkka’k izkIr   

(iii)  iznku dh xbZ lsokvksa ls jktLo  

(iv) LFkk;h lEifÙk;ksa ds foØ; ls ykHk  

(v) vodk’k udnhdj.k O;;  

(vi) dwfj;j O;;  

(vii) isVs.V  

(viii) t+Cr fd;s x;s va’k  
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 Under which Line item (major head) of the Statements of Profit and Loss of a 

financial company will the following be shown:  

(i) Goodwill written off  

(ii) Dividend Received  

(iii) Revenue from services rendered  

(iv) Profit on sale of fixed asset   

(v) Leave Encashment Expenses 

(vi) Courier Expenses  

(vii) Patent  

(viii) Forfeited Shares  

    

21. uhps fn;s x;s le:i rqyui= esa vKkr jkf’k Kkr dhft, &  

le:Ik rqyu i=  

31 ekpZ 2015 ,oa 2016 dks  

fooj.k fVIi.kh 

Ø- 

iw.kZ jkf’k rqyu i= ds ;ksx     

dk izfr’kr 

  ` ` ` ` 

I. nkf;Ro  

   (1)   va’k/kkjdksa dk Q.M  

     

  (a) va’kiw¡th   12,00,000 20,00,000 30 40 

  (b) lap; ,oa vkf/kD;  400000 10,00,000 -- -- 

   (2)    xSj pkyw nkf;Ro   -- -- 45 25 

   (3)    pkyw nkf;Ro  -- -- -- -- 

  -- -- 100 100 

II. ifjlEifÙk;k¡        

    (1)      xSj pkyw lEifÙk;k¡   -- -- 60 70 

    (2)     pkyw lEifÙk;k¡    -- -- -- -- 

  -- -- 100 100 
 

¼4½¼4½¼4½¼4½ 
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 Fill in the missing figures in the following Common Size Balance sheet:   

 COMMON SIZE BALANCE SHEET 

As at 31st March 2015 and 2016 

Particular Note 

No. 

Absolute Amount Percentage of 

Balance Sheet 

Total 

 

I. Equity and Liabilities 

 ` ` ` ` 

    (1)     Shareholders’ 

     Funds  

     

 (a) Share Capital   12,00,00

0

20,00,000 30 40 

 (b) Reserve & 

  Surplus  

 4,00,000 10,00,000 -- -- 

    (2)     Non-Current   

            Liabilities  

 -- -- 45 25 

    (3)    Current Liabilities   -- -- -- -- 

  -- -- 100 100 

II. ASSETS       

    (1)   Non Current     

           Assets  

    (2)   Current Assets 

 -- 

 

        

        -- 

-- 

 

 

-- 

60 

 

 

-- 

 

70 

 

 

-- 

 

  -- -- 100 100 
 

 

     

vFkokvFkokvFkokvFkok@@@@OR 
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 fuEukafdr ykHkgkfu rqyukRed i=d dks iw.kZ dhft, &   

 rqyukRed ykHk gkfu i=d 
31 ekpZ 2017 o 2018 dks lekIr gksus okys o"kksZa gsrq 

fooj.k fVIi.kh 
Ø- 

2016-17 2017-18 izfr’kr ifjorZu 
$ @ & 

  ` ` ` ` 

I.   lapkyu ls jktLo   50,00,000 40,00,000 -- -- 

II.    ?kVk;k % O;;%        

 foÙk ykxr  30,00,000 -- (5,00,000) -- 

 deZpkjh fgr [kpZ   5,00,000 5,00,000 -- -- 

 âkl  3,00,000 -- (30,000) -- 

 vU; O;;   -- 1,60,000 (40,000) -- 

 dqy O;;   -- -- -- -- 

III.  dj iwoZ ykHk (I - II)  -- -- -- -- 
 

 

 Complete the following Comparatives Statement of Profit and Loss:  

 Comparative Statement Of Profit And Loss 

For the year ended 31st March, 2017 and 2018 

Particulars Note 

No. 

2016-17 2017-18 Percentage 

Change Increase 

/Decrease 

  ` ` ` ` 

I. Revenue from 

 Operation  

 50,00,000 40,00,00 -- -- 

II. Less:Expenses :       

   Finance Cost  30,00,000 -- (5,00,000) -- 

   Employee        

          Benefit Exp.  

 5,00,000 5,00,000 -- -- 

  Depreciation   3,00,000 -- (30,000) -- 

  Other 

 Expenses 

 -- 1,60,000 (40,000) -- 

  Total Expenses   -- -- -- -- 

III. Profit before Tax 

 (I-II) 

 -- -- -- -- 
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22. uhps nh xbZ tkudkjh ds vk/kkj ij Kkr dhft, &  

¼1½ LVkWd vkoZr vuqikr  

¼2½ nsunkj vkoZr vuqikr  

tkudkfj;k¡  &  

lapkyu ls jktLo 1]50]000`@&] ldy ykHk 30]000`@&] fcds eky dh ykxr 

1]20]000`@&] izk- LVkWd 29]000`@&] vfUre LVkWd 31]000`@&] nsunkj 16]000`@&  

¼4½¼4½¼4½¼4½ 

 On the basis of the following information, calculate;  

(i) Inventory Turnover Ration  

(ii) Trade Receivable Turnover Ratio  

Information: 

 `  ` 

Revenue From Operation  1,50,000 Opening Inventory  29,000 

Gross Profit  30,000 Closing Inventory  31,000 

Cost of Goods Sold  1,20,000 Debtors  16,000 

 

    

 vFkokvFkokvFkokvFkok@@@@OR  

 uhps nh xbZ tkudkjh ds vk/kkj ij Kkr dhft, &  

¼1½ _.k lerk vuqikr  

¼2½ dk;Z'khy iw¡th vkoZr vuqikr  

tkudkfj;k¡ %&  

 

 lapkyu ls jktLo 7]87]500`] lapkyu ls jktLo dh ykxr ¼fcds eky dh ykxr½ 

3]95]600`@&] pkyw nkf;Ro 2]37]000`@&] nh?kZ dkyhu _.k 87]000`@&] pkyw lEifÙk;k¡ 

3]99]000`@&] lerk va’kiw¡th 3]75]000`@&] 8 izfr’kr _.ki= 1]25]000`@& ,oa vkSlr 

LVkWd 1]97]800`@&A  
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On the basis of information given below, calculate: 

(i) Debt to Equity Ratio and  

(ii) Working Capital Turnover Ratio  

 

 Information: Revenue from Operation `7,87,500; Cost of Revenue from 

Operations (Cost of Goods Sold) `3,95,600; Current Liabilities `2,37,000; Long 

term loan `87,000; Current Assets `3,99,000; Equity Share Capital `3,75,000; 

8% Debenture `1,25,000 and Average Inventory `1,97,800.  

 

23. XYZ  fy- dk rqyu i= fnukad 31 ekpZ dks fuEu Fkk &  ¼6½¼6½¼6½¼6½    

 fooj.k fVIi.kh 
Ø- 

31st ekpZ 2016 31st ekpZ 2015 

I- nkf;Ro     

 1. va’k/kkfj;ksa dk Q.M     

  (a) va’kiw¡th   

1 
 

12,00,000 11,00,000 

  (b) lap; ,oa vkf/kD;  3,00,000 2,00,000 

 2. xSj pkyw nkf;Ro     

  nh?kZdkyhu _.k   2,40,000 1,70,000 

 3. pkyw nkf;Ro     

  (a) ysunkj     1,79,000 2,04,000 

  (b) vYidkyhu izko/kku  50,000 77,000 

Total  19,69,000 17,51,000 

II- lEifÙk;k¡     

 1. xSj pkyw lEifÙk;k¡    

  LFkk;h lEifÙk;k¡ %    

  (i) ewrZ lEifÙk;k¡ 2 10,70,000 8,50,000 

  (ii) vewrZ lEifÙk;k¡ 3 40,000 1,12,000 

 2. pkyw lEifÙk;k¡    

  (a) pkyw fofu;ksx   2,40,000 1,50,000 

  (b) LdU/k   1,29,000 1,21,000 

  (c) nsunkj  1,70,000 1,43,000 

  (d) jksdM+ ,oa jksdM+ 
   lekarj 

  3,20,000 3,75,000 

  19,69,000 17,51,000 
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fooj.k  31st March 2016 31st March 2015 

1. lap; ,oa vkf/kD;     

 ykHk gkfu [kkrk 'ks"k 3,00,000 2,00,000 

 3,00,000 2,00,000 

2. ewrZ lEifÙk;k¡   

 e’khujh  12,70,000 10,00,000 

 (-) : lafpr ewY; âkl  (2,00,000) (1,50,000) 

 10,70,000 8,50,000 

3. vewrZ lEifÙk;k¡   

 [;kfr  4,00,000 1,12,000 

 

 

    

  

vfrfjDr lwpuk;sa &  

o"kZ ds nkSjku e’khujh dk ,d Hkkx ftldh ykxr 24]000` Fkh rFkk ftl ij lafpr âkl 

16]000`@& Fkk bls 6]000`@& esa csp fn;k x;kA jksdM+ izokg fooj.k cukb;sA  
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 The balance Sheet of XYZ Ltd. As at 31st March are as follwos :      
 

 

Particulars Note 

No. 

31st March 

2016 

31st March 

2015 

I. EQUITY AND LIABILITIES     

   1. Shareholder’s Funds     

 (a) Share Capital 

1 

12,00,000 11,00,000 

 (b) Reserves and        

  Surplus  

3,00,000 2,00,000 

   2. Non – Current Liabilities    

 Long term Borrowings   2,40,000 1,70,000 

   3. Current Liabilities     

 (a) Trade payables   1,79,000 2,04,000 

 (b) Short – term  

                 Provisions   

 50,000 77,000 

  Total   19,69,000 17,51,000 

II. Assets  

    1.   Non - Current Assets  

   

  Fixed Assets:     

 (i) Tangible Assets  2 10,70,000 8,50,000 

 (ii) Intangible Assets  3 40,000 1,12,000 

   2.  Current Assets     

    (a)  Current Investments   2,40,000 1,50,000 

 (b)  Inventories   1,29,000 1,21,000 

 (c)  Trade Receivable   1,70,000 1,43,000 

 (d)  Cash and Cash       

        Equivalents  

 3,20,000 3,75,000 

  19,69,000 17,51,000 
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 Particulars 31st March 2016 31st March 2015 

1. Reserves and Surplus    

 Surplus i.e. Balance in 

 Statement of Profit and Loss  

3,00,000 2,00,000 

  3,00,000 2,00,000 

2. Tangible Assets    

 Machinery  12,70,000 10,00,000 

 Less: Accumulated Depreciation  (2,00,000) (1,50,000) 

 10,70,000 8,50,000 

3. Intagible Assets    

 Goodwill  4,00,000 1,12,000 

 

    

 
 

Additional Information :  

During the year a piece of machinery, Costing `24,000 on which accumulated 

depreciation was `16,000 was sold for `6,000. Prepare Cash Flow Statement.   

    

 

--------------------------------------------------------    
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 971 

Subject: COMPUTER SCIENCE (THEORY) 

Time: 03 Hours                                                                                                               Maximum Marks: 70 

• Please check that this question paper contains 1 to 24 printed pages. 

• Code number given on the right hand side of the question paper should be written 

on the title page of the answer-book by the candidate. 

• Please check that this question paper contains 07 questions. 

• Please write down the Serial Number of the question before attempting it. 

• 15 minutes time has been allotted to read this question paper.  

General Instructions – 

 

(i) All question are compulsory.  

(ii) Answer either section A or section B:  

 (a) Section A Programming Language with C++  

 (b) Section B Programming Language with Python  

(iii) Section C is compulsory.  

(iv) In Question 2, Question 3 and Question 4 has internal choices.  

(v) Marks allotted to every question are indicated against it.   
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 SECTION – A 

(Only for candidates, who opted for C++) 

 

1. (a) What is the difference between Global Variable and Local Variable? 

 Also, give a suitable C++ code to illustrate both.     

(2) 

 

 (b) Name the header file required for successful compilation of the given 

 code :  

 main( ) 

 { 

 char str [20] = ”Exam”;  

 cout<<setw(20)<<str; 

 return 0; 

 }  

(1) 

 

 

 

 

 

 

 (c) Rewrite the following program after removing the syntactical errors (if 

 any) underline each correction.    

 #include [iostream.h]  

 class MEMBER  

 { 

 int Mno; float Fees;  

 PUBLIC:  

 void Register() 

 { 

 cin>>Mno>>Fees; 

 } 

 void Display 

 { 

 cout<<Mno<<″ : ″<<Fees<<endl;  

 } 

 }; 

 void main()  

 { 

 MEMBER M;  

 Register();  

 M.Display();  

 }  

(2) 
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 (d) Find the output of the following program:  

 #include<iostream.h> 

 void Changethecontent (int Arr[ ], int Count)  

  { 

 for (int C = 1; C<Count; C++)  

 Arr[C – 1] + = Arr [C];  

 } 

 void main()  

 { 

 int A[ ] = {3,4,5}, B[ ] = {10,20,30,40}, C[ ] = {900, 1200};  

 Changethecontent (A,3);  

 Changethecontent (B,4);  

 Changethecontent (C,2);  

 for (int L = 0; L<3; L++) cout <<A[L}<<′#′;  

 cout<<endl;  

 for (L=0;L<4;L++) cout<<B[L]<<′#′;  

 cout<<endl;  

 for(L=0;L<2;L++) cout <<C[L]<<′#′;  

 }  

(3) 
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 (e) Find the output of the following program:   

 #include<iostream.h>  

 void secret(char Str[ ]) 

 { 

 for (int L = 0; Str [L]! = ′/0′; L++); 

 for (int C = 0; C<L/2; C++) 

 if (Str[C]== ′A′ || Str[C] ==‘E’)  

 Str[C]= ′#′;  

 else  

 { 

 char Temp = Str[C];  

 Str[C]=Str[L-C-1];  

 Str[L-C-1]=Temp;  

 } 

 } 

 void main () 

 { 

 char Message[ ] =″ArabSagar″;  

 Secret(Message);  

 cout<<Message<<endl;  

 }   

(2) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 (f) If the following program, find the correct possible output(s) from the 

 options:   

 #include<iostream.h>  

 #include<stdlib.h>  

 void main( ) 

 {  

 randomize( );  

 int p = 99, q = 999;  

 int x = random(3) + 4;  

 int y = random(2) + 2;  

 for(int i=0; i<x; i++)   

 cout<<′#′;  

 cout<<p<<′-′;  

 for(i=0; i<y; i++)  

 cout<<′@′;  

 cout<<q<<endl;  

 } 

 i) ##99-@999 

 ii) ##99-@@999 

 iii) ######99-@@999 

 iv) ####99-@@@999  

(2) 
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2. (a) Is Inheritance and containership mean the same? What are the 

 similarities and difference between the two?   

(2) 
 
 

 (b) Answer the questions (i) and (ii) after going through the following class:  

 class Factory  

 { 

 private:  

 char Name [30];  

 int worker;  

 public:  

 Factory( )          //function 1  

 { strcpy (Name, ″Blank″);  

 worker = 0;  

 } 

 void Details( )         //function 2  

 { cout<< Name<< endl<<worker<<endl;}  

 Factory (char *Fact_name, int No);     //function 3  

 Facotry (Factory & F);       //function 4  

 };  

(2) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

  (i) In OOP, what is function 4 referred as? Also write a statement 

which will invoke this function?  

 (ii) In OOP, which concept is illustrated by function 1, function 3 & 

function 4 together?    

 

 OR  
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 (b) Answer the questions (i) & (ii) after going through the following program:  

 class Match  

 { 

 int Time; 

 public: 

 Match ()       //Function 1 

 { 

 Time=0; 

 cout<<″Match commences″<<endl;  

 } 

 void Details()      //Function 2 

 { 

 cout<<″Inter Section Basketball Match″<<endl;  

 } 

 Match(int Duration)     //Function 3 

 { 

 Time=Duration; 

 cout<<″Another Match begins now″<<endl;  

 } 

 Match(Match & M)      //Function 4 

 { 

 Time=M.Duration;  

 cout<<″Like Previous Match″<<endl; 

 } 

 };    

 

  (i) Which category of constructor – Function 4 belongs to and what is 

  the purpose of using it?  

 

  (ii) Write statements that would call the member Function 1 and 

  Function 3. 
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 (c) Define a class Computer in C++ with following description :  

 Private Members: 

 • Processor_speed  

 • Price  

 • Processor_type  

(4) 

 

 

 

 

  Public Members:  

 • A constructor to initialize the data members.  

 • A function cpu_input() to enter value of processor_speed.  

 • A function void setcostANDtype( ) to change the speed of the  

  processor and also find the cost and type depending on the speed:  

 

   

Processor_speed Price Processor_type 

4000 MHz `30,000 C2D 

<4000 &>=2000 `25,000 PIV 

<2000 `20,000 Celeron 

 

 • A function cpu_output () to display values of all the data members.  

 

 (d) Consider the following declarations and answer the question given 

 below:  

 class Goods 

 { 

 int id; 

 protected : 

 char name[20];  

 long qty;  

 void Incr (int n);  

 public : 

 Goods ();  

 ∼Goods();   

(4) 
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  void get();  

 };  

 class Food_products : protected Goods  

 { 

 char exp_dt[10];  

 protected :  

 int id;  

 int qty;  

 public : 

 void getd();  

 void showd(); 

 };  

 class Cosmetics : private Goods  

 { 

 int qty ; 

 char exp_date[10];  

 protected :  

 int id;  

 public : 

 ∼Cosmetics(); 

 Cosmetics(); 

 void show();  

 };  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  (i) Name the all protected members of class Food_products.    

  (ii) Name the member functions accessible through the object of class 

  Food_products.  

 

  (iii) From the following, Identify the member function(s) that cannot be 

  called directly from the object of class Cosmetics: show (), getd(), 

  get().   

 

  (iv) If the class cosmetics inherit the properties of Food_products class 

  also, then name the type of inheritance.  
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 OR  

 (d) Answer the questions (i) to (iv) based on the following:  

 class CUSTOMER  

 { 

 int Cust_no; 

 char Cust_Name [20); 

 protected :  

 void Register();  

 public: CUSTOMER();  

 void Status();  

 };  

 class SALESMAN  

 { 

 int Salesman_no;  

 char Salesman_Name[20);  

 protected :  

 float Salary;  

 public :  

 SALESMAN();  

 void Enter();  

 void Show();  

 };  

 class SHOP : private CUSTOMER, public SALESMAN  

 { 

 char Voucher_No[10); 

 char Sales_Date[8);  

 public : 

 SHOP();   

 

  void Sales_Entry{);  

 void Sales_Detail(); 

 };  
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  (i) Write the names of data members which are accessible from  

  objects belonging to class Customer.   

 

  (ii) Write the names of all the member functions which are accessible 

  from objects belonging to class Salesman.  

 

  (iii) Write the names of all the members which are accessible from the 

  member function of class shop.   

 

  (iv) How many bytes will be required by an object belonging to class 

  SHOP?   

 

3. (a) Write a function in C++ to combine the contents of two equi – sized 

 arrays A and B by adding their corresponding elements as the formula 

 A[i]+B[i]; where value i varies from 0 to N – 1 and transfer the resultant 

 content in the third same sized array C.  

(3) 

 

 

 

 OR  

 (a) Write a function TRANSFER (intA[ ], int B[  ], int Size) in C++ to create 

 the elements of array B[ ] with the help of corresponding elements of 

 array A[ ] i.e. If A[N] is positive number, B[N] should be 1, if A[N] is 

 negative number B[N] should be – 1, and if A[N] is zero B[N] should also 

 be 0.    

 For example: 

 If the content of array A is  

 -98, 56, 0, -23, -34, 54  

 The content of array B should become  

 -1, 1, 0, -1, -1, 1  

 

 (b) An array P[20][30] is stored in the memory along the column with each 

 of the element occupying 4 bytes, find out the Base Address of the array, 

 if an element P[2][20] is stored at the memory location 5000. 

(3) 

 

 

 (c) Write a function in C++ to perform Push operation on a dynamically 

 allocated stack containing real numbers.  

(4) 

 

 (d) Write a function in C++ to find sum of rows from a two dimensional array.  (2) 

 (e) Evaluate the following postfix notation of expression:  

 True, False, AND, True, True, NOT, OR, AND  

(2) 
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4. (a) Observe the program segment given below carefully and fill the blanks 

 marked as statement 1 and statement 2 using seekp() and seekg() 

 functions for performing the required task.  

(1) 

 

 

  #include <fstream.h>  

 class Item  

 { 

 int Ino; char Item [20];  

 public :  

 //Function to search and display the content from a particular record 

 number void Search (int); 

 //Function to modify the content of a particular record number  

 void Modify (int);   

 } ; 

 void Item : : Search (int RecNo)  

 {  

 fstream File;  

 File.open (″STOCK.DAT″, ios : : binary|ios : : in);  

 _____________________    //Statement 1  

 File.read((char*)this, sizeof(Item));  

 cout<<Ino<<″==>″<<Item<<endl;  

 File.close(); 

 } 

 void Item : : Modify (int RecNo) 

 { 

 fstream File; 

 File.open(″STOCK.DAT″, ios : : binary|ios : :in|ios : : out);  

 cout>>Ino; cin.getline(Item, 20);  

 ___________________     //Statement 2 

 File.write((char*)this, sizeof(Item));  

 File.close();  

 } 
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 (b) Write a function in C++ to count the number of lines present in a text file 

 ″STORY.TXT″. 

(2) 

 

 (c) Write a function in C++ to search for a BookNo from a binary file 

 ″BOOK.DAT″, assuming the binary file is containing the objects of the 

 following class.   

 class books  

 { 

 int Bno; 

 char Title [20];  

 public :  

 int RBno(){return Bno;} 

 void Enter(){cin>>Bno;gets(Title);} 

 void Display (){cout<<Bno<<Title<<endl; 

 } 

 } ;  

(3) 

 

 

 

 

 

 

 

 

 

 

 

 

 OR  

 (c) Write a function in C++ to add new objects at the bottom of a binary file 

 ″STUDENT.DAT″, assuming the binary file is containing the objects of 

 the following class. 

 class STUD  

 { 

 int Rno; 

 char Name[20]; 

 public :  

 void Enter() 

 { 

 cin>>Rno; 

 gets(Name); 

 } 

 void Display() 

 { 

 cout<<Rno<<Name<<endl; 

 } 

 } ;  
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 SECTION – B 

(Only for candidates, who opted for Python) 

 

1. (a) Differentiate between break and continue statement with the help of an 

 example.   

(2) 

 

 (b) Identify and write the name of the module to which the following 

 functions belong :   

 i. ceil( )   ii. findall()   

(1) 

 

 

 (c) Observe the following Python code very carefully and rewrite it after 

 removing all syntactical errors with each correction underlined.  

 DEF execmain ( ) : 

  x = input (″Enter a number : ″)  

  if (abs (x) = x) :  

     print ″You entered a positive number″  

  else :  

   x = * - 1  

   print ″ Number made positive : ″x 

  execmain ( )    

(2) 

 

 

 

 

 

 

 

 

 

 (d) Write the output of the following Python code :  

 i = 5  

 j = 7 

 x = 0 

 i = i + (j – i)  

 x = j + i  

 print x, ″: ″, i  

 j = j * * 2 

 x = j + i  

 i = i + 1  

 print i, ″: ″, j  

(2) 
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 (e) Write the output of the following Python program code :  

 Data = [′ D ′, ′ O ′, ′  ′, ′ I ′, ′ t ′, ′  ′, ′@′, ′  ′, ′ 1 ′, ′ 2  ′, ′ 3 ′, ′  ′ ,′ ! ′ ]  

 for i in range (len (Data) – 1) :  

  if (Data [ i ]. isupper( ) ) :  

      Data [ i ] = Data [ i ]. lower ( ) 

  elif (Data [ i ]. isspace ( ) ) :  

        Data [ i ] = Data [ i + 1]  

 print Data    

(3) 

 

 

 

 

 

 

 

 

 (f) Study the following program and select the possible output(s) from the 

 options (i) to (iv) following it. Also, write the maximum and the minimum 

 values that can be assigned to the variable Y.   

 import random  

 X = random.random ( )  

 Y = random.randint (0, 4)  

 Print int (X), ″ : ″, Y + int (X)   

(2) 

 

 

 

 

 

 

 

  (i) 0 : 0  

  (ii) 1 : 6  

  (iii) 2 : 4  

  (iv) 0 : 3  

2. (a) Explain operator overloading with the help of an example.  (2) 

 (b) Observe the following Python code and answer the questions (i) and (ii):  

 Class BOOK :  

  count = 0 

  def _ init_(self) : # Function 1 

   self . Author = ″Not assigned″  

   self . Publisher = ″Not assigned″ 

   self . ISBN = ″Not assigned″  

  def display (self) :  

   print self.Author, self.Publisher, self. ISBN  

  @staticmethod  

  def bookcount ( ) : # Function 2  

   Book. count = BOOK. count + 1  

   return BOOK . count   
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  (i) How is data member ″count″ different from data member ″Author″?  (1) 

  (ii) Fill in the blanks :  

  B=BOOK( )  

  __________________# Write statement to invoke Function2  

  __________________# Write statement to invoke Function3  

(1) 

 OR  

 (b) Answer the questions (i) and (ii) after going through the following class 

 definition :  

 class Toy :  

 tid =0;  

 tcat = ″ ″ 

 def__init__(self) :    // Function 1  

  ……………………………………// Blank 2   

 

  (i) Explain relevance of Function 1.  

  (ii) (a) Fill in the blank2 with a statement to create object of the class 

   TOY.  

  (b) Write statement to check whether tprice is an attribute of  

   class TOY.    

 

 (c) Define a class COURSE in Python with the following description :  

 Instance Attributes :  

  REGNO     Integer  

  CNAME     String 

  Score     Float  

  Fees     Float  

(4) 

 

 

 

 

 

  Methods :  

 • A constructor to assign REGNO as 0, Score and Fees as 0.0 

 • SetCourse() to assign Course and Fees on the basis of the Score 

input as per the following criteria :       
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Score CNAME Fees 

>=9.0-<=10.0 Clinical Psychology 10000.0 

>=8.0-<9.0 Corporate Counselling 8000.0 

>=5.0-<8.0 Guidance and Counselling 6000.0 

Less than 5.0 Not Eligible 0.0 
 
 

 

  • GETDATA() to input REGNO and Score and invoke SetCourse() 

 • DISPLAY () to display all the details.  

 

 

 (d) Answer the questions (i) and (ii) based on the following :  

 class Vehicle (object) :  

  def __init__(self, 1 = 0, w = 0): 

  self.length = 1 

  self.width=w 

  def define (self) : 

  print ″Vehicle with length″, self.length, ″in & width″, self.width, ″in″ 

 class Car (Vehicles) :   

  def __ init__(self, clr, seats, l, w) :  

   Vehicle.__init__(self, l, w)    # Line 3 

   self. colour = clr  

   self.seatingCapacity=seats  

  def chageGears(self, gr) :  

   print ″changed to gear″, gr 

  def turn (self, direction) :  

   print ″turned to″, direction, “direction” 

 class RacingCar (Car) :  

  def __init__(self, clr, seats, l, w, tr, spd) :   # Line 1 

   Car. __init __(self, clr, seats, l, w)   # Line 2  

   self. turnRadius=tr  

   self.speed = spd  

  def start (self) :  

   self. define ( ) 

   self. changeGears (2)  

   print ″Racing car starts – ready to vroom! ″ 

(4) 
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  (i) Explain the relationship between Line 1, Line 2 and Line 3.  

 (ii) Predict the output that will be produced on the execution of the 

following statements :  

  rcar = RacingCar ( ′Blue′, 2, 206, 78.5, 6, 200) 

  rcar.start ( ) 

  rcar.turn (″left″)  

 

3. (a) Write the definition of a function Reverse (X) in Python, to display the 

 elements in reverse order such that each displayed element is the twice 

 of the original element (element * 2) of the List X in the following manner:  

 Example : 

 If List X contains 7 integers is as follows :    

X[0] X[1] X[2] X[3] X[4] X[5] X[6] 

4 8 7 5 6 2 10 

 

 After executing the function, the array content should be displayed as 

 follows :  

 20  4  12  10  14  16  8 

(2) 

 

 

 

 

 

 

 

 

 

 

 

 

 OR  

 Explain try………except…..else……. with the help of user defined function 

def divide (x, y) which raises an error when the denominator is zero while 

dividing x by y and displays the quotient otherwise.  

 

 (b) Consider the following unsorted list :  

 [22, 54, 12, 90, 55, 78]  

 Write the passes of selection sort for sorting the list in ascending order 

 till the 3rd iteration.   

(3) 
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 (c) Consider the following class Order and do as directed :  

 class ORDER :  

  L = [ ]  

  def __ init__(self) : 

   self.OID = 0 

  def insertorder (self) : 

   self.OID = input (″Enter Order Id″)  

   ________________________  �     Blank 1   

  def delorder (self) :  

        : 

        :   

(4) 

 

 

 

 

 

 

 

 

 

 

  (i) Fill in the blank 1 with a statement to insert OID in the Queue  

  maintained using List L.  

 

  (ii) Complete the definition of delorder() to delete OID from the Queue 

  maintained using List L, the function should return the OID being 

  deleted or – 1 in case the Queue is empty.   

 

 (d) Write a generator function to generate odd numbers between a and b 

 (including b). Note : a and b are received as an argument by the function.  

(3) 

 

 (e) Evaluate the following postfix expression using a stack. Show the 

 contents of stack after execution of each operation :    

 10, 40, 25, -, *, 15, 4, *, +  

(2) 

 

 

4. (a) Nancy intends to position the file pointer to the beginning of a text file. 

 Write Python statement for the same assuming F is the File object.  

(1) 

 

 OR  

 Consider the following code :  

 f = open (″mytry″, ″w+″) 

 f.write(″0123456789abcdef″)  

 f.seek (-3,2)     // Statement 1 

 printf.read(2)    //Statement 2 

 Explain statement 1 and given output of statement 2.  
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 (b) Write a function countmy( ) in Python to read the text file “DATA.TXT” 

 and count the number of times “my” occurs in the file.  

 For example if the file “DATA.TXT” contains :  

 “This is my website. I have displayed my preferences in the CHOICE 

 section.”  

 The countmy( ) function should display the output as :  

 “my occurs 2 times”.  

(2) 

 

 

 

 

 

 

 

 (c) Write a function in Python to search and display details of all those 

 students, whose stream is “HUMANITIES” from pickled file “Student. 

 dat”. Assuming the pickled file is containing the objects of the following 

 class :    

(3) 

  class STUDENT : 

 def  __ init __ (self) :  

  self.RNO = 0 

  self.NAME = ″  ″  

  self.STREAM = ″  ″  

  self.PERCENT = 0.0 

 def ACCEPT (self) :  

  self.RNO = input (″Enter Roll no″)  

  self.NAME = raw _input (″Enter Name″) 

  self.STREAM = raw _input (″Enter Stream″) 

  self.PERCENT = input (″Enter percentage″)  

 def DISPLAY (self) :  

  print self.RNO, self.NAME, self.STREAM, self.PERCENT  

 def RET _STREAM (self) : 

  return (self.STREAM)   
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 SECTION – C 

(For all the candidates) 

 

5. (a) What do you understand by Primary Keys & Candidate Keys? 

 Consider the following tables GAMES and PLAYER and answer (b) and 

 (c) parts of this question :                                                                                                                               

(2) 

 

 

   

Table : GAMES 

GCode Game Name Type Number Prize Money Schedule Date 

101 Carom Board Indoor 2 5000 23-Jan-2004 

102 Badminton Outdoor 2 12000 12-Dec-2003 

103 Table Tennis Indoor 4 8000 14-Feb-2004 

105 Chess Indoor 2 9000 01-Jan-2004 

108 Lawn Tennis Outdoor 4 25000 19-Mar-2004 
 

 

 

  

Table : PLAYER 

Pcode Name Geode 

1 Nabi Ahmad 101 

2 Ravi Sahai 108 

3 Jatin 101 

4 Nazneen 103 

 
 

 

 (b) Write SQL Commands for the following statements :  (4) 

  (i) To display the name of all GAMES with their GCodes.   

  (ii) To display the details of those GAMES which are having Prize  

  Money more than 7000? 

 

  (iii) To display sum of PrizeMoney for each Type of GAMES.   

  (iv) To display all the information of all GAMES those name start with 

  ‘C’.   
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 (c) Give the output of the following SQL queries :  (2) 

  (i) SELECT COUNT(DISTINCT Number) FROM GAMES;   

  (ii) SELECT MAX (ScheduleDate), MIN (ScheduleDate) From  

  GAMES;  

 

  (iii) SELECT Name, GameName FROM GAMES G, PLAYER P  

  WHERE G.Gcode = P.Gcode AND G.PrizeMoney>10000;  

 

  (iv) SELECT DISTINCT Geode FROM PLAYER;   

6. (a) State and verify Distributive Laws by truth table.  (2) 

 (b) Write the equivalent Boolean Expression for the following Logic Circuit 

 

     

(2) 

 

 

 

 
 

 

 (c) Write the POS form of a Boolean function F, which is represented in a 

 truth table as follows :   

U V W F 

0 0 0 1 

0 0 1 0 

0 1 0 1 

0 1 1 0 

1 0 0 1 

1 0 1 0 

1 1 0 1 

1 1 1 1 

 

 

(1) 

 

 

 

 

 

 

 

 

 

 

 

 

P •

•Q
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 (d) Reduce the following Boolean Expression using K – Map :  

 F(A, B, C, D) = Σ (0, 1, 2, 4, 5, 6, 8, 10)  

(3) 

 

 

7. (a) Define the term Bandwidth. Give any one unit of Bandwidth.  (1) 

 (b) When do you prefer XML over HTML and why? (1) 

 (c) How firewalls protect our network?  (1) 

 (d) What is OSS and FLOSS?  (1) 

 (e) What is VoIP?   (1) 

 (f) Differentiate between freeware and shareware.   (1) 

 (g) Ravya Industries has setup its new center at Kaka Nagar for its office 

 and web based activities. The company compound has 4 building as 

 shown in the diagram below :  

 

   

(4) 

 

 

 

 

 

 

 

 
Jazz

BuildingHarsh

Building

Fazz

Building

Raj

Building
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  Center to center distances between various buildings is as follows :  

Harsh Building to Raj Building  50m 

Raj Building to Fazz Building 60m 

Fazz Building to Jazz Building  25m 

Jazz Building to Harsh Building  170m 

Harsh Building to Fazz Building  125m 

Raj Building to Jazz Building   90m  

 

 

 

    

Number of Computers in each of the buildings is follows : 

Harsh Building  15 

Raj Building 150 

Fazz Building 15 

Jazz Building 25 

 

 

 

 

 

 

 

 

  (i) Suggest a cable layout of connections between the buildings.    

  (ii) Suggest the most suitable place (i.e. building) to house the server 

of this organisation with a suitable reason.   
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  (iii) Suggest the placement of the following devices with justification :  

  (i) Internet Connecting Device/Modem  

  (ii) Switch  

 

  (iv) The organisation is planning to link its sale counter situated in 

various parts of the same city, which type of network out of LAN, 

MAN or WAN will be formed? Justify your answer.    

 

 

-------------------------     
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lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k &&&&    
  (i) bl iz’u i= esa ik¡p iz’u [kaM gksrs gSa% v, c, l, n  vkSj  b 

  (ii) [kaM v esa 1 ls 8 iz’u gSa ftuesa ls izR;sd essa ,d vad gSA bu lokyksa ds tokc ,d 
 'kCn ;k ,d okD; esa fn, tk ldrs gSaA 

  (iii) [kaM c esa 9 ls 13 iz’u gSa] ftuesa ls izR;sd esa rhu vad gSaA bu lokyksa ds tokc 50&75 
 'kCnksa esa fn, tk ldrs gSaA 

  (iv) [kaM l esa 14 ls 19 iz’u gksrs gSaA ftuesa ls izR;sd esa pkj vad gSaA bu lokyksa ds tokc 
 yxHkx 120 'kCnksa esa fn, tk ldrs gSaA  

  (v) [kaM n esa 20 ls 22 iz’u gksrs gSaA ftuesa ls izR;sd esa ik¡p vad gSaA bu lokyksa ds tokc 
 yxHkx 150 'kCnksa esa fn, tk ldrs gSaA 

  (vi) [kaM b esa 23 ls 25 iz’u gSaA ftuesa ls izR;sd esa Ng vad gSaA bu lokyksa ds tokc 
 yxHkx 200 'kCnksa esa fn, tk ldrs gSaA 

  (vii) iz’u i= esa dksbZ fodYi ugha gS] gkykafd vkarfjd fodYi iznku fd;k x;k gS] ,d vad ds 
 3 iz’uksa eas] rhu vadksa ds 2 iz’uksa eas] pkj vadksa ds 2 iz’uksa eas] ikap vadksa ds 1 iz’u esa vkSj 6 
 vad ds 1 iz’uA vkidks ,sls iz’uksa esa ls dsoy ,d fodYi djuk gSA  

   

General Instructions - 

  (i) This question paper contains five sections: A,B,C,D and E 

  (ii) Section A contains questions 1 to 8 carrying one marks each. Answer to these 

 question may be given in one word or a sentence.  

  (iii) Section B contains questions 9 to 13 carrying three marks each. Answer to 

 these questions may be given in 50-75 words.  

  (iv) Section C contains questions 14 to 19 carrying four marks each. Answer to 

 these questions may be given in about 120 words.  

  (v) Section D contains questions 20 to 22 carrying five marks each. Answer to 

 these questions may be given in about 150 words. 

  (vi) Section E contains questions 23 to 25 carrying six marks each. Answer to 

 these questions may be given in about 200 words. 

  (vii) There is no overall choice in the question paper, however an internal choice 

 has been provided in 3 questions of one mark, 2 questions of three marks, 2 

 questions of four marks, 1 question of five marks and 1 question of six marks. 

 You have to attempt only one of the choices in such questions.  
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 [k.M[k.M[k.M[k.M    & v& v& v& v    
SECTION - A 

 

1. izca/ku vius vf}rh; oS;fDrÑr rjhds ls izca/ku ds fofHkUu fl)karkas dks ykxw djrk gSA 

izca/ku dh izÑfr dk ;g igyw D;k n’kkZrk gSA 

    

¼1½¼1½¼1½¼1½    

 Management applies the various theories of management in his unique 

personalised way. What aspect of nature of management does this statement 

indicate? 

    

2. vkSipkfjd laxBu esa ftEesnkjh r; djuk vklku D;ksa gS\ ¼1½¼1½¼1½¼1½    

 Why is it easy to fix responsibility in formal organisation?     

 vFkokvFkokvFkokvFkok@@@@OR     

 vukSipkfjd laxBu dSls mRiUu gksrk gS\     

 How does informal organisation originates?     

3. ml ;kstuk dk izdkj crkb, tks lalk/ku vkoaVu vkSj izkFkfedrkvksa dh :ijs[kk rS;kj djus 

okys 'kh"kZ izca/ku }kjk rS;kj dh xbZ lkekU; ;kstuk gS\ 

    

¼1½¼1½¼1½¼1½    

 Name the type of plan which is a general plan prepared by top management 

outlining resource allocation and priorities? 
    

 vFkokvFkokvFkokvFkok@@@@OR     

 izca/ku ds foLrkj dks ifjHkkf"kr djsaA     

 Define the term ‘span of management’.     

4. lehj ,d laxBu esa mRiknu izcU/kd ds :Ik esa dke dj jgk gSA muds v/khuLFk vgen us 

muds lkFk mRiknu dh ,d fof/k ij ppkZ dh ftlls mRiknu dh ykxr de gks tk,xh 

ysfdu dqN ?kjsyw leL;k lehj ds efLr"d esa O;kIr gksus ds dkj.k og lans’k dks le>us 

dh fLFkfr esa ugha gSA blls vgen fujk’k gks x;kA lapkj ck/kk vkSj bldh Js.kh dh igpku 

djsaA 

    

    

    

    

¼1½¼1½¼1½¼1½    

 Sameer is working as a production manager in an organisation. His 

subordinate Ahmad discussed with him a method of production which will 

reduce the cost of production. But due to some domestic problem and 

Sameer’s mind being preoccupied he is not in a position to understand the 

message. Ahmed got disappointed by this. Identify the communication barrier 

and its category. 
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 vFkokvFkokvFkokvFkok@@@@OR     

 gf"kZr QS’ku oYMZ fy- ds lsYl eSustj gSaA og ,d mRÑ"V usrk gSA og ges’kk viuh Vhe 

dks loZJs"B izn’kZu djus ds fy, izsfjr djrs gSaA rhu eghus igys rd og vkSj mudh Vhe 

y{; ls vf/kd Fks ysfdu fiNys rhu eghuksa ls os vius y{;ksa dks iwjk djus esa l{ke ugha 

FksA izn’kZu dk fo’ys"k.k djus ij ;g ns[kk x;k fd lnL; esa ls ,d us dke NksM+ fn;k 

vkSj mlus dqN xzkgdksa dks lLrh njksa ij izfrLi/khZ mRikn dh is’kd’k dhA izca/ku ds dk;Z 

dks uke nsa vkSj bl QaD’ku dh izfØ;k esa pj.k dh igpku djsaA 

    

 Harshit a sales manager of Fashion World Ltd. is an excellent leader. He 

always motivates his team to perform best. Till three months ago he and his 

team were exceeding targets however from last three months they have not 

been able to meet their targets. On analysing the performance it was observed 

that one of the member left the job and he offered competitors product to some 

of the clients at cheaper rates. Name the function of Management and identify 

the steps in the process of this function. 

    

5. ,slk D;ksa dgk tkrk gS ^izsj.kk ,d tfVy izfØ;k gS^- ¼1½¼1½¼1½¼1½    

 Why is it said ‘Motivation is a complex process’.     

6. ^foÙkh; cktkj^ ls D;k vfHkizk; gS\ ¼1½¼1½¼1½¼1½    

 What is meant by ‘financial market’?     

7. ^^dsanz fcUnq^^ ds vk/kkj ij ^foi.ku^ vkSj ^foØ;^ ds chp varj crkb;sA ¼1½¼1½¼1½¼1½    

 Distinguish between ‘Marketing’ and ‘Selling’ on the basis of ‘focus’.       

8. vuq"dk f[kykSus cukus okyh ,d daiuh dh egkizca/kd gSaA og ekdsZfVax dh mRikn vo/kkj.kk 

esa fo’okl djrh gSA mldh ekdsZfVax j.kuhfr D;k gksxh\ 

    

¼1½¼1½¼1½¼1½    

 Anushka is the General Manager of a company producing toys. She believes 

in product concept of marketing. What will be her marketing strategy? 
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 [k.M & c[k.M & c[k.M & c[k.M & c    

SECTION - B 

    

9. ,d izdkj dh ;kstuk ds :i esa ^fof/k^ vkSj ^fu;e^ dh O;k[;k djsaA ¼3½¼3½¼3½¼3½    

 Explain the ‘Method’ and ‘Rule’ as a type of plan.     

 vFkokvFkokvFkokvFkok@@@@OR     

 ,d izdkj dh ;kstuk ds :Ik esa ^uhfr^ vkSj ^izfØ;k^ dh O;k[;k djsaA  

 Explain the ‘Policy’ and ‘Procedure’ as a type of plan.  

10. fuEufyf[kr vk/kkj ij dk;kZRed vkSj izHkkxh; lajpuk ds chp varj& 

¼v½ xBu 

¼c½ izca/kdh; fodkl 

¼l½ ftEesnkjh dk fu/kkZj.k 

    

    

    

¼3½¼3½¼3½¼3½    

 Distinguish between Functional and Divisional Structure on the following 

basis: 

(a) Formation 

(b) Managerial development 

(c) Fixation of responsibility 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 ^vkSipkfjd laxBu^ vkSj ^vukSipkfjd laxBu^ ds vk/kkj ij varj djsa & 

¼v½ mRifÙk 

¼c½ vf/kdkj 

¼l½ lapkj dk laxzg 

 

 Differentiate between ‘formal organisation’ and ‘informal organisation’ on the 

basis of- 

(a) Origin 

(b) Authority 

(c) Flow of communication 
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11. MkbuSfed fyfeVsM ds fcØh foHkkx esa deZpkjh ges’kk le; ij dke ugha dj ik jgs gSaA 

le; de gksus ds dkj.k os lHkh xzkgdksa ls ugha fey ik jgs gSaA foHkkx esa vf/kdka’k izca/kdkas 

dks nks ;k vf/kd {ks=ksa dks laHkkyuk iM+rk gSA dke ds ncko ds dkj.k izca/kdksa esa cgqr 

vlarks"k gSA 

¼v½ igpkusa fd LVkfQax izfØ;k ds fdl pj.k dks Bhd ls ugha fd;k x;k FkkA 

¼c½ fcØh foHkkx ds mfpr dkedkt dks lqfuf’pr djus ds fy, ekuo lalk/ku izca/kd 

 dks D;k dne mBkus pkfg,\  

    

    

    

    

    

    

¼3½¼3½¼3½¼3½    

 The employees in the sales department of Dynamic Ltd. are always working 

against time. They are not able to meet all the customers due to shortage of 

time. Most manager in the department have to handle two or more territories. 

Due to work pressure there is lot of dissatisfaction among the managers.   

    

 (a) Identify which steps of staffing process was not properly carried out. 

(b) What steps HR manager must take to ensure proper functioning of the 

 sales department? 

    

12. lsch ds fdUgha Hkh rhu fodklkRed dk;ksZa dh O;k[;k djsaA ¼3½¼3½¼3½¼3½    

 Explain any three developmental functions of SEBI.     

13. Lkqysseku us ,d eksckby fuekZ.k daiuh 'kq: dh gSA daiuh us vius xzkgdksa dks mnkj ØsfMV 
'krksZa dks nsdj izfrLi/khZ cktkj dh idM+ dks iwjk djus dk QSlyk fd;k gSA mUgksaus ;g 
lqfo/kk nsus ls igys vius xzkgdksa dh lk[k dh tk¡p djus dk fu.kZ; fy;k gSA os ØsfMV 
dkMZ j[kus okys xzkgdksa dks ;g lqfo/kk iznku djsaxsA 
¼v½ crk,a fd D;k lqyseku dh LFkk;h iwath vko’;drk *de* ;k ^vf/kd^ gksxh\ vius mÙkj 
 ds leFkZu esa dkj.k nsaA 
¼c½ crk,a fd D;k lqyseku dh dk;Z’khy iwath dh vko’;drk ^de^ ;k *mPp* gksxhA vius 
 mÙkj ds leFkZu esa dkj.k nsaA 

    
    
    
    
    
    
    

¼3½¼3½¼3½¼3½    
 Suleman has started a mobile manufacturing company. The company has 

decided to meet the competitors market hold by giving liberal credit terms to 

their customers. They have decided to check the creditworthiness of their 

customers before giving them this facility. They will provide this facility to 

customers having credit card. 

(a) State whether the fixed capital requirement of Suleman will be ‘less’ or 

 ‘more’. Give reason in support of your answer. 

(b) State whether the working capital requirement of Suleman will be ‘less’ 

 or ‘high’. Give reason in support of your answer. 
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 [k.M & l[k.M & l[k.M & l[k.M & l    

SECTION - C    

    

14. Lkjdkj ds uhfrxr cnykoksa ds dkj.k Hkkjrh; dkWiksZjsV {ks= dbZ pqukSfr;ksa dk lkeuk dj 

jgk gSA ,slh pkj pqukSfr;ksa ds ckjs esa crk,aA 

    

¼4½¼4½¼4½¼4½    

 The Indian corporate sector has come face to face with several challenges 

due to government policy changes.’’ Explain any four such challenges. 

    

 vFkokvFkokvFkokvFkok@@@@OR        

 ^^gj m|e ds izca/ku dks O;kolkf;d okrkoj.k ds fofHkUu vk;keksa ls voxr gksus ls ykHkkfUor 

fd;k tk ldrk gS^^ bl rjg ds pkj vk;keksa ds ckjs esa crk,aA 

    

 “Management of every enterprise can be benefitted from being aware of 

different dimensions of business environment.” Explain any four such 

dimensions. 

    

15. lkekftd vkSj euksoSKkfud vko’;drkvksa dks iwjk djus ds fy, fdl izdkj ds izksRlkgu 

dh vko’;drk gS\ fdlh Hkh izdkj ds ,sls izksRlkgu dks Li"V djsaA 

    

¼4½¼4½¼4½¼4½    

 To satisfy the Social and Psychological needs which type of incentives are 

needed? Explain any four types of such incentives. 

    

16. ^^x.ks’k LVhy fyfeVsM^^ Hkkjrh; cktkj ds fy, ,d cM+h vkSj ØsfMV ;ksX; daiuh gS tks 

LVhy dk fuekZ.k djrh gSA vc ;g ,f’k;u ekdsZV dks iwjk djuk pkgrk gS vkSj ubZ gkbZ 

Vsd e’khuksa esa fuos’k djus dk QSlyk djrk gS pwafd fuos’k cM+k gS] blds fy, yach vof/k 

ds foÙk dh vko’;drk gksrh gSA ;g bfDoVh 'ks;j tkjh djds QaM tqVkus dk QSlyk djrk 

gSA bfDoVh 'ks;jksa ds eqn~ns esa cM+h ek=k esa ykxr 'kkfey gSA ¶yksVs’ku dkWLV ds [kpZ dks 

iwjk djus ds fy, daiuh euh ekdsZV dks VSi djus dk QSlyk djrh gSA 

¼v½ euh ekdsZV baLVªwesaV dk uke vkSj O;k[;k djsa tks daiuh mijksDr mís’; ds fy, 

 mi;ksx dj ldrh gSA 

¼c½ og vof/k D;k gS ftlds fy, daiuh bl midj.k ds ek/;e ls /ku izkIr dj 

 ldrh gSA 

¼l½ fdlh vU; mís’; ds fy,] ftlds fy, bl midj.k dk mi;ksx fd;k tk ldrk 

 gSA 

    

    

    

    

    

    

    

    

    

    

    

¼4½¼4½¼4½¼4½    
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 “Ganesh Steel Ltd.” is a large and credit worthy company manufacturing steel 

for the Indian market. It now wants to cater to the Asian Market and decides 

to invest in new hi-tech machines. Since the investment is large, it requires 

long term finance. It decides to raise funds by issuing equity shares. The issue 

of equity shares involves huge floatation cost. To meet the expenses of 

floatation cost the company decides to tap the money market. 

(a) Name and explain the money market instrument the company can use 

 for the above purpose. 

(b) What is the duration for which the company can get funds through this 

 instruments? 

(c) State any other purpose for which this instrument can be used. 

    

17. y{; us iSDM twl dh nks yhVj cksry [kjhnhA twl ihus ds ckn mldh iRuh dks mYVh gksus 

yxhA ckn esa y{; us ns[kk fd cksry esa rhu dhM+s FksA mlus bldh f’kdk;r fjVsyj ls 

dhA [kqnjk foØsrk us tokc fn;k fd mls fuekZrk ls laidZ djuk pkfg,A daiuh esa dbZ 

f’kdk;rsa djus ds ckotwn mUgsa dksbZ izfrfØ;k ugha feyhA 

¼v½ y{; ds nks vf/kdkjksa dh igpku djsa ftudk mYya?ku fd;k x;k gSA 

¼c½ mls mi;qDr izkf/kdkjh dk lq>ko nsa tgk¡ og f’kdk;r ntZ dj ldsA 

¼l½ dksbZ Hkh pkj mipkj crk,a tks fd iSd fd, x, jl ds fuekZrk ds f[kykQ gSaA 

    

    

    

    

    

    

    
    

¼4½¼4½¼4½¼4½    

 Lakshya purchased a two litre bottle of packed juice. His wife started vomiting 

after drinking the juice. Lakshya later saw that there were three insects in the 

bottle. He complained about it to the retailer. The retailer replied that he should 

contact the manufacturer. Despite making many complaints in the company 

he did not get any response. 

(a) Identify the two rights of Lakshya which have been violated. 

(b) Suggest him the appropriate authority where he could file complaint. 

(c) State any four remedies which Lakshya has against the manufacturer of 

 the packed juice. 
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 vFkokvFkokvFkokvFkok@@@@OR        

 jktw] euh"k vkSj izeksn 'kkWfiax ekWy x,A jktw iRuh ds fy, lksus dh vaxwBh [kjhnuk pkgrk 

FkkA mlus tkSgjh ls dgk fd mls dsoy gkWy ekdZ vkHkw"k.k fn[kk, tk,¡A euh"k vius HkkbZ 

ds fy, ,d u;k LekVZ Qksu [kjhnuk pkgrk FkkA izeksn us euh"k dks vius nks"kiw.kZ LekVZ 

Qksu ds izfrLFkkiu dh ekax djus dh lykg nh] ftldh ,d lky dh okjaVh ,d u;k 

[kjhnus ds ctk; daiuh ls NksM+ nh tkrh gSA 

iafDr;ksa dks mn~/kr̀ djds mijksDr iSjk esa fufnZ"V nks miHkksDrk vf/kdkjksa dks igpkusa vkSj 

le>k,aA 

    

 Raju, Manish and Pramod went to shopping mall. Raju wanted to buy a gold 

ring for wife. He asked the jeweller to show him only hallmarked jewellery. 

Manish wanted to buy a new smart phone for his brother. Pramod advised 

Manish to demand the replacement of his defective smart phone whose one 

year warranty is left from the company instead of buying a new one. 

Identify and explain the two consumer rights referred to in the above para by 

quoting the lines. 
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18. iwath lajpuk dh ilan dks izHkkfor djus okys dkjdksa ds :Ik esa fuEufyf[kr dh O;k[;k 

djsa& 

(i) C;kt dojst vuqikr 

(ii) bfDoVh dh ykxr 

(iii) fuos’k ij fjVuZ 

(iv) ¶yksVs’ku ykxr 

    

    

    

    

    

¼4½¼4½¼4½¼4½ 

 Explain the following as factors affecting the choice of capital structure- 

(i) Interest Coverage ratio 

(ii) Cost of Equity 

(iii)  Return on Investment 

(iv) Floatation cost 

    

19. mnkgj.k ds lkFk ^VªsfMax vkWu bfDoVh^ dh vo/kkj.kk dks le>kb,A ¼4½¼4½¼4½¼4½    

 Explain the concept of ‘Trading on Equity’ with an example.     

 [k.M & n[k.M & n[k.M & n[k.M & n    

SECTION - D    

    

20. ^^leUo; ,d lkekU; mís’; dh [kkst esa dkjZokbZ dh ,drk iznku djus ds fy, lewg ds 

iz;klksa dh Øec) O;oLFkk gSA^^ mijksDr dFku ds izdk’k esa] leUo; dh izÑfr dh O;k[;k 

djsaA    

    

    

¼5½¼5½¼5½¼5½    

 “Coordination is the orderly arrangement of group efforts to provide unity of 

action in the pursuit of a common purpose” In the light of the above statement, 

explain the nature of coordination. 

    

 vFkokvFkokvFkokvFkok@@@@OR     

 ^^izca/ku fcuk fdlh iwoZfu/kkZfjr vuqØe ds lkFk fujarj varj lacaf/kr dk;ksZa dh 

J`[kayk gS^^A le>kb,A  

    

 “Management is series of continuous inter-related functions with no 

predetermined sequence.” Explain. 
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21. ^^xsV osy lwu QkekZL;qfVdy fyA^^ vf/ko`Dd] dSalj ds ,d izdkj ds fy, nok fodflr 

djus esa vxz.kh FkkA lQy ijh{k.k ds ckn] daiuh us mRikn dks cktkj esa ykWUp fd;kA nok 

ds mRiknu dh dqy ykxr `100 izfr xksyh Fkh ysfdu izfrLi/kkZ ds vHkko esa] daiuh us 

Hkkjh equkQk dekus ds fy, 1000 `izfr VScysV dh dher olwyus dk QSlyk fd;k vkSj 

tYn ls tYn vuqla/kku vkSj fodkl dh ykxr dks doj fd;kA ejht bl thou j{kd nok 

ds fy, dksbZ Hkh dher pqdkus dks rS;kj Fks gkykafd lekt ds detksj oxZ ls lacaf/kr ejhtksa 

dks nok [kjhnuk eqf’dy gks x;kA f’kdk;r izkIr djus ij ljdkjh nok fu;a=.k ,tsalh us 

ik;k fd ^^xsV osy lwu QkekZL;qfVdy fy^^ cgqr vf/kd dher olwy jgk gSA ljdkj us izfr 

VSCkysV dh Åijh dher lhek 130 `r; dhA 

mijksDr iSjkxzkQ dbZ dkjdksa dk o.kZu djrk gS tks mRikn dh dher ds fu/kkZj.k dks izHkkfor 

djrs gSaA bu dkjdksa dks igpkusa vkSj le>k,aA 

    

    

    

    

    

    

    

    

    

    

    

    

¼5½¼5½¼5½¼5½ 

 “Get well soon Pharmaceutical Ltd.” was pioneer in developing medicine for 

adrenal, a type of cancer. After successful trial, the company launched the 

product in the market. The total cost of producing the medicine was Rs.100 

per tablet. But in the absence of competition, the company decided to charge 

price of Rs.1000 per tablet to earn huge profits and cover the cost of research 

and development at the earliest. The patient were willing to pay any price for 

this life saving drug. However patients belonging to weaker section of society 

found it difficult to buy the medicine. On receiving complain the government 

drug control agency found that “Get well soon Pharmaceutical Ltd.” is 

charging very high price. The government fixed the upper price limit of Rs. 

130 per tablet. 

The above paragraph describes a number of factors that affect the fixation of 

the price of the product. Identify and explain these factors. 
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22. ,-ch-lh fy- ,d bysDVªkfuDl lkeku cukus okyh daiuh us izfrdwy dkjksckjh ekgkSy ds 

dkj.k paMhx<+ esa vius dLVej ds;j lfoZl lsy dks can djus dk QSlyk fd;k gkyk¡fd 

;g xq:xzke dsanz esa viuh lsok dk foLrkj djuk pkgrk gSA xq:xzke dsanz esa daiuh dks 200 

vfrfjDr izf’kf{kr deZpkfj;ksa dh vko’;drk FkhA daiuh ds 'kh"kZ izca/ku us ubZ ljdkj }kjk 

iznku dh xbZ fLFkjrk] ljdkj esa uofuokZfpr izfrfuf/k;ksa ds ldkjkRed joS;s] MkWyj ds 

etcwr gksus] vxys foÙkh; o"kZ esa dj dh njksa esa dksbZ Hkkjh cnyko vkfn ds vk/kkj ij viuk 

fu.kZ; ugha fy;kA 'kh"kZ izca/ku us igpku dh fd os paMhx<+ ls xq:Xkzke esa deZpkfj;ksa dks 

LFkkukarfjr dj ldrs gSa] fo’ofo|ky;ksa ls lh/ks u, mEehnokj dks fu;qDr dj ldrs gSa ;k 

ekuo lalk/ku ,tsalh ls laidZ dj ldrs gSaA 

¼v½ 'kh"kZ izca/ku }kjk izca/ku dk dkSu lk dk;Z fd;k x;k Fkk\ 

¼c½ mijksDr ekeys dh iafDr;ksa dks mn~/k`r djds igys ls gh iznf’kZr fd, x, QaD’ku ds 

 pj.kksa dks igpkusaA 

¼l½ 'kh"kZ izca/ku }kjk mBk, tkus okys vU; ,d dne dk ikyu djsaA 

    

    

    

    

    

    

    

    

    

    

    

    

¼5½¼5½¼5½¼5½    

 ABC Ltd. an electronics goods manufacturing company decided to close down 

its customer care service cell in Chandigarh because of adverse business 

environment. However it also want to expand its service at Gurugramcenter. 

The company needed 200 additional trained employees at Gurugramcenter. 

The top management of the company based its decision on stability provided 

by new government, positive attitude of newly elected representatives in 

government, strengthening of dollar, no drastic change in tax rates in next 

financial year etc. The top management identified that they could shift 

employees from Chandigarh to Gurugram, hire new candidate directly from 

universities or contact a human resource agency. 

(a) Which function of management was performed by top management? 

(b) Identify the steps of the function which have been already performed by 

 quoting the lines from the above case. 

(c) State other one step followed by the above to be taken by the top 

 management. 
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 [k.M & b[k.M & b[k.M & b[k.M & b    

SECTION - E 

    

23. Lakfpr] LohMu ls viuk m|ferk ikB~;Øe iwjk djus ds ckn Hkkjr ykSV vk, vkSj ubZ fnYyh 
ds ,d izfl) ekWy esa ,d dkWQh 'kkWi *vjksekdkWfQdSu* 'kq: dhA dkWQh f’ki dh [kkfl;r 
dkWQh dh [kkl lqxa/k vkSj pquus ds fy, dbZ rjg ds ¶ysoj FksA fdlh rjg] O;kikj u rks 
ykHknk;d Fkk vkSj u gh yksdfiz; FkkA lafpr bldk dkj.k dk irk yxkus ds fy, mRlqd 
FkkA mUgksaus la/;k dks ftlls ,d izfrf"Br dkWyst ls ,e-ch-, fd;k] izca/kd ds :Ik esa mlh 
ds dkj.kksa dk irk yxkus ds fy, la/;k us xzkgdksa ls izfrfØ;k yh vkSj irk pyk fd gkykafd 
os dkWQh dh fo’ks"k vuwBh lqxa/k ls ilan djrh Fkha] ysfdu vkns’k dh izfØ;k ds fy, yacs 
le; ls bartkj fd, tkus ls [kq’k ugha FksA mlus fo’ys"k.k fd;k vkSj irk pyk fd chp 
esa dbZ vuko’;d #dkoVsa Fkh ftUgsa lekIr fd;k tk ldrk gSA vkns’k dks lalkf/kr djus 
ds fy, mlus ,d ekud le; fu/kkZfjr fd;kA mlus ;g Hkh eglwl fd;k fd dqN Lokn 
Fks ftudh ekax i;kZIr ugha FkhA blfy,] mlus bl rjg ds ¶ysoj dh fcØh dks jksdus dk 
QSlyk fd;kA ,d NksVh vof/k ds ifj.kke Lo:Ik la/;k xzkgdksa dks vkdf"kZr djus esa l{ke 
FkhA 
leL;k ds lek/kku ds fy, la/;k }kjk mi;ksx fd, x, oSKkfud izca/ku dh fdlh Hkh nks 
rduhdksa dks igpkusa vkSj le>k,aA 

    
    
    
    
    
    
    
    
    
    
    
    
    
    

¼6½¼6½¼6½¼6½    
 Sanchit, after completing his entrepreneurship course from Sweden returned 

to India and started coffee shop ‘Aroma Coffee Can’ in a famous mall in New 

Delhi. The speciality of the coffee shop was the special aroma of coffee and 

wide variety of flavours to choose from. Somehow, the business was neither 

profitable nor popular. Sanchit was keen to find out the reason. He appointed 

Sandhya, an MBA from a reputed college, as a Manager to find out the causes 

for the same. Sandhya took feedback from the clients and found out that 

though they loved the special unique aroma of coffee but were not happy with 

the long waiting time being taken to process the order. She analysed and 

found out that there were many unnecessary obstructions in between which 

could be eliminated. She fixed a standard time for processing the order. She 

also realised that there were some flavours whose demand was not 

enough.So, she also decided to stop the sale of such flavour. As a result with 

in a short period Sandhya was able to attract the customers.  

Identify and explain any two techniques of scientific management used by 

Sandhya to solve the problem. 
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24. lehj xqIrk us 15 deZpkfj;ksa ds lkFk Hkkjrh; xzkeh.k cktkj ds fy, fdQk;rh eksckby Qksu 

cukus ds fy, ,d nwjlapkj daiuh] *Mksusjk fyfeVsM* 'kq: dhA daiuh us vius 'kq#vkrh o"kkZas 

esa cgqr vPNk fd;k pwafd mRikn vPNk Fkk vkSj vPNh rjg ls foi.ku fd;k x;k Fkk] 

blfy, mRiknksa dh ekax c<+ xbZA mRiknu c<+kus ds fy,] daiuh us vfrfjDr deZpkfj;ksa dh 

HkrhZ djus dk QSlyk fd;kA lehj xqIrk] tks igys daiuh ds fy, lHkh QSlys ys jgs Fks] dks 

O;ofLrr :i ls vf/kdkjksa dk forj.k djuk FkkA mudk ekuuk Fkk fd v/khuLFk l{ke] l{ke 

vkSj lk/ku laiUu gS vkSj vius fu.kZ;ksa ds izHkkoh dk;kZUo;u ds fy, ftEesnkjh xzg.k dj 

ldrs gSaA bu lc otgksa ls daiuh u dsoy vius mRiknu dks c<+kus esa l{ke Fkh] cfYd 

mlus vius mRikn jsat dk Hkh foLrkj fd;kA 

¼1½ lehj xqIrk }kjk mi;ksx dh xbZ vo/kkj.kk dks igpkus ftlds ek/;e ls og viuh 

 daiuh dks vkSj vf/kd Åapkb;ksa ij ys tkus esa l{ke FkkA 

¼2½ bl vo/kkj.kk ds egRo ds fdlh Hkh pkj fcanqvksa dks Hkh le>k,aA 

    

    

    

    

    

    

    

    

    

    

    

    

¼6½¼6½¼6½¼6½ 

 Samir Gupta started a telecommunication company, ‘Donira Ltd.’ to 

manufacture economical mobile phones for the Indian rural market with 15 

employees. The company did very well in its initial years. As the product was 

good and marketed well, the demand of the products went up. To increase 

production, the company decided to recruit additional employees. Samir 

Gupta who was earlier taking all the decisions for the company, had to 

selectively disperse the authority. He believed that subordinates are 

competent, capable and resourceful and can assume responsibility for the 

effective implementation of their decisions. This paid off and the company was 

not only able to increase its production but also expanded its product range. 

(1) Identify the concept used by Samir Gupta through which he was able to 

 steer his company to greater heights. 

(2) Also explain any four points of importance of this concept. 

    

 vFkokvFkokvFkokvFkok@@@@OR     
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 veu pM~<k us O;olk;ksa dks lkbcj lqj{kk lek/kku iznku djus ds fy, *cqYl vkbZ* daiuh 
'kq: dhA bldk mís’; lkbcj geyksa dks jksduk] irk yxkuk vkSj izfrfØ;k nsuk vkSj 
egRoiw.kZ MsVk dh lqj{kk djuk gSA og ,d esgurh lkW¶Vos;j bathfu;j vkSj lkbcj lqj{kk 
esa ,d fo’ks"kK FkkA mudh izfr"Bk lhek ls vf/kd c<+h D;ksafd og u dsoy bZekunkj O;fDr 
Fks] cfYd mUgksaus viuk dke iwjh bZekunkjh vkSj bZekunkjh ls fd;kA dkjksckj fnu & izfrfnu 
c<+us yxkA tc j{kk ea=ky; }kjk ,d cM+h ifj;kstuk dh is’kd’k dh xbZ rks og [kq’k FkkA 
ifj;kstuk ij dke djrs gq,] mUgksaus ik;k fd dke dh ek=k us muds fy, ;g vO;ogkfjd 
cuk fn;k fd os lHkh dke [kqn gh laHkky ysaA mUgksaus Vhe dk foLrkj djus dk QSlyk 
fd;kA daiuh us ,d LFkkuh; bathfu;fjax dkWyst ds lkFk ?kfu"B laca/k cuk, j[kkA dSail 
IyslesaV ds nkSjku] b’kku vkSj oànk dks u, izkstsDV ds fy, dke djus ds fy, fu;qDr fd;k 
x;k FkkA mUgksaus u, deZpkfj;ksa dks l{ke] mRlkgh vkSj Hkjkslsean ik;kA bl izdkj] veu 
pM~<k mís’;ksa ij /;ku dsafær djus esa l{ke Fkk vkSj bZ’kku vkSj o`ank dh enn ls ifj;kstuk 
le; ij iwjh gqbZA bruk gh ugha veu pM~<k vius lapkyu ds {ks= dk foLrkj djus esa Hkh 
l{ke FksA nwljh vksj bZ’kku vkSj o`ank dks Hkh igy djus vkSj O;k;ke djus ds volj feysA 
¼1½ mijksDr ekeys esa veu pM~<k }kjk mi;ksx dh xbZ vo/kkj.kk dks igpkusa vkSj la{ksi 
 esa crk,a ftlls mUgsa mís’;ksa ij /;ku dsafær djus esa enn feyhA 
¼2½ blds vykok] Åij ¼1½ esa igpkus x, vo/kkj.kk ds egRo ds fdlh Hkh pkj fcanqvksa 
 dks crk,aA 

    

 Aman Chadha started ‘Bulls Eye’ a company for providing cyber security 

solutions to businesses. Its objective is to prevent, detect and respond to 

cyber attacks and protect crirical data. He was a hardworking software 

engineer and an expert in cyber security. His reputation grew by leaps and 

bounds as he was not only a person of integrity but also did his work with 

utmost honesty and sincerity. The business started growing day by day. He 

was delighted when he was offered a big project by the Ministry of Defence. 

While working on the project, he found that the volume of work made it 

impractical for him to handle all the work by himself. He decided to expand 

the team. The company maintained a close liaison with a local engineering 

college. During a campus placement, Ishan and Vrinda were appointed to 

work for the new project. He found the new employees capable, enthusiastic 

and trustworthy. Aman Chadha was thus, able to focus on objectives and with 

the help of Ishan and Vrinda, the project was completed on time. Not only this 

Aman Chadha was also able to extend his area of operations. On the other 

hand Ishan and Vrinda also got opportunities to develop and exercise 

initiative. 

(1) Identify and briefly explain the concept used by Aman Chadha in the 

 above case which helped him in focusing on objectives. 

(2) Also, state any four points of importance of the concept identified in (1) 

 above.    

    



[972] C-12                    Page 16 of 16 

25. udqy okjk.klh ds ,d NksVs ls xk¡o ls gSaA vius ifjokj esa ,dek= lk{kj O;fDr gksus ds 

ukrs] og ,d 'kgj esa clus dk QSlyk djrk gSA blfy, og fnYyh ds pkanuh pkSd esa ,d 

feBkbZ dh nqdku [kksyrs gSa D;ksafd muds ikl vlk/kkj.k ikd dkS’ky gSA cgqr tYn mls 

xk¡o esa vius ppsjs Hkkb;ksa ls vuqjks/k feyuk 'kq: gks tkrk gS fd og mUgsa vius O;olk; esa 

fdlh rjg dh ukSdjh ls tksM+sA bls viuk uSfrd nkf;Ro ekurs gq,] mlus viuh O;fDrxr 

{kerkvksa ij dksbZ fo’ks"k /;ku fn, fcuk vius ikap ppsjs Hkkb;ksa dks vius O;olk; esa layXu 

dj fy;kA blls lkexzh] le;] iz;kl vkSj ÅtkZ dk viO;; gksrk gS] ftlds ifj.kkeLo:i 

de mRikndrk vkSj mRiknksa dh [kjkc xq.koÙkk gksrh gSA  

ifj.kkeLo:i] mlds O;olk; dh ykHkiznrk fxjus yxrh gSA tYn gh] mUgksaus eglwl fd;k 

fd O;olk; dh lQyrk ds fy, ;g vko’;d gS fd lgh le; ij lgh rjg ds yksx 

miyC/k gksaA mijksDr ekeys ds lanHkZ esa &  

¼1½ udqy }kjk vuns[kh fd, x, izca/ku ds dk;Z dks igpkusa vkSj le>k,aA 

¼2½ Hkkx ¼1½ esa igpkus x, izca/ku ds dk;Z dk la{ksi esa o.kZu djsaA 

    

    

    

    

    

    

    

    

    

    

    

    

¼6½¼6½¼6½¼6½ 

 Nakul belongs to a small village in Varanasi. Being the only literate person in 

his immediate family, he decides to settle in a city. So he opens a sweets shop 

in Chandni Chowk, Delhi as he possesses extraordinary culinary skills. Very 

soon he starts getting requests from his cousins in the village to engage them 

in some kind of job in his business. Considering it to be his moral obligation, 

he engages five of his cousins in his business without paying any specific 

attention to their individual capabilities. This leads to wastage of mererials, 

time, effort and energy, resulting in lower productivity and poor quality of 

products. As a result, the profitability of his business starts falling. Soon, he 

realised that for the success of the business it is essential that right kind of 

people must be available in right number at the right time. 

In the context of the above case - 

(1) Identify and explain the function of management that has been 

 overlooked by Nakul. 

(2) Describe briefly the importance of the function of managment as 

 identified in part (1). 
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